TM11-5805-223-34P

TECHNICAL MANUAL

DIRECT SUPPORT AND
GENERAL SUPPORT MAINTENANCE
REPAIR PARTS AMD SPECIAL TOOLS LISTS

(INCLUDING DEPOT MAINTEMANCE
REPAIR PARTS AND SPECIAL TOOLS)

TELEPHONE TERMINAL AN/ TCC-23
(FSN 5805-537-7410)

AND TELEPHONE TERMINAL AN/TCC-3
(FSN 5805-503-2648)

HEADOQUARTERS, DEPARTMENT OF THE ARMY
MARCH 1975




*TM11-5805-223-34P

Technical Manual HEADQUARTERS
DEPARTMENT OF THE ARMY
No. 11-5805-223-34P Wasemcron, DC, 28 March 1975

Direct Support and General Support Maintenance
Repair Parts and Special Tools Lists (Including
Lepot Maintenance Repair Parts and Special Tools)
TELEPHONE TERMINAL AN TCC-23 (FSN 5805-537-7410)

AND

TELEPHONE TERMINAL AN TCC-3 (FSN 5805-503-2648)

Current &8s of December 1974

Paragraph  Page
Section [TJ INTRODUCTION

Scope =1 [}

Generd T2 m

Explanation of colurns T3 ]

Special information [

Location of repar pats . . . . . (15

Abbreviations (Not applicable) . . L, I8 |

Reporting of equipment publication improvements ... =2 A

3

OLIREPAIR PARTS LIST oottt e
ll. SPECIAL TOOLS, TEST AND SUPPORT EQUIPMENT (Not applicable)

[TV INDEX--FEDERAL STOCK NUMBER AND REFERENCE NUMBER CROSS-REFERENCE TO
. . [79)

FIGURE AND) ITEM NUMBER

*This manual supersedes TM 11-5805-223-35P, 31 December 1963, including all changes.




SECTION |

TM11-5805-223-34P

INTRODUCTION

1-1. Scope

This manual lists repair parts and special tools
required for the performance of direct support,
general support, and depot maintenance of the
AN/TCC-23 and AN/TCC-3. The PCCN for the
AN/TW-23 is GCWAAN and GCWAAO for the
AN/TCC-3.

1-2. General
1his repair parts and specia tools lists is divided
into the following sections:

a. Repair Parts List-Section II. A list of
repair parts authorized for the performance of
maintenance at the direct support, general
support, and depot level. This repair parts lists is
arranged in aphabetical order.

b. Special Tools, Test and Support Equip-
ment - Section I1l1. Not applicable.

c. Index-Federal Stock Number and
Reference Number Cross-Reference to Figure and
Item Number-Section V. A list, in ascending
numerical sequence, of all Federal stock numbers
appearing in the listings, followed by a list, in
alphanumeric sequence, of all reference numbers
appearing in the listings. Federal stock number
and reference numbers are cross-referenced to
each illustration figure and item number or
reference designation appearance.

1-3. Explanation of Columns

The following provides an explanation of columns
found in the tabular list.
a. Source. Maintenance, and Recoverability
Codes (SMR).
(1) Source code. Indicates the manner of
acquiring support items for maintenance, repair,
or overhaul of end items. Source codes are-

Code Explanation

PA - Item procured and stocked for an-
ticipated or known usage.

PB— ltem procured and stocked for insurance
purposes because essentiality dictates
that a minimum quantity be available
in the supply systems.

PC - Item procured and stocked and which

otherwise would be coded PA except
that it is deteriorative in nature.
PD Support item, excluding support
equipment, procured for initial issue or
outfitting and stocked only for sub-
sequent or additional initial issues or

Code

PE-

PF-

PG —

KD~

KF-

KB -

M O -

MF-

M H -

MD -

AO-

AF-

AH-

AD-

XA -

Explanation
outfittings. Not subject to automatic
replenishment.

Support equipment procured and
stocked for initia issue or outfitting to
specified maintenance repair activities.

Support equipment which will not be
stocked but which will be centrally
procured on demand.

Item procured and stocked to provide for
sustained support for the life of the
equipment. It is applied to an item
peculiar to the equipment which
because of probable discontinuance or
shutdown of production facilities
would prove uneconomical to
reproduce at a later time.

An item of depot overhaul/repair kit and
not purchased separately. Depot kit
defined as a kit that provides items
required at the time of overhaul or
repair.

An item of a maintenance kit and not
purchased separately. Maintenance kit
defined as a kit that provides an item
that can be replaced at organizational
or direct support or general support
levels of maintenance.

Item included in both a depot
overhaul/repair kit and a maintenance
kit.

Iltem to be manufactured or fabricated at
organizational level.

Item to be manufactured or fabricated at
direct support maintenance level.

Item to be manufactured or fabricated at
general support maintenance level.

Item to be manufactured or fabricated at
depot maintenance level.

Item to be assembled at organizational
level.

Item to be assembled at direct support
maintenance level.

Item to be assembled at general support
maintenance level.

Item to be assembled at depot main-
tenance level

Item is not procured or stocked because
the requirements for the item will



TM11-5805-223-23P

Code Explanation
result in the replacement of the next
higher assembly.

X B - Item is not procured or stocked. If not
available through selvage, requisition.

X C- Installation drawing, diagram in-
struction sheet, field service drawing,
that is identified by manufacturers’
part number.

X D - Support items can be requisitioned with
justification.

NOTE

Cannibalization or salvage may be used

as a source of supply for any items source

coded above except those coded XA and

aircraft support items as restricted by AR

700-42.

(2) Maintenance code. Maintenance codes are
assigned to indicate the levels of maintenance
authorized to USE and REPAIR support items.
The maintenance codes are entered in the third
and fourth positions of the Uniform SMR Code
Format as follows-

(@) Use (third position). The maintenance
code entered in the third position indicates the
lowest maintenance level authorized to remove,
replace, and use the support item. The main-
tenance code entered in the third position in-
dicates one of the following levels of maintenance.
Code Application/Explanation
O - Support item is removed, replaced, used

at the organizational level of main-
tenance.
NOTE

A code “C’ may be used in this position

to denote crew or operator maintenance

performed within organizational main-

tenance.

F - Support item is removed, replaced, used
at the direct support maintenance
level.

H -  Support item is removed, replaced, used
at the general support maintenance.

D - Support items that are removed,

replaced, used at depot only.

(b) Repair (fourth position). The main-
tenance code entered in the fourth position in-
dicates whether the item is to be repaired and
identifies the lowest maintenance level with the
capability to perform complete repair {i.e., all
authorized maintenance functions). When a
maintenance code is not used a dash (-) sign is
entered. For multi-service equipment/systems or
when a code is enterd, this position will contain
one of the following maintenance codes as
assigned by the service(s) that require the code-

2

code Application/Explanation

O - The lowest maintenance level capable of
complete repair of the support item is
the organizational level.

F - The lowest maintenance level capable of
complete repair of the support item is
direct support.

H - The lowest maintenance level capable of
complete repair of the support item is
general support.

D - The lowest maintenance level capable of
complete repair of the support item is
the depot level.

L - Repair restricted to designated
Specialized Repair Activity.

z Non-repairable. No repair is authorized.

B - No repar is authorized. The item may be
reconditioned by adjusting,
lubricating, etc., at the user level. No
parts or special tools are procured for
the maintenance of this item.

(3) Recoverability code. Recoverability codes
are assigned to support items to indicate the
disposition action on unserviceable items. The
recoverability code is entered in the fifth position
of the uniform SMR Code Format as follows—
CO& Explanation

z - Nonrepairable item. When un-
serviceable, condemn and dispose at
the level indicated in the first digit of
the maintenance code.

O - Repairable item. When uneconomically
repairable, Condemn and dispose at
organizational level.

F - Repairable item. When uneconomically
repairable, condemn anddispose at the
direct support level.

H - Repairable item. When uneconomically
repairable, condemn and dispose at the
general support level.

D - Repairable item. Whea beyond lower
level repair capability, return to depet.
Condemnation and disposal not
authorized below depot level.

L - Repairable item. Repair, condemnation,
and disposal not authorized below
depot/Specialized Repair Activity
level.

A - Item requires special handling or con-
demnation procedures because of
specific reasoms (i.e., precious metal
content, high dollar value, critical
material or hazardous material).

b. Federal Stock Number. Indicates the

Federal stock number assigned to the item.




NOTE
For requisitioning purpeses, the Federal
stock number must be converted to the
National stock number by adding ‘-00-"
after the Federal stock classification

(FSC) code (first four digits). For

example, FSN 66256-553-0142 converts to

NSN 8¢25-00-553-0142.

¢. Description. Indicates the Federal item name
and a minimum description required t¢ identify
the item. The last line indicates the reference
number followed by the applicable Federal Supply
Code for Manufacturer (FSCM) in parentheses.
The FSCM is used as an element in item iden-
tification to designate manufacturer or
distributor or Government agency, etc., and is
identified in SB 708-42.

d. Unit of Measure (U/M). Indicates the
standard or basic quantity by which the listed
item is used in performing the actual maintenance
function. This measure is expressed by a two-
character alnhabetical abbreviation; e.g., ea, in,
pr, etc., and is the basis used to indicate quan-
tities and allowances in subsequent columns.
When the unit of measure differs from the unit of
issue, the lowest unit of issue that will satisfy the
required .urits of measure will be requisitioned.

e. Quantity Incorporated in Unit. This column
indicates the quantity of the item used in the
equipment. Subsequent appearances of the same
item in the same assembly are indicated by the
letters “REF".

30-Day DS/GS Maintenance Allowances.
NOTE

Allowances in GS column are for GS

maintenance only.

(1) The repair parts indicated by asterisk
entries in separate alowance columns for DS and
GS represent those, authorized for use at that
category of maintenance to be requisitioned on an
‘‘ag required” basis, until stockage is based on
demand in accordance with AR 710-2.

(2) Allowance quantities are indicated in the
special tool lists section for special tools, TMDE,
and other support equipment.

8. 1-Year Allowances Per 100 Equip-
ments/Contingency Planning Purposes. Column
intentionally left blank.

k. Depot Maintenance Allowance Per 100
Egquipments. This column indicates opposite the
first appearance of each item the total quantity
authorized for depot maintenance of 100
equipments.

i. Ilustration. This column is divided as
follows:

TM11-5805-223-23P

(1) Figure number. Indicates the figure
number of the illustration on which the item is
shown in TM 11-2142,

(2) Item number. Indicates the item number
or reference designation used to reference the item
in the illustration.

1-4. Special Information

a. Usable on code8 are included in column 3.
Uncoded items are applicable to all models.
Identification of the usable on codes used in this
publication are-

Used on
Code AN/TCC-23
ABB AN /TCC-3

b. The following publication8 pertain to the
equipment and its components:

TM 11-5805-223-14 Operator’s, Organiza-
tional, Direct
Support and General
Support Maintenance
Manual: Telephone
Terminal AN/TCC-3
and Telephone Terminal
AN/TCC-23.

TM 11-5805-223-20P Organizational Main-
tenance Repair Part8
and Specia Tool8 Ligts:
Telephone Terminal
AN/TCC-23 (FSN
5805-537-7410) and
Telephone Terminal
AN/TCC-3 (FSN 5805-
503-2648).

1-5. Location of Repair Parts

a. This manual contains one cross-reference
index (sec 1V) to be used to locate a repair part
when either the Federal stock number or reference
number (manufacturer's part number) is known.
The first column in the index is prepared in
numerical or aphanumeric sequence in ascending
order. The reference numbers (manufacturer’'s
part numbers) are listed immediately following
the last listed Federal stock number in the index
of Federal stock numbers.

b. When the Federal stock number or reference
number is known, follow the procedures given in
(1) and (2) below.

(1) Refer to the index of Federal stock
number8 (set 1V) and locate the Federal stock
number or reference number. The FSN and
reference number are cross-referenced to the
applicable figure and item number or reference
designation.



TM11-5805-223-23P

(2) Refer to the repair parts list (sec 1) and
locate the figure number (col 10a) and item
number or reference designation (col 10b) as noted
in the FSN index.

c. When the figure and item number or
reference designation are known, scrutinize
columns 10a and |0b of the repair parts list (set
1) until the item is located.

d. When the FSN, reference number, figure
number, item number and reference designation
are not known, scrutinize column 3 of the repair
parts list (sec I1), which is arranged in
alphabetical order.

1-6. Abbreviations
Not applicable.

1-7. Reporting Of Equipment Publicaton Im-
provements

The reporting of errors, omissions, and recom-
mendations for improving this publication by the
individual user is encouraged. Reports should be
submitted on DA Form 2028 (Recommended
Changes to Publications and Blank Forms) and
forwarded direct to Commander, US Army
Electronics Command, ATTN: AMSEL-MA-
CW, Fort Monmouth, NJ 07703.

(Next printed page is 6)



SECTION I1

m

SMR
CODE

PaO2Z

PADZIZ

PADZZ

PAOZZ

PAF2l.

XDFZZ

PAFZ1l

PAFZZ

PAFZZ

XDF2Z

PAFIZ

PAFZZ

(2)

FEDERAL
STOCK

NUMBER

6145-283-9635

5975-186-3908

935-931-1685

5975-224-5260

5940-244-4426

5905-195-6806

5905-279-3521

5905-104-8345

5905-192-3973

5905-195-6791

TM11-5805-223-34P

@) w/| ® ) m ® | ™ o) !
30-DAY DS MAIMT | 30-DAY GS MAINT ,
DESCRIPTION aty ALLOWANCE ALLOWANCE | 1.YR |DEPOT|ILLUSTRATION
UNIT| INC | (@) | B | () | (o) | () | (o) |ALWPERIMAINT I )T )
OF | IN Elq.mp ‘”{o';“ FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [VEAS| UNIT | 1-20 | 21-50{51-100) 1-20 | 21-50 53-100icnrgey| EQuip| NO. | NO.
CASLE. POWERs ELECTRICAL  W-561 2 CONDsso| FT| 50| | *| o | = s| 17
#14 STRANDED MIL TYPE (2/14) 0835
(AUTHORIZED ALLOWANCES BASED ON A MINIRUM
OF OR A MULTIPLE OF S0 F
COO2HGF (81349) . ABA
CLAWP, ELECTRICAL NJ-REF-DESIG 6-1/2 IN.| EA | «| =] | e = = 3
L6 X 172 IN W X 13715 IN H
AL (55192) ABA
CUNNECTOR, PLUG ELECTRICAL NO-REF-DESEGe«| EA t| =] = = | & =
2 FEM, T-SHAPE CONT
7187 (63315) ABA
CONNECTOR, PLUG ELECTRICAL NO-REF-DES(G..| ZA 1 e e e o 2| = 3 8
2 CONT MALE THIST TYPE
7238 (83315) ABA
ROD» GHOUND MX-148/G NO-REF-DESIG 6 FT..| EA il el x| x| | =] s 3| 30
LG X 2-3/4 IN W X 1-1/4 IN THK O7A SIG
DHG
SCU141580 (80063) ABA
SPLICE CONDUCTOR NO—-REF-DESIG T/16 IN L6| EA il e o] & o] s e 4
X 7/16 IN DIA
64959 {01401} ABA
RESISTORs FIXED, COMPOSITION R210 FOR...| EA of 2] #] e o s = 89| Rz10
FASRICATING ATTENUATION PADS
RC206F1014 181349) ABA
RESISTOR, FIXEDs CONPOSITION R21l FORe..| EA| REF | o] e & & = R211
FASRICATING ATTENUATION PADS
RC20GF1014 {81349) ABA
RESISTOR, FIXED, COMPOSITION R212 FOR...| EA| REF sl ®| #| | & = R212
FASRICATING ATTENUATION PADS
RC206FL0LJ (81349) ABA
RESISTORy FIXEDy COMPOSITION R213 FORe.o| EA} REF * * ® 3 ] ® R213
FASRICATING ATTENUATION PADS
RCZGCGFL0LJ (81349) ABA
RESISTOK, FIXEDy COMPUSITION NO-REF—DESIG| EA 1 o+ =| | =] e s 3
1,200 OHH PORMSPCT 1/2W FOR FABRICATING
ATTENUATION PADS
RC20GFLuzd (81349) ABA
RES ISTORs FIXEDs COMPOSITION R636 L5se..| EA ] ¢ =] =] e & = 3| 1..' Re36
OHMS PORMSPCT 1/2W  FOR FABRICATING
RC2UGFL504 (81349) ABA
RESI>TOR, FIXEDy COMPOSITION R69 FOR...| EA 2l =] e e e o] e 3| 103| Re9
FASRICATING RESISTIVE NETWORKS
RCZOGF560J (81349) ABA
RES1STUKy FIXEDs CUMPOSITION R801 FOR...| EA 1 sl e sl s | = 89| R0l
FASRICATING RESISTIVE NETWORKS
RC20GFL10LJ (B81349) ABA
RESISTUKe FIXEDs COMPOSITION R620 470...| EA 1| =] s =] e s e 3| 101| Re2o
LHMS SPCT 1/2W (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 5) FOR FABRICATING
RESISTIVE NETHORKS
KC2UGF4TLJ 181349} ABA
RESISTGR, FIXEDs COMPOSITION RL42 680e..| EA 1 ¢ x| % = o = 3| 87| R142
CONTINUED




SECTION I
m (2)
SUR FEDERAL
DE STOCK
co NUMBER
PAFZZ 5905-104-8348

PAFZ2

Fa0dzz

PAFIZ

PAFZZ

PAOZZ

PADZZ

PAFZL

XDFZZ

PAOZL

PAGZZ

PAFZZ

PAFIl

pPanzz

5905-195-6453

5995-062-5996

5995-504-7575

5995-295-8178

5995-296-1484

5808-553-1710

5340-205-5150

5935-823-0213

5805-392-5692

5340-355-9839

5805-392-6423

5340-276-7585

TM11-5805-223-34P

It | (5 ) m ® | ® (10)
30.DAY DS MAINT | 30-DAY GS MAINT
EscRIPTION aTy | ALLOWANCE ALLOWANCE 1.YR |DEPQY|!LLUSTRATION
° wiT e | @ | G | @ | @[ & [ @ [MRERNARED @ T e
oF | N

! EQuUIP 100 FIGURE| ITEM
| REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [EAS| UNIT | 1-20 | 21-50151-100) 1-20 | 21-50 | 51-100icnTgey| Equip| NO. | NO.

CUNTINUED
OHMS PORMSPCT 1/2w  €OR FABRICATING
RESISTIVE NETHORKS
RC2UGFoald (81349) ABA
RESISTULRs FIXEDs CGMPOSITION RS6 3.300.| EA 1 | el s o s = 3| 103 Rrse
OWMS PORWSPCT 1/2d FOR
FASRICATINGRESISTIVE NETMORKS
RC20GF3324 (81349) ABA
RESISTGRs FEXED, COMPOSITICN R438 5,600.| EA L el =] e e s = 3] 93| Re38
OHMS, PORMSPCT 1/2¢ FOR
FASRICATINGRESISTIVE NETWORKS
RC20GF5624 (81349) ABA
CABLE ASSEMBLY POWER ELECTRICAL NO-REF—..| EA 1 el | | o = = s| n
DESIG 2 COND CTRANDED #16AWG
SCC62712 (80063) ABA
CABLE ASSEMBLYs SPECIAL PURPOSEsececesescs | EA L o] e & o = = s| 11| wsor
ELECTRICAL wBOL 13 CCND 3FT 2 IN LG
0/A
SCCo2646 (80063) ABA
CABLE ASSEMBLYs SPECIAL PURPCSEsecoseevces| EA 1 ] ] s e« s e 5| 13| weor
ELECTRICAL W90L 13 CGND 3 FT LG O/A
SCC62647 (80063) ABA
CABLE, ASSCMBLY, SPECIAL PURPOSEseeccccccs| EA sl w| & x| ] e s| 16
ELECTRICAL NO-REF-DESIG 21CCNDy LFT 3—
176IN LG OZA
SCO67175 (80063} ABA
CASE, POMER SUPPLY NO-REF-DESIG 20-5/8..| EA i = | | | €| = 2| 10
IN LG X L7-5/16 IN & X 17-3/16 IN H O/A
¥/0 COVER
SCC62844 (80063) ABA
CATCHs LUGGAGE NO-REF-DESIG 2.185 Xeeeeo| EA| 10| ®| | | | | = 3| 10
1.357 INd 0.4795 IN H O/A
$CB62565 (80063) ABA
CLIPs ELECTRICAL NO-REF-DESIG ALLIGATOR.| EA 2, % #| e =] o =
TYPE 2 INLG X 1/2 IN H
124 (76565) a8a
CONNECTOR, PLUGs ELECTRICAL NO-REF-DESiG.| EA il ® e s s s] e 3
2 CGNTD 1-5/32 IN LG X 1-17/32 IN DIA
7057 183315) ABA
COVER, CARRYING CASE NO-REF—DESIG 20—eeo| EA 1| | #| s s s| = 2
9/16 IN LG X 16 5/8 IN W X 2-1/2 IN
THKO/A
SCC62846 (80063) a8BA
RETAINERs CATCH NO-REF-DESIG 1-3/8 IN LG| EA| 10| =| #| «| | | = s/ 10
X 3/6IN W X L1732 IN H O/A
$C662577 (80063) ABA
SPRINGy ASSEMBLY NO-REF-DESIG T IN LG X.| EA 4 x| e o = | = 2
3/4IN % X 9716 IN THK O/A
SCB62552 (80063) ABA
STRAP, WEBBING NO-RE~PES ; 28 L/2IN LG.| EA 2l e x| | 8| s = 2| 10 '
X 1 IN Wy O/A
SCC62849 {50063) ABA I

7




SECTION |1

SMR
CODE

PAFZZ
XDFZZ

XDFZZ

PAFZL

PAFIl
PLFZZ

FAFZ2

PAFZZ

PADZ22

XDoz2

PAF1Z

PAFZZ

(2

FEDERAL
STOCK
NUMBER

5910-666-7023

5910-666-7023

5910-666-7021

5960-272-9182
5960-272-9182
5960-272-9182
5920-199-9498

5920-284-9220

5935-201-9490

5935-201-9490

5935-258-1194

5935-685-9396

6240-155-8706

6210-284-8943

5950-645-4989

TM11-5805-223-34P

CAqR) 8 e (1)
b 70| '30:0AY DS MAINT | 30-DAY GS MAINT | ,
. T oty | ALLOVANCE | ~ ALLOWANCE 1.YR |DEPOT|ILLUSTRATION
DESCRIPTION - ALW PER| MAINT
WNITE INC [ @ | ) | (e | (e | o) | e (AR @ [

: ¥ omit | 120 | 2150 saure ' oo IFicuse| 1reu
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE -20 | 21-50 (51100 1-20 | 21-50 |5)-100|cyyeey| EQUIP| NO. | NO.
POMER SUPPLY GROUP NO-REF-DESIGeeeccccass| EA * 3
2121212222212121 (2222Z) ABA
CAPACITOR, FIXED, PAPER DTELECTRIC (C553..] EA 2] | = P 110| cs53
100,000 UUF PORWIOPCT 206VDC
CPOSALKCL04KL (81349) ABA
CAPACITOR, FIXED, PAPER DIELECTRIC  554..]| EA| REF o o s s s = 110] @554
100,000 UUF PORN10PCT 200VDC
CPO5SALKCLO4KL (81349) ABA
CAPACITORs FIXEDs ECECTROLYTIC C55leceas-| EA 2] s | o] | | e 3| 110{ cs551
125UF 350VDCH
SCC62508 (80063) ABA
CAPACITOR, FIXED, ELECTROLYTIC C552eece«| EA| REF s ol e e | e 3| 110} cs52
125UF 350v0CH
SCC62508 (80063) ABA
CAPACITOR, FIXED, ELECTROLYTIC C555 2...| EA 1 el s s | s = 3] 110] csss
SECT 1600 UF  15VDCH
SCC62509 (80063} ABA
ELECTRON TUBE V55leeeccccencccccccasanees| EA 3] s| | =] s | = 100! 110{ vs51
6Xew (B1349) ABA
ELECTRON TUBE V552ecccescocscorccessnasss]| EA| REF « o % | o = 100 120! vss2
oXed (61349) ABA
ELECTRON TUBE V553ccccceccecescsasacsessns| EA| REF | = s =] 2| = 100 110 vs53
6X4M (813490 ABA
FUSEs CARTRIDGE F552 172 ANP 250Y eeee.| EA A el e s | 8| = so! 110| F552
FO2GR5008 {31349) ABA
FUSE, CARTRIDGE F551 1 AMP 250V ccecace| EA 1 o | & s{ & = so| 1i0| F551
FO2GLRUOB 31349}

FUSEHOLDER XFS55l¢ XF552 EXTRACTOR PCSTess| EA 2] o e & = s e 110

TYPE

HCNHK (71400) A8A

JACKy TIP J55lececescecncescncascacccnses| EA 2l w| x| e| €| = = 1| 110] 4551

SMB289931-3 (80063) AFA

JACKs TiP J552ccececcsacscacsesscensnnnces| EA| REF » * b ® ® = 1 110 J552

SMB289931-3 (80063) ABA

JACK, TIP J553 (AUTHORIZED ALLOWANCES...| EA 1 ] x| s w| s = 1| 110| 4553

BASED UN A TUTAL OF2)

SMB289931-3 (80063) ABA

JACK, TIP U556 WHITE (AUTHCRIZEDeeeoeoo| EA 1] o | s« & s = 1| 119] Js554

ALLOWANCES BASED ON A TOTAL OF 2)

MS16108-1 (B81349) ABA

LAMP, INCANDESCENT I551 6 TC 8V QOeideee]| EA 1 e *| w| | = = so| 111] 1551

AMP (AUTHORIZED ALLOWANCES BASED ON A

TOTAL OF 4)

MS15571-2 (81349} ABA

LENSy INDICATOR LIGHT NO-REF—DESIGe.ceess| EA 1| | e x| =] =l = 111

GREEN

92-112 (72619} ABA

LIGHT, INDICATOR X155Ls 1=3/4 IN L6 Xeeeo| Ed 1 x| e =i | s = s| 111

13/1c Inv DIA (AUTHORIZED ALLOWANCES BASED

ON A TuTAL OF4&)

922210-1 (72619) ABA

REACTUR L5SL 1 HY 2-7/8 IN LG X 2-1/4ea| EA 1 s| x| | | s = 2| 119l ss1
CONT INUED




SECTION 11
(H (2)
FEDERAL
SMR STOCK
CODE NUMBER
PAF2Z | 6130-669-5826
PAFZZ 5905-279-1747
PAFZ2 5905-279-2633
XDF2Z
XDFZZ
PAFZZ | 5905-279-5354
PAF2Z 5905-279-1965
PAFZLZ | 5905-171-1975
PAFZ2Z 5905-279-1933
PAFLZ | 5905-279-1933
paFzz | 5905-279-1933
PAFZZ | 5905-279-1933
PAF22 | 5905-279-1933
PAFZZ | 5905-279-1933
PAFLZ | 5905-253-1231
XD0ZZ

TM11-5805-223-34P

3 w| (® m ® | ® aer |
30.DAY LS MAINT | 30.DAY €S MAINT
ALLOVWANCE ALLOWANCE I-.YR |pEPOT|ILLUSTRATION
DESCRIPTION ary ~TALW PER| MAINT T
uMITl INC | (@ | W | @ [ @ | & | () AT (0 1
OF | IN gm‘p ‘L:o; FIGURE| ITEX
REFERENCE NUMBER & MFR. CODE__ USABLE ON CODE [*EAS] UNIT : 1-20 | 21-50{51-100) 1-20 | 21-50 | 53-100lcnyoey| gquip| NO. | NO.
CONT INUED
IN W X 1-9/16 INH
$CC62822 (30063) asal
RECTIFItR, METALLIC CRSS51 INPUT 23 VAC...| EA 1l %] | & x| s =» 3| i1
SINGLE P OUTPUT 18 YOC, 1.0AMP
SCO63u4l~1 (80063) ) ABA f
RESISTORs FIXEDs COMPOSITION R560 2Teeeo| EA 1l el s = ' & » 3' 111| RS6D
OHMS  PURMSPCT 2@ . I
RC42GF2704 (81349) ABA i
RESISTORe FIXEDy, COMPOSITION R5£2 B82ee.s| EA | s % e] o e = 3, 111} ’sel
GHMS PURMSPCT 24
RC42GFE204 (81349) 484
RESISTORy FIXEDy WIREWOUND RS5583 100eceee| EA 2| s| #| & s = & 111! msss
OHMS, PURNSPLT 8w
R3I06101 (81349) ABA
RESISTORy FIXEDy WIREWOUND R559 100e....| EA, REF s e s| sl s & 111! R5S59
QHMS, PORMSPCT  8M
RM30GLOL (61349) ABa ,
RESISTUR, FIXED, WIREWOUND RSS57 105 OHMS| EA i sl e s sl = = 3| 111! AS57
TOTAL RES PORMSPCT 12N W/FIXED TAPS AT :
5910420030 AND 40 OHMS
SCC62820 (80063) ABA
RESISTOR, FIXEDy COMPOSITION R563 130e..| EA il e » ] | ¥ s 31 111] R543
OHKS PURMSPCT  2W
RC426F131 (81349) A8A
RESISTUK, FIXED, COMPOSITION R564 150ee.| EA 1l e s e s o = 3| 111] rses
loHMS PORMSPCT 2w
'RCL2GF1513 (81349) 4BA
RESISTORs FIXED, COMPOSITION R5S1 220e..| EA 6 » sl s » 8| e 3| 111! rss51
GHMS PGRMSPCT 2W
RC426F22) 4 181349) ABA
RESISTOR, FIXED, CZMPOSITION RS552 220...| EA| REF e e ¢ | | a 3] 113} RSS2
OAHS PORMSPCT 24
RC426F221J (81345} ABA
RESISTOR, FIXEDs COMPOSITION RS53 220...| cA| REF s s e s s w 3| 111 mS53
UHMS PORMSPCT 2
RC426F221J 181349) ABA
RESISTOR, FIXEDs COMPOSITION R556 220...| €A| REF o] o] #| o] s = 3l 111] msse
OHMS PORMSPCT 2w
RC42GF2213 (813491 Aga
RESISTOR, FIXEDs, COMPOSITION RSSS 220...| EA| REF w e ®| = s 3| 111} wmsss
OHMS PURMSPCT 2W
RC426F2214 (31349) ABA
RESISTCR, FIXED, COMPOSITION R556 220...! EA| REF el o] e | e = 3! 111 esse
OHMS PORMSPCT 2u |
RCA2GF2214 (81349) 48A
RESISTOR, FIXEDes COMPOSITION R562 390...] EA 1| ey e s «| s = 3] 1:1{ Rsez
OHMS PGRMSPCT 2w
RC42GF391J (81349) ABA
SHIELD, ELECTRON TUBE NO-REF-DESIG 2~1/6| EA 2| sl e s e e =
IN LG X 55/66 IN DIA O/A (A/A BASEOQGN A
TOTAL OF &)
16613597726 (TL785) ABA

9




SECTION 1|1

e

MR
CODE

PAF12

PAF11

iDFZZ

PAFZ2Z

PAF2Z

PAOZLZ

PADZZ

PAOZZ

PAOZZ

| XDF2Z

PAFZ2Z

(2)

FEDERAL
STOCK
NUMBER

5935-260-0516

5930-655-1514

5950-376-9604

5920-356-2103

5920-356-2103

5920-356-2103

5920-356-2103

5910-860-3813

TM11-5805-223-34P

) W] o) m @ | ® 10)
30.DAY DS MAINT 30-DAY GS MAINT
atyY ALLOWANCE ALLOWANCE 1.YR |DEPOY|ILLUSTRATION
DESCRIPTION ALW PER| MAINT

unitl e [ @ [ | @ | @] o | @ [ATERSEIEE @ e

:FAS N 120 | 21.50 ls2.100 EQUIP ?ooERFIGUlE ITEM
REFERENCE NUMBER & MFR. CODE _ USABLE ON CODE UNIT | 1 1-50|51-100 1-20 | 21-50 |51-100(eqyeey| gquip| NO. | NO.
SUCKETs ELECTRON TUBE XV55L XV553,%V552..| EA 3| | | s s| e = 3| 111
1-3/16 IN Hs X 0.800 IN ¥ X 1-1/8 IN LG
U/A (AUTHORIZED ALLOWANCES BASED ON A
TOTAL OF 20)
15102P0L (81350 ABA
SKITGHy TOGGLE 5551 14125 IN LG X 0.625.| EA il s ®| | = | = s| 111] sss1
IN ¥ X 1.0468 IN H
M$35058-22 (81349) ABA
SHITCHy FOGGLE 5552cecccecccoccccascacases| EA il | o s| s 8] = 110| sssz2
H$35059-23 (81349) ABA
TERMINAL STUD ES5S51 1/8 IN L6 X 174 INeee| EA 4l o] x| s | = = €551
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON 4 TOTAL OF72)
EP5262 (90348) ABA !
TERMINAL STUD E5S6 1/8 [N LG X 174 INeas| EA| REF o o] s | e = €556
FCRUSS HEX FLATS (AUTHORIZED ALLOWANCES
BASEL UN A TOTAL OFT2)
EPS262 (90348) ABA
TERMINAL STUD ET04 1/8 IN LG X /4 INe...! EA| REF %* * & % & & €704
ACRUSS HEX FLATS (AUTHORIZED ALLOMWANCES
BASED ON A TOTAL OF72)
EPS262 (90348} : ABA
TERMINAL STUD ET05 1/8 IN LG X 1/4 INe.eco! EA| REF = ® ] & = ] €705
ACRGSS HEX FLATS (AUTHORIZEU ALLOMANCES
BASED ON A TOTAL OFT2)
EPS262 [9G348) ABA
TRANSFORMER, POWER, STEP-DOWN AND STEP—UP.| EA 1 L d L ® = * = 3 110 | 7551
1921 5-1/74 IN LG X 3-5/8 IN & X 3-7/8 IN
H
$C262833 (50063) ABA
AMPLIFJER PONMER SUPPLY PAN:L ASSY GROUP...| EA i L] £ L4 b L L4
NU~REF-DESIG
2222212222212228 (22222) ABA
ARRESTOR, LIGHTNING E737 11/16 !N LG Xe.| EA o # = o & s = «| 17¢| €737
172 IN DIA Q/A
SCB863039 (80063) ABA
AKRESTOR, LIGHTNING X738 11716 IN LG X..| EA| REF ] =] = s & = 4| 174l x730
172 IN DIA G/A
SCB62u39 (80063} ABA
ARRESTURy LIGHTNING ET763 11/16 1IN LG Xeo] EA| REF = ® = b d * s & LT4| E763
172 IN DIA O/A
SCB63u39 (800&3) ABA
ARRESTORe LIGHTNING E764 11716 IN LG Xeo| EA| REF * * * = = ® & 174 ET64
172 IN DIA O/A
SC863Gs9 (60063) ABA
CAPACITURe FIXEDy MICA DIELECIRIC C882...| EA 1 * * ® = x > 109 C882
294U0 UUF PORMSPCT 500 VOCH
CM30D2424N3 {81349) ABA
CAPACITORe FIXEDy MICA DIELECTRIC CT6leee| EA 1 ® 3 & B ) - 971 C761
4TJ0 UUF PURMSPCT 500 VDCw
CMI5C6T2UN3 (Bl349) ABA
CAPALITORe FTYXED, MICA DIELECTRIC C704c..] EA 1 L d ® | bl L4 L L 3 97} C704

CONTINUED !

10




SECTION 11

[1})

Uk
CODE

XDFZZ

PAF21

PAF2L

PAFZ22

PAFZ1

XDFZ2

XDFZZ

XDFZZ

(2

FEDERAL
STOCK
NUMBER

5910-667-5291

5910-667-5112

5910-061-9048

5910-356-0135

TM11-5805-223-34P

@ LA oar'esuany | s0oaymsuamr | @] (1%

‘ DESCRIPTION ary ALLOVANCE ALLOWANCE 1-YR {DEPOT| ILLUSTRATION
| vt e [ o Lo [ @] @] ® | @ e e @ [ w
1 LOFI‘ ] EQUIP | 100 |[FIGURE{ ITEM
| REFERENCE NUMRER & MFR, CODE  HSABLE ON CODE ["E/% UNIT | 120 | 215051100 1.20 | 21-50 |51-100jcuyeey) gouip| MO- | MO

CONTINUED
6200 UUF Pi RM2PCT 500 VDCH
CH35E6226GN3 {81349) ABA
CAPACLTUKy FiXED, MWICA DIELECTRIC C703ece| EA 1l sl el e e e s 97| cr03
9100 UUF PCRMZPCT 300 vDCH '
CHISEVL26NS (81349) ABA
CAPACLTOR, FIXED, PAPEK DISLECTRIC C74bes| EA i e e e | s = 97| 786
10,000 GUF PGRMZOPCT 10DVDCW |
19P 1030156 156289) ABA !
CAPACITORs FIXEDs MICA DIELECTRIC C702...]| EA i sl s s =] el s 97| cr02
10,000 UUF PGRMZPCT 300 VDCH
CHM35E103 {81349) ABA H
CAPACITORs FIXEDe PAPER DIELECTRIC CTl44ee| EA il s sl o =] s = S| 9| CTes!
22,600 UUF PGRMZ0PCT , 100 VOCW /0.400
INDIA X 13/16 iN LG
181922301 T5 (56289 ABA
CAPACITUKs FIXED, PAPERe DIELECTRIC C742.| EA 2l e & e s = 9| crez
2 TERM LUG 100,009 UUF PORMZOPCT 300
VOCH
L8LP10403TS (56289) ABA
CAPACITORs FIXED, PAPERy DIELECTRIC C743.| EA| REF o ol o e & = 96| CT43
2 TERM LUG 1C0,000 UUF PCRM20PCT 300
vOCH
181P10403T5 (56289} ABA
CAPACITOR, FIXED, PAPER, DIELECTRIC C74l.| EA 1| ol w| & =] | = s| 96| cre1
2 AXIAL WIRE LEAD TERM 100,000 UUF
PORM2UPCT 300 VDCH
1040356 {56289) ABA
CAPACITORs FIXED, PAPER DIELECTRIC C82l..| EA 1 os| sl s s s = s| 109! csa1
270,000 UUF PORMIOPCT 100 VDCHW
6191P2749152 (56289) ABA
CAPACITGRs FIXEDs; PAPER DIELECTRIC CT45..| EA 1 =] = e s = = 96| c745
470,000 UUF PORM20PCT 100 VDCH
181P4740L TS, (56289) ABA
CAPACITURs FIXED, PAPER DIELECTRIC C70l..| EA il e s s s s s 97| czo:
22+000 UUF PORMZ20OPCT, 100 VDCW 7/8 iIN LG
X0.312 IN DIA.
191P22301 52 (56289) ABA
CAPACITCR, FIXED, PAPER DIELECTRIC C726..| EA e e x| e el s s| 98| cr26
4705000 UUF, PORM1OPCT 200 VOCY
191P47492T6 (56289) ABA
CAPACITORe FIXEDy PAPER DIELECTRIC C705..| EA 2 = % 2 E % & 96| C705
6805000 UUF PORMZOPCT 300 VDCHW
181P68403T5 (56289) ABA
CAPACITORy FIXEDy PAPER DIELECTRIC C(706..| EA| REF % E 13 ® » ® % CT06
680+000 VUF PORM20OPCT 300 VOCH
18LP68403 TS (56289) ABA
CAPACITOK, FIXEDs PAPER DIELECTRIC C721..] EA 2 L] % ® ® ] ® 96| C721
820,000 UUF PURKLOPCT 100VDCH
191 P824915516 156289) ABA
CAPACITOR,y FIXEDy PAPER DIELECTRIC (724..| EA} REF ] ] ] ] L ] * 9| C72¢
820,000 UUF PORMIOPCT 100VDCH
191P824915516 (56289) ABA

11




SECTION |

(L))

SMR
CODE

PAFZZ

PAFZZ

PAFZZ

PAFZZ

PAFZ1

PAF22

PAFZZ

PAFZZ

PAFZZ

PAFZZ

(XDFZZ

@

FEDERAL
STOCK
NUMBER

5910-666-8310

5910-666-8303

. 5910-666-8309

5950-399-7576

5935-353-2991

5935-542-9927

5935-258-9963

5935-258-9963

5935-258-9963

5935-258-9963

()]

(4)

(5)

6)
30-DAY DS MAINT

(7)
30-DAY GS MAINT

TM11-5805-223-34P

8)

9

(10)

ALLOWANCE ALLOWANCE 1.YR |DEPOT|ILLUSTRATION
- QTY
DESCRIPYION uniTl e [ @ [ B [ (0 | o) [ ) | (o [ALPER| MAINT g T
OF IN EQUIP |ooER FIGURE| ITEM
REFERENCE NUMBER & MPR. CODE  USABLE ON CODE [EAS UNIT | 1-20 | 21-50151-100| 1-20 | 21-50|51-100|cyyecy| gquip| NO. | NO.
| i
'CAPACITGRy FIXED, PAPER DIELECTRIC C722..| EA! 1| =| | | =»| = = s| 96| cr2z
1 UF PORM20PCT 100 VDCH
NL91P10501T6 '56289) ABA
CAPACITORs FIXEDs PAPER DIELECTRIC C723..| EA 1 =] = s =] = = 5| 98| cr23
* UF PORM1SPCT-SPCT 160 VDCH
248C 190348) ABA
CAPACITOR, FIXED, PAPER DIELECTRIC C725..] EA 1 =] | el | s = s| 98| cr28
L UF, PORMIOPCT 200VDCH
191P10592T6 (56289} ABA
CLIPy ELECTRICAL NO-REF-DESIG 23764 IN v EA 2l sl sl sl sl s =
IX 12/32 iN LG X 25/66 IN W
4593 {71400) ABA
COIL, RADIOFREQUENCY L7461 18 MH AT $30..| EA | e e e el & = 3| 98l L1601
cPs
$CC62501 (80063) ABA
COIL, RADIGFREQUENCY L761 470 MH ceceees| EA A sl e s e | = 97| L7861
MS16223-13 181349) ABA
CONNECTOR, RECEPTACLE, ELECTRICAL P999...| EA i e} sl #l s | s 3 P999
14 RD FEWALE CONT 3-7/16 IN LG X 2-7/16
IN L6 X 2-173 IN W X 1-7/8 IN H O/A
CS1326 (813490 ABA
CGNNECTORs PLUGs ELECTRICAL PB98 14 RD..| EA, 1| e | e e 8| e 3 Pa 98
MALE CONT 3-7/16 IN LG X 2-1/8 IN WK 1-
/8 IN H
Cs1326 (81349) ABA
CONNECTORe RECEPTACLE, ELECTRICAL J701 4| EA 1 e % s e =] = J101
CONTS 1 /4 IN LG X 2 11732 IN DIA
UL22G (81349} ABA
CUNNECTORs RECEPTACLE, ELECTRICAL J80le..| EA of s el o s & = 3 Jso1
21 CONT 2.094 IN LG X 0.812 INW X 13/32
IN H O/A
54A16987 (717850 ABA
CONNECTORs RECEPTACLE, ELECTRICAL J802...] EA| REF I Y Y S 3 J802
21 CUNT 2.094 IN LG X 0.812 INW X 13/32
IN H 0/A
56A16987 (71785) ABA
CONNECTOR, RECEPTACLEy ELECTRICAL J90k...| EA| REF | & = o s e 3 »o1
2L CONT 2.094 IN LG X 0.812 INW X 13732
IN H 0/A
54416987 (71785) . ABA
CUNNECTUR s RECEPTACLE, ELECTRICAL J902...| EA| REF o Y ] S Y 3 3902
21 CLNT 2.09%4 IN LG X 0.812 INW X 13/32
IN H O/A
54416987 (T1785) ABA
CRYSTAL UNIT, RECTIFYING CR741, CR744 1/2| EA 2| = =] x| =] | = 95
'IN LG X 0.250 N DIA {A/A BASED ON A
ITOTAL OF )
INTOA (813441 ABA
CRYSTAL UNIT, RECTIFYING CR74l, CR74%4 1/2| EA| REF o Y ™ Y 95
N LG X Us250 IN DIA (A/A BASED ON A
TOTAL OF 4)
INTUA (61349) ABA

12




SECTION 11

w

SMR
cooe

Pa022

PAOZZ

PAFLZ

PAFIZ

PAFTZ

PAF2Z

PAFZZ

PAFLZ

PAFZL

PADZZ

PADZZ

PAD22

PACZZ

PaD22

(2)

FEDERAL
STOCK
NUMBER

5960-262-1357

5960-262-1357

5805-503-2712

5805-503-2721

5915-356-2171

5915-356-2161

5915-295-7006

5965-537-7733

5805-356-2892

5355-284-5176

5355-667-9003

6240-155-8706

6240-155-8706

6240-155-8706

TM11-5805-223-34P

13

3 @ (8 n (8) ) o0 ]
30-DAY DS MAINT | 30-DAY GS MAINT
oTY ALLOVANCE ALLOWANCE 1.YR {pEpoT|ILLUSTRATION
DESCRIPTION : ALW PER| MAINT
t“"'T WC | (o) | 0 (o) | e | ) | e | To e penl (@) (®)
10 N ’
EQUIP 1060 |FIGURE| ITEM
REPERENCE NUMBER & MPR. CODE  USABLE ON copg [YBAY UNIT | 1-20 | 21.5051-100) 1-20 | 21-50 151100 ey vpgey| gouip| NO. | WO.
ELECTRON TUBE V701 SAUTHORIZEDecocsseces| EA 2 e #| 8| e s = 100 96| vrolL
ALLOBANCES BASED ON A TOTAL OFT)
5654-6AKSH (81349F aBA
ELECTRON TUuBE V741 LAUTHORIZEDocesecocceo| EA| REF [ ® » ® Y s 100 96| V741
ALLOWANCES BASED ON A TOTAL OFT)
565 4~6aKSd (61349) ABA
EQUALIZERe TELEPHONE LINE NO-REF-DESIGese| EA 1 % ® ] L4 % » 3| 108
ITER EQ821 ADJ 300 TO 205000 CPS 3-9/64
IN LG X 2~27232 INW ¥ X 1-T7/16 O O/A
SCC62798 (30063) ABA
EQUALIZER, TELEPHONE LINE EQB822 ADJecoces!| EA LR ) I 3 A | s e 3| 108
BRIUGED-T 300 TG 20,000 CPS 4~11/32 IN
LG X 3-9/64 IN W X 1-7/16 IN D O/A
SCC62797 (30063) ABA
FILTER, SANDPASS FLITL C/0 5 BANDPASS..! EA i =] = s ® s = 3| 106
FILTERS 1000+6000¢11000,15000,19000 CPS
3-13/32 IN LG X 1~7/716 IN W X 2-19/32 IN
L]
$CC62802 (80063} ABA
FILTER, BANDPASS FL761 4,000 CPS OPER.c.| EA il o] e e 8] e = 3| 9
FREG 2-19/37 IN L6 X 2-1/32 IN ¥ X 1-7716
IN D
$CC62803 (30063) ABA
FILTER, LOW~PASS FLT2L, FLT22 3,000 CPS..| EA 2l o & & &) & = 3| 9
CUTOFF FREQ 3-9/6% IN LG X 2-17/32 IN d 1-
i6 H
$CC62832 (80063) ABA
HOLDER, HANDSET XHS80L BLACK TYPE TS—-9-.| EA 1| s | e ¢ & = 2
F
SCC 73062 (80063) ABA
HKOLOER, HANDSET NO-REF-DESIG 3-1/2 IN LG| EA il | =] = « &) =
X 2-7/8 IN W X 2-5/16 IN K O/a
SCB62706 (80063) ABA
HOLDER, PROTECTOR BLOCK NO-REF-DESIG FOR| EA o e = s s ) 3
MTG LIGHTNING ARRESTOR
SCB62930 (80063) ABA
KNDB NO~REF-DESIG 1-15/32 IN LG X 3/4 IN| EA| 1000 | & | = s| = 3
W X 11732 IN THK O/A
MS90120-2801 {81349) ABA
KNOB ASSEWBLY NO-REF-DESIG 1-1/8 IN 0D X| EA o o =l s = e = 3
7/8 IN THK O/A
SCB62904 (80063) ABA
LANP, INCANDESCENT 1801 & TO 8V 0c15...| EA 3 ® * L 4 L4 50 180}
AMP  (AUTHORIZEG ALLOWANCES BASED ON A
TOTAL OF 4}
MS15571-2 (81349) ABA
LAMP, INCANDESCENT [I7¢1 6 TC 8Y O.l5...| EAj REF e £ & % » & 50 1741
AMP  (AUTHORIZED ALLOMANCES BASED ON A .
TOTAL OF &)
HSL5ST1-2 (61369} ABA
LAMP, INCANDESCENT K742 6 TO 8V 0.15...]| EA| REF ® ® * % s % S0 1762
AMP  {AUTHORIZED ALLOHANCES BASED ON A
CONTINUED




SECTION |1

(L))

SMR
CODE

PAFZZ
PAGZZ
PAOZZ
PADZZ
PAFZZ
PAF22
PAFZZ
PAF21
PAF2Z
PAFZL
PAFZ1
PAFZZ
PAFZZ
PAF2Z
PADZZ

PAFZZ
PAFZ2Z

(2)

FEDERAL
STOCK
NUMBER

6250-586-7769

6210-299-3870

6210-299-3928

6210-643-2059

6210-284-0943

6625-538-9421

5310-208-2988

5940-553-2581

5940-553-2581

5940-553-2581

5940-553-2581

5940-553-2581

5940-553-2581

5940-553-2581

6625-376-9798

6130-970-1241

5945-259-1231

) W] & ® It ® | ® o)
30.DAY DS MAINT | 30-DAY GS MAINT
ALLOVANCE ALLOWANCE YR |pepor|iLLUSTRATION
DESCRIPTION ary

uNITE NC | (@ | ) | (e | ) [ () [ (o) [ALRPER MAINT I o) T

OF | N 5.‘;1:).9 AL PER FicuRE| 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [YEAS| UNIT | 1-20 | 21.50 51-100] 1-20 | 21-50 51-100|cypeey| gquip| NO. | NO.

CONTINUED

TOTAL OF &)
HS15571~2 181349} ABA
LAMPHOLDER NO-REF-DESIG 7/16 IN L6 X l-.| EA 1| e s »f 8] e| s s
11716 IN ® X 1~1716 IN H 0/A
167C. (73664) 4BA
LENSy INDICATOR LIGHT NO-REF-DESIGeccecss| EA 1 & ] L & . L 5
AMBER
93-113 (72619) ABA
LENS, INDICATOR LIGHT NO-REF-DESIGeccceca| EA i e o] 8| e & e s
COLGRLESS
92-117 (72619) ABA
LENSe INDICATOR LIGHT NO-REF-DESIG RED «| EA | e s e s| s = s
92-111 (72619) ABA
LIGHTs INDICATOR X1761.X1742,X1801 1-3/4.]| €A 3| = s| e =] o = s
IN LG X 13/16 IN OIA {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 4)
922210-1 (72619) A8A
METER,AUDIO LEVEL MT71 PANEL MTD —20 TO| EA 1l =] e s e & = 2| 116| Wn2
0 TO +3DB
$C062831 (80063) aBa|.
NUT, PLAINe HEXAGONAL NO-REF-DESIG 9/16.| EA 6 & ® ] % [ £ 3 3
INe =24 NEF—28
5CB62931 (80063) A8A
POST, BINDING U-L06/U ETOI 0.7835 IN. LG| EA 7] s el e o e = 1 E701
i0/a
iSCOL72398 (80063) ABA
POSTs BINDING U-106/U ET735 0.7835 IN. LG| EA| REF ¢ o o o & = 1 €735
0/
SCOL72398 (80063) ABA
POST, BINDING U-106/U ET736 0.7835 IN. LG, EA| REF o s & =] | = 1 €736
o/a .
SCAL 72398 (80063) ABA !
POST, BINDING U-106/U E801 0.7835 IN. LG| EA| REF S e Y s 1 €801
o/A
SCOLT72398 (80063) ABA
POST, BINDING U~-106/U €802 0.7835 IN. LG| EA| REF L = ® 2 ® ® 1 E802
a/a
SCIL 72398 (80063) ABA
PUST, BINDING U~-106/U EB803 G0.7835 IN. LG| EA| REF L4 *® ® = ® L ) § €803
o/a
SCULT72398 (80063) ABA
POST, BINUING U-106/U EB804 0.7835 INe LG| EA| REF » ® ® * ® B 1 ES 04
C/A
SCULT2398 (80063) ABA
PRUD TEST NO-REF-DESIG 4—1/2 IN LG Xeee.| EA 1 s| s = =] | = 1
0.325 IN OIA 0/A
A333R (88197) ABA
HECTIFIER ASSEMBLY CR7TL GERMANIUM RECT .| EA 1| ) ] =] 8| = = 2| 1s7
SCC189067 (80063) ABA
RELAYes ARMATURE K741 3—-1/16 IN LG X 1-ee| EA 1 ® ] L4 ] &= = 3 K741
5/8 IN WK 1-7/16 IN Dy /A
RP3TLTGZ (T1482) ABA

14




SECTION

m

SMR
CODE

PAFLL

PAF2Z

XDF2Z

PAFZZ

XDF22

PAFZZ

XDFZZ

XDFZZ

XDFZ2Z

XDFZZ

XDFZZ

PAF2Z

PAF2Z

PAF1Z

PAFZ2Z

(2)

FEDERAL
STOCK
NUMBER

5905-556-3122

5905-556-3122

5905-192-4490

5905-060-7870

5905-636-5856

5905-114-5352

5905-060-5098

5905-111-4736

TM11-5805-223-34P

@ WO 1 s0.0av s mawt | s0.0avesmar | ¥ | 2 o
oty ALLOWANCE ALLOWANCE 1.YR |DEPQT|ILLUSTRATION
DESCRIPTION ALV PER| MAINT

it e [ @ | o [ @] @] ® ] © @ |

oF | In eaue | oo | |FIGURE! 1TEM
[REFERENCE NUMBER & MFR. CODE__USABLE ON CODE 545 UNIT | 1-20 | 21-50/51-100 120 | 21-50 51100 cncey| equip| NO. | NO.
RESISTORs FIXED, FILM R702 6.06 QHMSeees| €a| 2| | #| | e | = 3| 97| r702
PORMLPCT 1/2 W
$CC62507-1 (80063) ABA
RESISTURy FIXEDs, FILM R702 6.06 OHMS,evo| EA| REF | #| #| &/ o & o 3 R702
PURMIPCT 1/2 W
$SCC62507-1 (80063} ABA
RESISTUR, FIXED, FILM R843 26.7 OHMSeeee| EA i o= s | e = = 109| R8s3
PURMIPCT  1/24
RN7QB26R7F (81349) ABA
RESISTOKs FIXEDs FILM R786 28 OHNS eceee| EA i s x| =] e 8] s 105| R786
PORMLPCT L/2 W
RN70B28ROF (81349) ABA
RESISTUR, FIXED, COMPOSITION R7I0 33....| EA 1 e s s & s ¢ 3| 99/ r710
GHMS PURMSPCT 1/2d  (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 5)
RC20GF3304 (81349} ABA
RESISTOKs FIXEDs FILM RT7& 36 OHMS eeeee| EA 2 & x| | | s| = RT74
PORHLPCT 4/2H
SCC62507-182 (80063) AsA
RESISTORs FIXEDs FILM RT75 30 OHMS eeee.| EA| REF | | | | x| = = R775
PORMLPCT 1/24
SCC62507-182 (80063} ABA
RESISTOR, FIXED, WIREWOUND R794 50 OHMS,| EA 1ol s s e s = 3 R794
PORMIPCT  L/4HW
KBS52AESURUF (81349) ABA
RESISTOR, FIXEDy FILM R785 56.2 OHMSsees| EA I Y T 105 R785
PORMIPCT 1/2d (AUTHORIZED ALLOWANCES
BASED GN A TUTAL OF 3)
RN70BS6R2F (81349) A3A
RESISTURs FIXEDs FILM RT27 175 OHMS,eeeee| EA 2l ol x| x| sl s = 91| R727
PURMIPCT 1/2W
RN7OBTSRCF (81349) ABA
RESISTOR, FIXEDs FILM R728 175 OMMS,cee..| EA| REF | ®| »| #| = = o 97| Rr28
PURMIPCT 1/24
KNTOBT5ROF (81349) AsA
RESISTORs FIXEDs FILM R783 85.6 OHMS....| £A| 2| | | =| = = 105| 783
PORMIPCT 1/24
SCC62507-9 (800631 ABA
RESISTOR, FIXED, FILN R784 85.6 OHMS....| EA| REF | ®| #| | | | = 105| R786
PORMIPCT 1/24
SCC62507-9 (80063) ABA
RESISTOR, FIXEDs FILM R792 100 OHMSeeee.| EA 1| o = = s e = 3| 10e| R79
PORMIPCT L/& W
RBSZALUOROF (813451
RESISTUR, FIXED, COMPOSITION R825 110...| EA 1| = x| el & e = 3 R825
OHMS PORMSPCT  L/2W
RC20GFL11J {81349) ABA
RESISTURs FIXED, WIREWOUND R782 135 OhNS| EA 1 =] =] e s s« = 3| 104| R782
PORMIPCT 0.4
RB52AELISROF (81349) ABA
RESISTOR, FIXED, COMPOSITION R827 160e..| EA 2 el x| & x| | = 3 R827
OHMS PURMSPCT 1/2W
RC20GF1614 (81349) ABA

15




SECTION 11

n

SMR
CODE

PAF22

PAFIZ

XDF2Z

XDFZZ

PAF2Z

PAFZL

PAFIL

XDFZZ

XDFZ2Z

PAFZ1

PAFZ2

PAFZZ

PAF2Z

(2)

FEDERAL
STOCK
NUMBER

5905-111-4736

5905-935-8544

5905-299-1965

5905-299-1965

5905-299-1965

5905-141-0310

5905-539-3523

5905-539-3523

5905-539-3523

TM11-5805-223-34P

@ wi s ® m ® 1 ® 0o
30.DAY DS MAINT | 30-DAY GS MAINT LLLUSTRATION
DESCRIPTION oty [_A ALLOWANCE ALY PER| AT
UNIT| INC | (@ | ) ] () | (@ ] & ] @ @ | b
OF | IN sm’.p “‘,’&“muns \TEM
REFERENCE NUMBER & MFR. CODE _ USABLE ON copg [MEA UNIT | 1-20 | 21-50/51-200) 1-20 | 21-50151-100 curey| equip| NO- | WO. |
RESISTORy FIXED, COMPOSITION R828 160es¢| EA| RgF ® % ® = & ® 3 R328
UHMS PORMSPCT 1724
RC206F161J (81349) ABA
RESISTORs FIXEDs COMPOSITION R708 180...| EA il e el el & & = 3| o7l r708
GHMS PURMSPCT 1724
RC20GF181J (81349) 48A
RESISTURy FIXEDy FILN R725 182 OMNSee.es| EA 2l e | e =] | = RT25
PORMIPCT 172 o :
RNT0BLBZ0F (81369} ABA
RESISTORs FIXEDs FILM R726 182 OHMS.e...| EA| REF o =] o o & e R726
PORMIPCT 172 M
RNT0BLE20F (81349} A8A
RESISTOR, FIXED, WIREHOUND R791 200 OHNS| EA 1| e e & 8] o] = 106] A791
PORMIPCT  L/4¥
RBSZAEZUOROF (31349) ABA
RESISTORs FIXEDs FILM RBL8 215 OHMSeeo..| EA 1| o« =] s s| e| = 107| R8ls
PORMIPCT 172 W (AUTHORIZED ALLOWANCES
BASED UK & TOTAL OF 3)
RNTOB2L50F (61349) ABA
RESISTURy FIXEDs FILM R778 267 OHMSyevea| EA 2l s =] e s =] = R718
PORMIPCT, 172W
RNTOB2670F (81349) ABA
RESISTOR, FEXED, FILM RTT9 267 OHMSyeeees| EA| REF ® ® % x ® ™ R779
PGRMIPCT, 1724
RNTOB2670F (B81349) ABA
RESISTOR, FIXEDs COMPOSITION R711 300...| EA 3 o | x| s o] = 3 R711
GHMS, PGRMSPCT, 172W.
RC20GF30LJ (81349) ABA
RESISTGRy FIXED, COMPOSITION R712 300...| EA| REF ¢ | o =] « = 3 RT12
GHRS, PGRM5PCTy 1/2ws !
RC2CGF3014 (81349) ABA
RESISTURs FIXED, COMPOSITION R752 30)...| EA| REF | #| & | e s 3 R752
QHAS, PORMSPCT, 1/2k.
RC20GF301J (81349) ABA
RESISTGRy FIXEDs FILM R721 301 ONMSseoees| EA 2| o | e e & = R721
PORMIPCT, 472W. AJA BASED ON TOTAL OF &
RNTUBIGIUF (51349) AB&
RESISTORe FEIXEDs FILM R722 301 OMNSsase.| EA| REF e ®| | s 8| a R722
PORMIPCT, 172W. A/A BASED ON TOTAL OF 4
RNTGB3010F (81349¢ aBA| | :
RESISTUR, FIXEDs COMPOSITION R741 3900..| €A; 1| * =| =| = | = 3| o7 R181
OHNS PLRMSPCT 1724
RCZOGF392J (81349) ABA ‘
RES ISTOR, FIXEC FILM R302 o316 OHMSeeses| EA o %l x| 2| s = = 3] RB02
PORMIPCT, L/2W
RNTOBZ LouF {81349) ABA A
IRESIS7TOKs FIXED FILX RBU3 o316 OHMS.eee.| EA| REF o + 2] ] e = 3 R803
PORMIPCT, 172w
RNT0B3160F 181349) ABA
IRES iSTGRy FIXED FILM RBIZ o316 OHMS.e...| EA! REF | x =l e & = 3 R812
IPGRMIPCT, 1724 ) : i
ANTJE3160F (51349) ABA l | ; }
! 1 i

16




SECTION |

(L))

SUR
CODE

FAFZZ

PAF22

XDFZ2

PAF22

PAFZZ

PAFZZ

PAFZZ

PAFIZ

PAFZZ

PAFZ2

PAF1Z

PAF22

(2)

FEDERAL
STOCK
NUMBER

5905-539-3523

5905-192-3971

5905-141-1303

5905-539-3531

5905-993-5947

5905-192-3973

5905-192-3973

5905-195-6800

5905-279-2616

5905-059-6862

5905-279-3500

TM11-5805-223-34P

) @] ® ® o ® [ ® ao
30-DAY DS MAINT | 30-DAY GS MAINT
DESCRIPTION oTY ALLOVANCE ALLOWANCE 1-YR |CEPOT| ILLUSTRATION
UNITL e [ (o) [ ) [ 1) | (o) [ ) [ e [ALRPER MAIRT T
OF ! W eaure | hoo |FiGuRE] 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON Cope MEAS| UNIT | 1-20 | 21-50/51-100) 1.20 | 21.50 151-100|cyygey| gquip| NO. | NO.
RESISTOR, FIXED FILS RB13 <316 OHMS.....| E4| REF o e o e o = 3 R813
PORKIPCT, L/2d
RNTUB3160F (81349} ABA
RESISTOK, FIXED COMPOSITION R729 330e...| EA 1 ¢ ®| s s| = = 3 R729
UHAS  1/26.
KC206F33L4 (81349} ABA
RESISTOR, FIXED FILM R77L 336 OHMSeeve.o! EA 2| | e e s & = ’RT11
PURMIPCT 1/24
SCC62507-186 (80063} ABA :
RESISTOR, FIXED FILM RTT2 336 OHMS.eewee| EA| REF o a2 s s =] = R772,
PGRMIPCT £/2%
SCC62507-164 (80063) ABA
RESISTORs FIXED, COMPOSITION R703 8,200.| EA 1 ¢ | =] s| 8| e 3 /703
OHHS PURMSPCT 1
RC326F8224 (813490 A8A
RESISTOR, FIXED FILA RB17 383 OHMSecea..| EA 1 & #| =] | | s R817
PGRMIPCT 4/2u. A/A BASED CN A TOTAL OF 3
RNTQB3830F (81349) ABA
RESISTOR, FIXED WIREWOUND RT80 400 OHMS.| EA 2] =] «| e sl s R780
PORMLIPCT 1/4H
RB52AE4QUROF (81349) ABA
RESISTOR, FIXED WIREHOUND RT790 400 OMMS.| EA| REF ol o o o = = R790
PORMIPCT L/4M
RB52AE4Q0ROF {81349) ABA
RESISTORs FIXED FIL® R731 902 OHMSeoeoece| EA 1 s e €| s| ¢ = 3 R731
PORMIPCT L1724
RN70B4U20F {81349} ABA
RESISTOR, FIXEDs FILM RB14 14,700 GHMSee| EA 1| s #| | & | = 3| 107] meie
PORKLACT .1/24
ANTOBL4T2F (B1349) ABA
RESISTGKe FIXED FILM RBOL 422 04MSyeceec| EA 2l #| | e e« e = R80L
PURMIPCT, L/2c.
RN70B6220¢ 181349) ABA
RESISTOR, FIXED FILM R802 622 OWNSseece.| EA| REF sl ol el & s e R802
PORMIPCT, 1/2H.
RN70B4220F {81369} ABA
RESISTOR, FIXED, COMPOSITION R761 &70...| EA 2l w| el &l & =] = 3 R761
OHMS PORHSPCT 1/2W
RC20GF47LJ (81249) . ABA
RESISTUR, FIXED, COMPOSITION R762 &70...| EA| REF e e s 8| = = 3 R762
DHMS PORMSPCT 1724
RC206F47LJ {81349} ABA
RESISTOK, FIXED, COMPOSITION R826 560a..| EA 1l e = =l | s = 3 R826
OHMS, PORMSPCT 1/24 A/A BASED ON TOTALGF 2
RC206FS61J (813693 ABA
RESISTURe FIXED, COMPOSITION R704 15,000| EA i e | & | = = 3l 99| r70e
OHHS PORMSPCT 1/2d
RC20GF153J (813491 ABA
RESISTOR, FIXED, WIREWOUND R781 569 OHAS| EA | s ] x| | e = 3 R781
PORMIPLT 1744 A/A BASED ON TOTALOF 2
RB5ZAE56IROF (81349} ABA
RESISTOR, FIXED COMPOSITION R763 634ec..| EA 1l s ] el e =] = 3 R743
CONTINUED
1




SECTION
(n

SUR
CODE

XDFZZ

XDF2Z

PAFIL

PAFZ2

PAF2Z

PAF22

PAFZZ

PAFZZ

PAFZZ

PAFZZ

PAFZ2Z

PAFZ2

PAFZZ

PAFZZ

I
(2)

FEDERAL
STOCK
NUMBER

5905-542-9116

5905-190-8880

5905-542-9110

5905-542-9110

5905-279-3499

5905-542-8407

5905-542-8407

5905-279-1876

5905-171-1998

5905-171-1998

5905-279-3498

5905-279-3496

3)

(4)

(5)

(6)
30-DAY DS MAINT

)
30-DAY GS MAINT

TM11-5805-223-23P

(8)

()

10}

ALLOWAN v . ILLUSTRATION
L ESCRIPTION - LOWANCE ALLOVANCE _| 1.vn |pEpoT

unitl e [ @ [ @ [ @ [ @[ o | @ A el © | @

u:is IN w |2 o EQUIP | 100 |FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE UNIT | 1- -50 (51-100) 1-20 | 21.50 |51-100| eyl gquip| NO. | NO.

CONTINUED
OHMSy PORMLPCT, L/72¢
ANT0B6340F (81349) ABA
RESISTORs FIXEDs FILM RB15 636 OHMSsco..| EA 1 | s | e | = R815
PORMIPCT 1.72¥
RNT0B6340F | 81349) ABA
RESISTORe FIXED, FILM R84L 576 OHMSseeee| EA 2| el «| =] | s = 109 | rasL
PORNIPCT 1/2W
RNTUBST60F (81349) ABA
RESISTORe FIXEDe FILM RB42 ST6 OHMSseeee| EA| REF s = s| | s = 109 | R8sz
PORMIPCT L/2W
RNTQB5760F {81349) ABA
RESISTOR, FIXEDs FILM R732 909 OHMSseeee| EA 1 =| w| ] %] | = 3 R:22
PORMIPCT, 1/2W
RNTOB9GIOF (81349) ABA
RESISTOR, FIXED COMPOSITION R713 1200...]| EA 1] ] =] & s s = 3 R713
GHMS PORMSPCT, 1724
RC20GFL22J (81349) ABA
RESISTOR, FIXED FILM RT76 1580 OHMSeeees| EA 2l s =] =] e & = 3 R776
PURMIPCT, 1/2H
KNTOBL56LF {81349) aBA
RESISTOR, FIXED FILM R777T 1580 OHMSec...| EA| REF e =l 8| ¢ e = 3 RTT7
PORMIPCT, 1/2M
RNZOBLSSLF (81349) ABA
RESISTOR, FIXEDs, COMPOSITION R748 27,000 EA 1 | =l e« s | = 3| 97| R148
OHMS PGRMSPCT 1/2w
RC2060273) (81349) ABA
RESISTORs FIXEDs FILM R723 2150 OHMSee.e| EA 2l el w] %] s ] = 3 R723
PGRMIPCT, 1/2W
RNTOB2L5AF (81349) ABA
RESISTOKe FIXED, FILM R726 2150 OHMSs..e| EA| REF o o] o = s = 3 R724
PORMIPCT, 1724
RNTUB2151F (81349) ABA
RESISTUR, FIXED, COMPOSITION R749 2200..| EA il s] s x| =] & = 3 R769
GHMSy PORMSPCT, 1/2W
RG20GF< 224 181349) ABa
RESISTUR, FIXEDy FILY R7T3 2460 OHMSeoe.o| EA 1l o=l el e =] s = R173
PGRMLPCT 1/2w
SCC62507-183 180063) ABa
RESISTOR, FIXED, COMPOSITION R707 33,000 EA P ™Y ™ HS R B S, 3| 97| r707
OHMS PGRMSPCT 1024 (AUTHORIZED
ALLOWANGE S BASED UN A TOTAL CF 3)
RC20GF33434 (81349) ABA
RESISTUR, FIXEDs COMPOSITION R745 33,000 EA| REF ] =] & & « = 3] 97| R745
LHMS PURMSPCT  LO2W  (AUTHORIZED
ALLUWANCC S BASED ON A TOTAL OF 3)
RC206F3334 (81349) ABA
RESISTCKs FIXED, COMPOSITION R746 51,000, EA P T e e ) 3| 97| r746
CHM PURMSPCT 172w  (AUTHCRIZED ALLOWANCES
BASED CN & TOTAL OF 3)
RC206F5i34 (813491 ABA ,
RESISTOK, FIXEDs COMPOSITION R747 51,0G0| EA| REF TR R B T 3| 97| R747
- CONTINUED ,

18




SECTION I

m

SMR
CODE

PAF12

PAF2Z

PAF2Z

PAF2Z

PAFIZ

PAFLL

PAFZZ

PAFZ2,

PAF22

PAF22

PAF12Z

PADZZ

(2)

FEDERAL
sTocCK

NUMBER

5905-195-6761

5905-195-6761

5905-104-8331

5905-279-2515

5905-279-2515

5905-279-2515

5905-356-2479

5905-642-4362

5905-299-2069

5905-226-9468

5905-226-9468

5305-206-5544

TM11-5805-223-23P

Q)

4

(5

6)
30-DAY DS MAINT

7
30.-DAY GS MAINT

@)

9)

(§1))]

DESCRIPTION @ty | ALLOWANCE ALLOWANCE 1.YR |DEPOT|ILLUSTRATION
unT) INe [ (@) | 8 | (@ | (@) | (b) | (cr |ALNPER| MAINT P T )
T‘ N 20 12' wlss 1100/ EQUIP 100 |FIGURE| 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE UNIT | 1-20 | 21-50(52-100) 1-20 | 21-50 |51-100{cnTgey| gQuip| NO. | NO.
CONTINUED
Grid PURMSPCT 172W (AUTHORIZED ALLOHANCES
BASED LN A TOTAL OF 3)
RC206F5134 (81349) aBA
RESISTOR, FIXEDy FILM R816 51,100 CHMS..| EA 1 e e] s =l s = 107| R816
PORMLPCT L/2W
RNTUBSL12F (81349) A8a
RESISTOR, FIXEDs COMPOSITION R7T42 100ses| EA 2l s | o s & = 3| 97| are2
0G0 CHMS PORM5PCT 1724 (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF L1)
RC20GFLO4) 181349) ABA
RESISTURe FIAED, COMPOSITION R744 100,eo| EA| REF o o #| el & = 3| 97| R74e
QU0 GHMS PUGRMSPCT 1/2W (AUTHORIZED
ALLQWANCES BASED ON A TOTAL OF L1}
RC2UGFLO4J (81349) ABA
RESISTURy FIXEDs COMPOSITION R7S1 300se.| EA i e s| e ] e s 3| 97| w751
000 OHMS PORMSPCT L/ZW
RC20GF3044 (81349) ABA
RESISTORs FIXEDy COMPOSITION RTOL 470see| EA 3] s & & w = = 3| 97| R701
OGU GHMS PORMSPCT 1728 (AUTHOREZED
ALLUWANCES BASED ON A TOTAL CF 4)
RC20GF4T4J (81349) a8a
RES(STORe FIXED, CAMPOSITION R709 470c..| EA| REF of o s e s = 3| 97| r709
000 OHMS PORMSPCT 1/24 (AUTHORIZED
ALLOWANCES BASED ON A TOTAL QF 4)
RC206F4744 (81349) ABA
RESISTORy FIXED, COMPOSITION RTS50 470seo| EA| REF o & o = e = 3l 97| 750
000 GHMS PORMSPCT 1/2W (AUTHORIZED
ALLOWANCES BASEO ON A TGTAL GF &)
RC206F4 T4 (81349) ABA
RESISTOR, THERMAL AT-T7L 31.5 OHMSs ATeo.| EA 1 e« & e | & = 3| 104
7706 F  1-1/8 INe. LG X /8 INe W X 3/4
INGH
SCC62510 (80063) ABA
RESISTGRe VARIABLE R823 2 SECT EA 25se0| EA il sl sl e sl s e 5 R823
000 OHMS PORMLOPCT 2w 1-1716 IN. DIA X
$CI62817~1 (80063) ABA
RESISTORs VARIABLE R822 2 SECT FRONTeeo| EA i = ] o e & = 5 R822
SECT 50,000 OHMS PORMIOPCT 24 REAR SECTs
10,000 OHMS PORMIOPCT ;22 11~1/16 IN.
0.0.X 1-3/16 IN. OP X 174 INe DIA
SCD62817~2 (80063) ABA
RESESTORe VARIABLE R705 500000 OHMSceeo| EA 2l o] & &| & 8| = s R705
POAHLUPCT 2W 1-1/16 IN. 0D X9/16 IN. DP
X 1/4 IN. DIA
$C062518~1 (80063) ABA
RESISTOR, VARIABLE R82: 50,000 OMMSeeeee| EA| REF el 2| sl s e = 5 R821
PURMLOPCT 2W 1-1/46 IN. OD X9/16 IN. OP
X 174 IN. DIA
$C262818~1 (80063) ABA
SCREWe EXTERNALLY RELIEVED BODY NO-REF—..| EA of o ] =l & s| = [
DESEG FIL H 0.39 IN. DIA X 0.068 IN. H
CONT INUED

19




SECTION

[L}]

SMR
CODE

PAFZ1

PAFZZ

PAFZZ
PAFLL

PAOZ2

PAFLZ

PAFILZ

PAF2Z

PAF2Z

PAFZZ

I
@

FEDERAL
STOCK
NUMBER

5305-297-9102

5305-637-5453

5961-581-8066

5950-376-9541

5960-676-8119

5935-260-0516

5930-351-7301

5930-548-6906

5930-351-7302

5930-351-7304

TM11-5805-223-23P

) w| ® ® | n ® | ® (0)
30.DAY DS MAINT | 30.DAY GS MAINT
DESCRIPTION QTy | ALLOWANCE ALLOWANCE 1-YR |DEPOT [ ILLUSTRATION
unITl N [ @ | @ [ (e [ o [ ) | (o [ALRPER MM o) T )
OoF IN EQUIP ALYO’;ER FIGURE| ITEM
REFERENC: NUMBER & MFR. CODE  USABLE ON copg [MEAS] UNIT | 1-20 | 21-5015)-100] 1-20 | 21-50 51100/ cyygey| gquip| NO. | NO.
CONTENUED
SLOTTED $10-32 X 11/32 IN. LG
SCB62467 (80063} ABA
SCREHs SHOULDER NO-REF-DESIG #4-408 NC=o| EA 2| | | e | | = 5 9
24 0.219 IN. LG (AUTH ALLOWANCES BASED
GN A TOTAL OF 10}
SCB62661~1 (80063) ABA
SCREW, SHOULDER NO-REF-DGSIG #4-40 NC=oo| EA 8| =| s | =] s| = 5
24 1-5/l6 IN. LG O/A
5CB62661-8 (80063) ABA
SEMICONOUCTOR DEVICE, DIODE CRT2L, CRT22.| EA 2| & s s | | = 2| o7
ING9A (51349) ABA
SHIELDs COIL E7L0 2-1/8 IN. LG X 1-7/16o| EA 1, sl s & | s = 2 €710
INe ® X 15/16 INe D
SCC62837 (80063) ABA
SHIELDs ELECTRON TUBE NO-REF-DESIG 1-3/8| EA s| = «| i «| | = 8
IN LG X 0.958 INe DIA O/A {AUTHORIZED
ALLUBANCES BASED ON A TOTAL OF10)
TSL02u0L (81349) ABA
SHIELDs ELECTRON TUBE NO-REF-DESIG 1-1/2| EA 2| o] =] | ®| = =
IN. LG X 1.065 IN. DIA O/A (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF5)
TSLO3UOL (61349) ABA
SHIELD, ELECTRON TUBE NO-REF-DESIG 2-1/4| EA 3l =] e e & o =
INe LG X 0.958 IN. DIA O/A (AUTHORIZED
ALLOUWANCES BASED ON A TOTAL OF6)
TSI02U03 (81349) ABA
SHIELUs ELECTRON TUBE NO-REF-DESIG 2-1/4| EA 1 sl | s =] e =
IN LG X 53/64 IN DIA O/A (A/A BASEDON
TOTAL OF 4)
16613597P2¢ (717853 ABA
SOCKET, ELECTRON TUBE XV551 XV553 1-3/16.]| EA ol o] & o & « = 3| 1
IN He X 0.800 IN W X 1-178 IN LG O/A
(AUTHORIZED ALLOWANCES BASED ON A TOTAL OF
20}
TSLO2PUL (81349) ABA
SOCKET, ELECTRON TUBE NO-REF-DESIG l-see| EA 2| o] s} w| x| =] = 111
3716 INe X 1,035 IN W X 1-13/32 IN. LG
O/A {(AUTHORIZED ALLOW BASED CN A TOTAL
OF5)
TS1u3POLl (81349) ABA
SWITCHs LEVER $801 1-7/8 IN. LG X 1-3/32| EA i x| e =] | #| = 5| 106| sso1
IN W X 1-3/32 IND
SCC62824 (80063) ABA
SWITCHy, LEVER S705 1-7/8 IN. LG X 1-1/16| EA il s e e | =] = 5 $705
INe ¥ X 1~3/32 IN.
5CL62650 (80063) ABA
SWITCHy LEVE. 5703 1-7/8 IN. LG X 1-1/32] €A i sl el e | a| = 5 $703
INe U
SCC62825 (80063) ABA
SwITCH, LEVER S701 i~T7/8 IN. LG X 1-9/32| EA 1 x| 2| x| | =] e 5 s701
IN. W X 1=3/32 INH, O/A
5CC62827 180063) ABA

20




SECTION 11
m (2
FEDERAL
SMR STOCK
CODE NUMBER
PAF2Z | 5930-173-8364
PAFZZ | 5930-548-3494
PAFZZ | 5930-306-2206
oAFZZ | 5940-280-1728
PAFZZ | 5940-280-1728
XDF22
XDFZZ
XDFZ2
PAFZZ | 5940-259-5745
PAFZZ | 5940-259-5745
PAFZZ | 5940-259-5745
PAFZZ | 5940-259-5745
PAFZZ | 5940-259-5745
PAF2ZZ | 5940-258-5327
PAFZZ | 5940-258-5327
PAF2Z | 5940-258-5327
PAFZZ | 5940-258-5327
PAFZZ | 5940-258-5327
PAFZZ | 5940-542-8158

TM11-5805-223-23P

® W] ® ® n ® | ® )
30.DAY DS MAINT | 30.DAY GS MAINT
Ty | ALLOVANCE ALLOWANCE YR |pEpoT|ILLUSTRATION
DESCRIPTION ALW PER| MAINT

it e [ @ [ @ [ @ @ & [ @ (A0 N @ [ w

oF | I gaute | ron IFIGURE] 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE ["CAY UNIT | 1-20 | 21-50 51-100| 1-20 | 21-5051-100|cyveey| equip| NO. | NO.
shI7CHy LEVER ST7L 2 INe LG X 1.T7/32 IN.! gA 1 » ® L L] 1] ® 5 s
B X 1-3/32 IN. DIA
$CC62820 (80063) ABA
SWiTCHy LEVER' 5702 2 INe LG X 1~3/4 IN..| EA 1| & =] =] 8| | = 5 sT02
W X 1-3/32 IN. D
SCC 626826 (80063) ABA
SMITCHs RUTARY $772 3 SECT 12 POS 2-..| EA 1l el = el | & e 5 s172
176 INe LG X 1-378 INe WX 1-9/16 IN. H
J4559-4HLu3 (32104) ABA
TERMINALs FEED THRUs ENSULATED €725 T7/68.| EA 2l o] el & o] o e 1 E725
INe LG X 14732 INe W X 5/16 INe Hy O/A
{AUTH ALLOMANCES BASED ON A TCTAL OF 5)
FTS (31312} ABA
TERKINALy, FEED THRU, INSULATED ET26 7/8.| EA| REF s L] ® ® L] . 1 ET26
INe LG X 11732 IN. W X 5/16 INe H, O/A
{AUTH ALLUWANCES 3ASED ON A TCTAL GF 51
FT5 (81312} ABA
TERMINAL, FEED THRU, INSULATED E721 l-..| EA 3| s el | e e = £721
1716 IN. LG 072
'ET9 183125) ABA
TERMINALs FEED THRU, INSULATED E722 l-..| EA| REF e | | e = = €122
1716 IN. LG O/A
FT9 (83125) ABA
TERMINAL, FEED THRU, INSULATED E744 l-..| EA| REF o] s o] e o s ET64
1716 INe LG O/A
FT9 (831251 ABA
TERMINAL, STUD ETLO 5/8 INe LG X 3/16e.o| EA 5| o e s s/ s = i €710
INe ACRUSS HEX FLATS G/A
9101458 {21450) ABA
TERMINAL, STUD E711 5/8 INe LG X 3/16c..| EA| REF e |l el & o] s 1 €711
IN. ACROSS HEX FLATS U/A
9101458 (21450} A8A
TERMINALs STUD E712 578 INe LG X 3/16...| EA| REF o o] ] & o s 1 ET12
IN. ACRGSS HEX FLATS /A
9101458 §21450) ABA
TERMINALs STUD E733 5/8 INe LG X 3/16...! EA| REF of & e & o = 1 €733
IN. ACROSS HEX FLATS O/A
9101458 (21450) v aBA
TERMINAL, STUD ET734 578 INe LG X 3/16...| EA| REF s e e s = i E734
IN. ACRUSS HEX FLATS 071
9101458 {21650) ABA
TERMINAL STUD ET707 23737 LG X 1/4 IN DlA| EA sl s = &l =] e e 1 €707
753 (81312) ABA
TERMINAL STUD E703 23/37 LG X 1/6 IN OIA| EA| REF el o = s e = 1 €703
753 181312) ABA
TERMINAL STUD E704 23/37 LG X L/4 IN DIA| €2 ReF of | | & o s 1 E706
753 181312) ABA
TERMINAL STUD €705 23737 LG X 1/4 IN OIA| Ea| REF ol el | & o = 1 €705
753 (81312) ABA
TERMINAL STUD E706 23737 LG X L/4 IN DIa| EA| REF of o =] €| & = 1 £706
753. (81312} ABA
TERMINAL STUD E761 1-3/32 IN. LG X 1/éeo| EA ol ¢ e x| =« e = 1 ET61

CONT INUED




SECTION 1|1

(1))

CODE

PAFZ1

PAF11

PAF22

PAF2Z

PAFZl

XDFZZ

XDF2Z

XDFZZ

XDF22Z

FEDERAL
STOCK
NUMBER

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

3)

DESCRIPTION

)

UNIT

OF

REFERENCE NUMBER & MPFR. CODE  UTABLE OR CODE

A

5

QTY

TM11-5805-223-23P

»

INC
(L]
UNIT

ALV PER

100 [ALWPER
EQUIP

CNTGCY

(8)

9)

I-YR |DEFOT

CONTINUED
IN. ACROSS HEX FLAT (AUTHORIZED
ALLOHANCES BASED ON A TOTAL CF17)
2L35A4 (92825) ABA
TERMINAL STUD ET42 1-3/32 INe LG X 1/4.c
INe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF17)
2L35A6 (92825) ABA
TERHINAL STUD 822A 1-3/32 IN. LG X Ll/%ce
INe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCE S BASED ON A TOTAL OF17)
2L35A4 (9:8250 ABA
TERHINAL SYUD 8228 1-3/32 INe LG X 1/4.e
INo. ACROSS 'EX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFL17)
2L3544 (%2825) ABA
TERNINAL STUD B823A 1-3/32 INe LG X 1/%ee
INe. ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CFLT)
2L35A4 (92825) ABA
TERMINAL STUD 8238 1-3/32 INe LG X 1/4.e
IiNe ACRGSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFL1T)
2L35A4 (92025) ABA
TERHINAL STUD E704 1/8 IN LG X 1/é ENeso
AGCROSS HEX FLATS {AUTHORIZED ALLOWAKRCES
BASED ON A TOTAL OFT72)
EPS262 (90348) ABA
TERRINAL STUD ET05 1/8 IN LG X 1/4 INeeo
ACRCSS HEX FLATS (AUTHORIZEC ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL STUD E706 1/8 IN LG X 174 INeoco
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL STUD ET727 1/8 IN tG X 174 INe..
ACROSS HEX FLATS (AUTHORIZED ALLOMANCES
8ASED UN A TOTAL OF72)
EPS262 (20348) ABA
TERMINAL STUD E728 1/8 IN LG X 1/4 INeee
ACROSS HEX FLATS (AUTHORIZED ALLUWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL STUD E729 1/8 IN LG X 1/4 INeos
ACROSS HEX FLATS (AUTHORIZED ALLUWANCES
BASED ON A TOTaL OFT2)
EP5S262 (90348) ABA
TERMINAL STUD ET741 173 IN LG X 1/4 iINeeo
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
bASED ON A TOTAL OF72)
EPS26¢ (9G348) ARA

22

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

REF
REF
REF
REF
REF
24
REF
REF ‘
REF
REF
REF

REF

ET62

8228

823A

8238

€704

ET05

ET06

€727

ET28

ET29

ET4L




SECTION 11

m

CODE

@)

FEDERAL
STOCK
NUMBER

XDF2Z

XDF22

XDFZZ

XDFZZ

XDFZ22

XDFZZ

XDFZZ

XDF2Z

3)

DESCRIPTION

REFERENCE NUMBER & MFR. CODE

TERMINAL STUD E742 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E7444 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E747 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E771 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E772 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E773 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E774 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E775 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E805 1/8 I N
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E806 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E807 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E808 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TERMINAL STUD E812 1/8 IN
ACROSS HEX FLATS (AUTHORIZED
BASED ON A TOTAL OF 72)
EPS262 (90348)

TM11-5805-223-23P

L) (5 (8) 7y (8) ®) T ao
30-DAY DS MAINT | 30-DAY GS ALINT
QrTY ALLOVWANCE ALLOWANCE | 1.¥R |pEPOY!ILLUSTRATION
UNIT NG | (o) | () | e | () | (b | qe) [ARNPER| MAIKT [T, T
oF | W caute | oo " |FicuRe| 1TEn
Quip 100
USABLE ON CODEMEAS UNIT | 1-20 | 21-5015)-100] 1-20 | 21-50 |5)-100 ) purrey gQuip| NI NO.
LG x 1/4 IN..] Ea] REF - . L] L] - L3 ET42
ALLOWANCES
ABA
LG X 1/4 IN..| EA| REF ® ] ® » ) 5 €744
ALLOWANCES
ABA
LG X 174 IN. EA| REF & L ] L ] L] a E:,’:{"A
ALLOWANCES
ABA
LG X 1/4 IN..) EA| REF * * s » ® ] ETIL
ALLOWANCES
ABA
LG X 1/4 IN..| EA! REF * = - £ = s [oor
ALLOWANCES i
ABA
LG X 1/4 IN..}] EA} REF ] » & ) [ 3 = ETT3
ALLOWANCES
ABA
LG X 1/4 IN..] eEA| REF- * - ® ® © % ET76
ALLOWANCES
ABA .
LG X 1/4 IN..| gA| REF ¢ ® % » ] £ E7TS
ALLOWANCES
ABA P
LG X 1/4 IN. EA! REF Q) ® -3 & - £805
ALLOWANCES
ABA
LG X 1/4 IN..] EA! REF ¥ % ® & % L €806
ALLOWANCES
ABA .
LG X 1/4 IN..! EA| REF » *® ® ® ® [ ] £807
ALLOWANCES
ABA
LG X 1/4 IN..| EA| REF * = * » ® s ES08
ALLOWANCES
ABA Lo
LG X 1/4 IN..| EA| REF ® & - L  J ® EBl2
ALLOWANCES
ABA
23




SECTION

m

SMR
CODE

XDF22

PAFZL

PAFIZ

PAFZZ

PAFZI1

PAFZ1

PAF2L

PAF2Z

PAFZZ

I
(2)

FEDERAL

STOCK
NUMBER

5950-645-6404

5905-645-6404

5950-645-6404

5905-645-6404

5905-645-6404

5905-645-6404

5950-646-3143

5950-646-3143

)

“

(L]

(6)
30-DAY DS MAINT

7
30-DAY GS MAINT

TM11-5805-223-34P

(8)

(9}

(10}

- P ALLOWANCE ALLOWANCE 1-YR |DEPOT|I/LLUSTRATION
DESCRIPTION uNITl INC | @ | O | (@ | (@ | () | (o) [AYPER]MAINT TG
. : OF | N s'qmp m;'o';“mune ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [MEAY UMIT | 1-20 | 21-5051-100) 1-20 | 21-50 (51-100\cnyeey| gquip| NO. | NoO.
TERMINAL STUD EBL3 1/8 IN LG X 1/4 INeoo| Ea! REF o =] o »| & = €613
ACROSS HEX FLATS (AUTHORIZEG ALLOWANCES
BASED ON A TOTAL OF72*
EP5262 (903¢8) ABA
TERMINAL STUD EBLe 1/8 IN ‘. X 1/4 INeee, EA| REF of o ! | & = £8le
ACRGSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED ON A TOTAL OFT2)
EP5262 (90348) ABA
TERMINAL STUD EBL5 1/8 IN LG X 174 INeseo| EA] REF | el e e =] e E815
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL STUD EBLE 1/8 IN LG X 174 INeeo| EA| REF ol # o o # » 816
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL UFT2)
EP5262 (90348) ABA
TRANSFORMER, AUDIOFREQUENCY T722 1-5/16.| EA ol o & =| | | = 3| 96| 1722
INe H X 41716 IN. LG X 9716 IN. 5 O/A
(AUTHORIZED ALLOWANCES BASED TN A TOTAL GF
8)
SC062524 (80063) ABA
TRANSFORMER s AUDIOFREGUENCY T723 1-5/16.]| EA| REF 2] | ¢ | | = 3| 96| 1723
INe H X 11/16 IRe LG K 9/16 IN. W O/A
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
8)
$C)62524 (80063) ABA
TRANSFURMER, AUDIOFREQUENCY T725 1-5/16.| EA| REF | =l o« e & s 3| 9s| 1725
INe W X 11716 INe LG X 9/16 TN W O/A
(AUTHORIZED ALLOWANCES BASED GN A TOTAL OF
8)
SC62524 (80063) ABA
TRANSFORMEK , AUDIOFREQUENCY 106 1-5/16.| EA| REF o | =] 2| | e 3| 106¢| 104
INe H X 11716 IN. LG X 9716 IN. W OFA
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
8)
$C262524 180063) A8A
TRANSFORMERy AUDEOFREQUENCY T801FL 1-5/16.| EA| REF = ® % » % £ 3 108 Taol
INo H X 41716 INo LG X 9/16 IN. & 0O/A
{AUTHURIZED ALLOWANCES BASED CN A TOTAL OF
8)
SC162524 (80063} ABA
TRANSFURMER, AUDIOFREQUENCY T802 1-5/716.| EA| KEF ® *® = x = 8 3 108} 71802
INe H X L1716 INe LG X 9/16 IN. W OJA
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
8}
SCIH2524 (80063} ABA
TRANSFORMER.y AUDIOFREQUENCY T711 1-11/16| EA 2 L * * » L4 = 3 98 TT1i1
I H X 1=3/8 IN. LG X 1-3716 IN. W 0/A
SCC628Uu (80063} ABA
TRANSFORMERy AUDIOFREQUENCY TT712 1-11/716| EA]| REF = &® - = ® ® 3 98| T712
IN 8 X 1=3/8 INe LG X 1-3/716 IN, W O/A
SCC64800 (80063) ABA




SECTION 11

m
s | Pont
CODE NUMBER
PAFZZ | 5950-545-7792
PAFZZ | 5950-545-7793
PAFZZ | 5950-545-7793
PAFZZ | 5950-648-2276
PAFZZ | 5950-646-2767
PAF2Z
PADZZ | 5905-356-2898
PAFZZ | 6350-269-7977
XDFZZ
XDFZZ
PAFZZ | 5905-080-6833
YDFZZ
PAFZZ | 5910-723-5169
PAFZZ | 5910-723-5169
PAFZZ | 5910-936-4804
XDFZZ
XDFZZ

TM11-5805-223-34P

) RG] ) D ® | W 00)
30.0AY DS MAIHT | 30-DAY GS MAINT
aTy ALLOWANCE ALLOWANCE 1-YR |DEPOT|ILLUSTRATION
DESCRIPTION ALW PER] MAINT
ol e [ @ [ [ @] @] o [ @ [ARF @ | ®
oF | N I i P T
REFERENCE NUMBER & MFR. CODE  USABLE ON COpE [WEAY UNIT | 1-20 | 21-50{51-100 1-20 | 21-50 |51-100]cyygey| pQuip| NO. | NO.
TRANSFGRMER, AyDIUFREQUENCY T726 1-25/32| Ea L s s sl | s s 3| 98| 724
INe LG X 1~1/32 IN @ X 2-21732 IN H O/A
SCC62528 (80063) ABA n
TRANSFURMER, AUDIOFREQUENCY T761 1-25/32| EA 2| ] o« x| =] e « 3| 96| 1762
INe LG X 1~13/32 IN. W X 2-15/16 IN. H
0/A
$CJ62615 (80063) ABA o
TRANSEOKMER, AUDIOFREQUENCY T8Z1 1-25/32| EA| REF s & #| & s = 3| 108| 1822
INe LG X 1~13/32 IN. ® X 2-15/16 IN. H
0/
$CJ62815 (80063) A8A . .
TRANSFORMER, AUDIOFREQUENCY TT0L 2 INe H| EA Lo o=l e s e e 3| 95! 1701
K 1-3/8 INe LG X 29732 IN. W X O/A
SC363040 (80063) ABA
TRANSFCRMERs AUDIOFREQUENCY T721 2-ecsee| EA L S T Y Y 3| 9s| T722
5/32INe H X 1-25/32 INe LG X 1-1/32 IN. W
asa
SCI62536 (80063) ABA _
RINGER USCILLATOR GROUP NO-REF~DESIGeesss| EA o x| s s s =
2222220222222222 (12222) ABA
RINGER, OSCILLATOR NO-REF-DESIG 6 X 4eee| EA AT T Y Y 3| 12
172 X 4 — 9/16 IN 0/4
SCD62633 180063) ABA
BUZZER  IL VIBRATING 2-5/8 INe LG X A-| EA i s wl e | ] e 2l 9| n
21/32 IN. w X 3/4 IN. D O/A
MD6531-2 119557) ABA _ . .
CAPACITOR, FIXEDs, MICA DIELECTRIC  Céees| EA il s sl s s s| = 5| ce
62 UUF PORMZPCT 500 VDCW
CML5C6206P3 (81349) ABA .
CAPACITURs FIXEDs MICA DIELECTRIC  CTe..| EA 1 |l el e el s = 95| 7
91 UUF PORMZOPCT 500 VOCW
CML5C910GP3 (81349) ABA ,
CAPACITOR, FIXED, MICA DIELECTRIC  CBewo| EA 1 o x| x| x| | s 3| 95| ce
180 UUF PORM2PCT 500 VOCW
CHL5C181GP3 (B81349) ABA ‘ ,
CAPACITORs FIXEDy MICA DIELECTRIC  C9...| EA il | x| | =] & = 95| c9
330 UUF PORM2PCT 500 VDCW .
CM30E33113261 (81349) ABA
CAPACITOR, FIXEDs MICA DIELECTRIC  C3e..| EA 2l o x| s | #| s 3| 95 3
1300 UUF PGRMZPCT 500 VDCW
CM30EL32G (81349) ABA .
CAPACITOR, FIXEDs MICA DIELECTRIC  Cl2...| EA| REF o o s | | = 3| 95| ci2
1300 UUF PGRM2PCT 500 VDCH
CM30EL326 (81349) ABA :
CAPACITORy FIXEDy MICA DIELECTRIC  Céaee| EA 1 o« | s s | e 3| 95| s
3900 UUF PORM2PCT 500 VOCW
CM35E392GN3 (8L349) ABA
CAPACITORs FIXEDs MICA DIELECTRIC ClOeoo| EA 2l x| el | &l & = 9c| c1o
10,000 UUF PORMZ2PCT 300 VDCw '
CM35EL03GN3 (81349) Aea
CAPACITORs FIXEDs MICA DIELECTRIC Cllee.| EA| REF S T Y e 95| c11
10,000 UUF PORM2PCT 300 VDCHW
CM35EL103GN3 (81349) ABA

25




SECTION

m

SMR
CODE

PAF2Z

PAFLL

PAFZ1

XDFZZ

PAOZZ
PADZZ
PAF2Z

PAFIZ

XDFZZ

PAFZ1

PAFZL

PAFIZ

XDF2Z

PAFZZ

FEDERAL
STOCK
NUMBER

5910-376-9764

5910-263-0864

5935-201-7625

5960-188-6584
5960-188-6584

5950-376-9713

5945-259-1231

5905-279-2593

5905-646-5772

5905-190-8867

5905-195-6761

TM11-5805-223-34P

) ]| ® ®) " ® | ® 00
30-DAY DS MAINT | 30.DAY GS MAINT
: 14} ALLOWANCE ALLOWANCE 1.YR [DEPOT|ILLUSTRATION
DESCRIPTION ALY PER| MAINT
ot INC (@ b [ [ e [ T TER MARE e T )
u::s N o | o b FQuIP Yoo IFIGuRE| 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CCDE UNIT | 1-20 | 21-50151-100) 1-20 2% . v signToCy, EQUIP| NO. | NO.
) M
CAPACITOR. FLXED, PAPER, DIELECTRIC  Cl.| EA I " ' 5| 9| a
270,000 UUF PORMIOPCT L0OVDCW : L
8192749175 (56289) ABA L
CAPACITOR, FIXED, PAPER, DIELECTRIC  C2.| EA i e 8| e S R %) ¢
680,000 UUF PORMZOPCT 300 VDCW S
25M3684AAA (96733) ABA -
CAPACITOR, VARIABLE, CERAMIC DIELECTRIC...| EA | os| s sl 8] i s 3| 95| «¢s
C5 20 UUF TO 120 WUF 600 VDCW
CV120121 (81349) ABA
CAPACITOR, FIXED, MICA DIELECTRIC Cl3...| EA 1| s el =] e s| = 95| c13
1000 UUF PORM2PCT 500 VOCW
CH3DELO2GN3 (81349) aBA
CONNECTUR, RECEPTACLE, ELECTRICAL  Pleea| EA 1| s s e o & = 3| 9| m
21 2-3/32 IN. L6 X 3/4 IN. W X 29/32 IN.
HO/A (AUTHORIZED ALLOMANCES BASED ON A
TOTAL OF &)
47618599 (71785) ABA
CKYSTAL UNIT, RECTIFYING CR3 1/2 IN LG.| EA 2| = s ] s | = 95| CcR3
X 0250 IN DIA (A/A BASED ON A TOTAL OF
)
IN6O (8134%) ABA .
CRYSTAL UNIT, RECTIFYING CR& 1/2 IN LG.| EA| REF o S ) Y 95| CRe
X 0.250 In-DIA (A/A BASED ON A TOTAL OF
4)
IN6GO (813490 ABA
ELECTRON TUBE  Vleecossscsececaceacsecee| EA 2| s| & e s & # 1000 9| w
6670 (81349} ABA
ELECTRUN TUBE  V2eessssscccscescassesses| EA| REF of | s s o s 100 v2
6670 (61349) ABA
REACTOR  LL 7.25H 2-7/16 X i-3/8 X 2-.| €A| 1| #| #| o | | 2| 9| u
9/32 IN O/ °
$SCC62514 (80063) ABA .
RELAY: ARMATURE KL 3-1/15 IN LG X l-..| EA i s | s e = = 30 %l
5/8 IN WX 1-7/16 IN Dy 0/A -
KP3T1762 (71482) ABA
RESISTORe FIXEDe FILM R13 68.1 OHMSeaee: EA -1 * * * = - ® 95 R13
PURMLIPCT, 1/2W. - !
RNIOB6BRIF (81349) ABA
RESISTUKy FIXEDs COMPOSITION RS 240..e| EA 1 | o+ x| s] s e 3| 95| =&s
OHMS, PORMSPCT, 1/2W
RC20GF241d (81349) ABA
RESISTURs FIXEDy FILM RI2Z 604 OHMSee...| EA i s | s s s s 3| 95| Ri12
PURMIPCT, L/2W
KNT0B604VF (81349) ABA
RESISTOR, FIAEDs COMPOSITION R10 5100..| EA s =l s x| s 3 R10
OHM Sy PUGRMSPCT, 2#
RC%2GF512J (81349} ABA
RESISTORs FIXED, FILM RLlL 684100 GHMS..| EA i s x| sl s e s 95| R11
PCRMLIPCT, L/2M
RNTOB6BLZF (B1349) ABA
RESISTORy FIXED, COMPOSITION  R3  L0Jse.| EA Y ] Y S B R 3| 95| =r3
00U GHMS PURMSPCT L/2W (AUTHORIZED
CONT INUED

26




SECTION I

(L]

SUR
-0be

PAF22

PAFLL

PAFZ2

PAFIl

PAFIL

PAF22

PAF12

PAF22

XDFZZ

XDFZ2

XDFZZ

(2)

FEDERAL
STOCK
NUMBER

5905-192-0667

5905-279-2520

5905-279-2515

5905-111-4840

5905-279-2514

5905-192-0390

5305-358-4309

5305-297-9102

TM11-5805-223-34P

o @1 G oaresmamt | s0.0ar'comamt | © @ (e
scaiPTio Ty | ALLOWANCE ALLOWANCE L.YR |DEPOT|'LLUSTRATION
o N unit| e [ @ | ® | c | ] 0 ] @ [AReER A B T
oOF | IN eoute a0 |Ficure| 17Em
REFERENCE NUMBER & MFR. CODE  USABLE ON cope [EAS| UNIT | 1-20 | 21-50/51-100) 120 | 21-50 |51-100)cureey) gauip| NO- | NO.
CONTINUED
ALLUWANCES BASED ON A TOTAL OF 11)
RCZUGFL04J (81349} o aBA .
KESISTUR, FIXEDs COMPOSITION RLT 220¢ee| EA il e e ] o s} e 3| 95| Rz
000 GHASy PORMIPCT, L/72Y
RC20GF2244 184349} ABA
KESISTORs FLAED, COMPOSITION R14 360ee.| EA 1| e e e »| s = 3| 95| R1e
000 GHHS, PORWSPCT, 1/24
RC20GF366d (81349) A8A
RESISTORs FINEDs CONPOSITION R1S 4TOses| EA 1| = =] =f | = = al 95| R1S
200 OMMS PGRMSPCT 1/2w (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF &)
RC20GF4T6J4 (81349) ABA v ,
AESISTORs FIXED. COMPOSITION  RL 510¢e.| EA | sl =] e s = e 3] 95 a1
000 GHMS PORMSPCT 1/2M
KC20GFS1ed (81349) ABA
#ES1STORe FIXEDs COMPOSITION  R8 560se.| EA 1l s e el o » = 3| 95/ Re
000 OhMS, PORMSPCT, 1/2W
RC20GF3664 (81349) ABA
RESISTOKe FIXEDe COMPOSITION  R2 ONEceo| EA 1l el e | e w| e 3| 95| w2
KEGONM PURMSPCT, 1/24
RC2UGFLOSJ (81349) ABA
SCREWe EXTERNALLY RELIEVED v NO-REF-..| EA 2| | =] s s | = 5
DESIG PAN HD 0.382 X /64 .. . 64 IN HDo
REDUCED
SGB62654-1 (80063) ABA
SCREWe SHOULDER NO-REF-DESIG #4-408 NC-.| EA 2l s ] el el s a s| 9
28 0.219 INe LG (AUTH ALLOWANCES BASED
ON A TOTAL OF 10)
SCB62661~1 (80063) ABA
SHIELD» ELECTRON TUBE NO-REF-DESIG 1-1/2| EA 2| sl el e | | = 15
INe LG X 1,065 IN. DIA O/A {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFS)
TS103U0L (81349) A8A
SOCKET ELECTRON TUEE XVl 1-3/16 INe Xeo| EA 2| el <] o] e 8| s 95| xwi
14035 IN ¥ X 1-13/32 IN. LG O/A
(AUTHORIZED ALLOW BASED ON A TOTAL OFS)
TS103PO0L (81349) ABA ,
SGCKET ELECTRON TUBE  XV2 1-3/16 INe Xe.| EA| REF of e w] e «| = xv2
1.035 IN ® X 1-13732 IN. LG O/A -
(AUTHORIZED ALLOW BASED ON A TOTAL OF5)
TSL03POL (81349) ABA
TERMINALy STUD  EL 7/8 IN LG X L/4 INes| EA 1l 8| s| | s| & e €1
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF12)
£P5262 (90348) ABA
TERMINAL, STUD  E2 778 IN LG X 1/4 INeo| EA| REF o a1 o #i s| = 2
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OFT2)
EPS262 190348) ABA
TERKINAL, STUD €3 7/8 IN LG X 1/4 iNeo| EA| REF = sl s e | = €3
ACROSS HEX FLATS (AUTHORIZED ALLOMANCES
CONTINUED

27




SECTION II

m

SMR
CODE

PAF22

PAFZL

PAFLLZ

PAF22Z

PAFZZ

PAFZZ

PAFZZ

PAFZZ

PAF22

)

FEDERAL
STOCK
NUMBER

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5950-645-6373

TM11-5805-223-34P

3 @/ ® 6) n ® | o (0)
30.DAY DS MAINT | 30.DAY GS MAINT .
ary | ALLOWANCE ALLOWANCE L.YR |pEPOT|ILLUSTRATION
DESCRIPTION - ALV PER| MAINT
NC |0 | ®) [ (0 | o [ ) [ (o) [APER| MAINT TG T
OF | IN EQUIP m“ FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [MEAY UNIT | 1-20 | 21-50151-100) 1-20 | 21-50 |51-900{cyyecy| equip| NO. | No.
CONTEINUED
BASED ON A VOTAL OF72)
EPS262 (90348) aBa
TERHINALe STUD  E4 778 IN LG X 1/4 INe.| EA| REF s e o & & s
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABA
TERHINAL, STUD  ES5 7/8 IN LG X 1/4 IN..| EA| REF o] o %] | & w €5
ACRGCSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OFT2)
EPS262 (90348) asA
TERHINALy STUD  E6 T7/8 IN L6 X 1/4 INeo| EA| REF s o] e 8l & = €6
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF72)
EPS262 (90348) ABA
TERRINALe STUD EL5 7/8 IN (G X 1/4 INe.| EA| REF el =] o] a| ] = ElS5
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF72)
EP5262 (90348) ABA .
TERMINAL STUD €7 1-3/32 INe LG X 1/6es| EA 8| s =| o & & = 1 €7
IN. ACROSS HEX FLAT (AUTHORIZED
ALLONANCES BASED ON A TOTAL OF17)
2U35A6 (92825) ABA
TERMINAL STUD  E8 1~3/32 IN. LG X 1/6eo| EA| REF s e s | e e 1 E8
INe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF17)
203544 (92825) ABA
TERMINAL STUD €9 1~3/32 INe LG X 1/4+.| EA| REF o] #| o & | = 1 9
IN. ACROSS HEX FLAT (AUTHORIZEOD
ALLOWANCES BASED ON A TOTAL CF17)
203544 (92625) ABA
TERMINAL STUD E10 1-3/32 INe LG X 1/4..| EA| REF s o] »| o | = 1 30
INe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL GFLT)
2L35A4 192825} ABA
TERMINAL STuD Ell 1-3/32 INe LG X L/&ee| EA| REF = & L % & & 1 Ell
INe ACKUSS HEX FLAT (AUTHORIZED
ALLUWANCES BASED ON A TOTAL OFLT)
2L35A4 (92825) ABA
TERMINAL STUU  EL12 1-3/32 INe. LG X L/%..| EA| REF s o+ o =] «| = 1 El12
iNe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASEDO UN A TOTAL OFLT)
2L35A4 (92825) ABA
TERMINAL STUD EL3 1-3/32 IN. LG X L/%es| EA| REF = x| s <] ] a 1 El3
IN. ACRUSS HEX FLAT (AUTHORIZED
ALLUWANCE > BASED ON A TOTAL COFLT)
2L35A4 (92825} ABA
TERMINAL 5TUD  El4 1-3/32 INe LG X L/4..| EA| REF o e x| | | w 1 Elé
IN. ACRUSS HEeX FLAT  (AUTHORIZED
ALLOWANCE S BASED ON A TOTAL CFL7)
2U35h4 (92625) ABA
TRANSFURMER AUDIOFREQUENCY Tl 27/32 X.| EA Y Y N Y ] ™ B 30 94| W
CONT [NUED

28




SECTION 11

th

SMR
cobe

PAF22
PAFLL
PAF22

PAGZZ

PAFLZ

XDFZZ
PAF2Z
XDFZZ

.| XDFZZ

XOFZZ
XDFZZ
XDFZZ
PAF2Z

PAF2Z

(2)

FEDERAL

STOCK
NUMBER

5950-569-0159

5950-569-0163

5805-503-1188

5905-080-6833

5910-814-2691

5910-667-5021

5910-667-5021

TM11-5805-223-34P

w pwf e lm oav oS mant | s0.0av GSmamr | @ | © 0o
oESCRIPTION ary | ALLOWAN ALLOVANGE ' | 1.va |pepor|!LLUSTRATION
UNIT e [ @) | B [ (e | () | (8 | (o) [AURPER MAINE ey T )
QF N EQUIP “Y:o!. FIGURE]| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [MEAS UNIT | 120 | 21-50]51-100) 1-20 | 21-50 51-100jeyvocy| gQuip| NO. | No.
i
CONTINUED
9716 X 1-9/32
SCC€3u36 (80063) aBA
TRANSFORMER, AUDIOFREQUENCY T3 1-3/8 X| EA 1 sl s el el sl e 3] | 13
29/3z X 2-1/8 IN 0/
SCC63038 (800631 aBa
TRANSFORMERs AUDIOFREQUENCY T2 1-11/16 EA 1 e o e | 8| = 3| 9s| T2
X 1-3/8 X 1-3/16 IN O/A
SCC62505 (80063) ABA
CARRIER SUPPLY GROUP NO~REF~DESIGsecsseod| EA i s = s s| e s
ZLTLLLLILZLTTITL (LLRIL) ABA
OSCILLATOR AUDIOFREQUENCY NO-REF-DESIGe..| EA i s s e e s e s| 9
6-13/16 X 9-7/8 X 4-7/16 IN C7A 4000 TO
20 KC IN 4000 CYCLE STEPS
$C062634 {50C63) ABA
CAPACITuRy FIXED, MICA DIELECTRIC  CBe..| EA 1] e ol el s s = 3| 100) «cs
1d9 UUF PORM2PCT 500 VOCW
CHLI5CL31GP3 (81349) ABA
CAPACITOR, FIXEDy MICA OIELECTRIC C605eas| EA 2l s ] s] s 8] = 101 | ceos
360 UUF, PURM2PCT, 500VDCH.
CHL5D36iJN3 (81349) ABA
CAPACITOR, FIXED, MICA DIELECTRIC C627...| EA| REF o wl o e s| = ce2?
360 UUF, PORM2PCT, 500VOCH.
CH15D361JN3 (81349) asa
CAPACITGRs FIXEDs MICA DIELECTRIC C6lbu.o| EA 1 s sl s =) s} s 3| 101 cele
510 UUF PURM2PCT, 500VDCH
CM15D5114K3 (81349) ABA
CAPACITORs FIXED, MICA DIELECTRIC C607...| EA 2| s o] el sl s s 101 coo7
1000 UUF, PORMZPCT, S00VDCW
CH3UCLO2GN3 (81349) ABA
CAPACITORy FIXEDs MICA DIELECTRIC C6l5eee| EA| REF el el o] | e e 10t ce1s
1000 UUF, PORM2PCT, 500V0CH b
CM30CLO2GN3: (81349) aABA
CAPACITURs FIXED, MICA DIELECTRIC C610ees| EA 2l #| e e w] el = 101 cer0
1000 UUFs PORMZPCT, 500 VDCHW
CHIOCL62GN3 (81349) ABA
CAPACITURs FIXEDe MICA DIELECTRIC C625...)| EA| REF * L ® L] ¥ * Ca25
1000 UUF, PORM2PCT, 500 VOCH
CHM30C162GN3 (81349) . ABA
CAPACITORy FIXED, MICA DIELECTRIC C6l3ece| EA 2l o o s «| s » 101 co13
8200 UUF, PORMZPC, 500 VDLW
CHM40L822GN3 (81349) ABA
CAPACITORs FIXED, NICA DIELECTRIC Célécas| EA| REF o el %] &l e c614
8200 UUF, PORK2PC, 500 VDCW
CH6025226N3 (81349) ABA
CAPACKTURs FIXED, MICA DIELECTRIC C624ess| EA 2l el s s e | = 101 co2s
63090 UUF, PORM2PCT, 500 vOCH
CH35C6826N3 (81349) ABA
CAPACITGR, FIXED, PAPER DIELECTRIC C620es| EA 2| s| o = & s =« s| 101] ce20
LUy J0U UUFs PORMLOPCT, LOOVDCH
91P 10491T13 (56289) ABA
CAPACITOR, FIXED, PAPER DIELECTRIC C62l..| EA| REF o & s =] s| e s 621
CONTINUED

29




SECTION |

[8))

SMR
CODE

PAF2Z

PAFLZ

PAFZZ

PAFZZ

PAF2Z

PAFZZ

PAFZZ

XDFZ2

PAFZZ

XDFZZ

PAF22

PAFZZ

PAF2Z

(2)

FEDERAL

STOCK
NUMBER

5910-900-6059

5910-712-6166

5910-712-6166

5910-712-6166

5910-712-6166

5910-351-5751

5910-543-0655

5910-356-0137

5950-351-5560
5950-645-4529

5950-645-8848

TM11-5805-223-34P

3 ™ W] ] ® m ® | @ ae; |

! 30-DAY DS MAINT | 30.DAY GS MAINT , !

| ary ALLOWANCE ALLOWANCE V.YR [DEPQT[ILLUST:. .

: DESCRIPTION PRALI L4 L Stk

w bt Ne | @ | | @ | @ ] ® ] @ / @ |
oF R o P -

REFERENCE NUMBER & MFR. CODE___ USABLE ON CoDg [MEAS| UNIT | 1-20 | 21-5051-100} 1-20 } 21-50 151100, [ygcy! gquip| NG. WO

! v

| CQNTINUED

110,000 UUFs PORHIOPCT, 100VDCH

91P10491T13 {56289) ABA

CAPACITURs FIXEDy MICA DIELECTRIC C623e-.| EA i s el | e e e 101 ce23

10,000 UUF, PORNZPCT, 500 VDCW

CH35CL036N3 (813491 ABA

CAPACITOR, FIXEDs MICA DIELEC “IC C606ee.| EA il =l e] o] s] e e 3| 101 cecs

1600 UUF PURMZPCT

CHIOC162GN3 (81349) ABA

CAPACITGRy FIXEDy MICA DIELECTRIC C60Z2ees| EA s o | s s} 8| e 3| 10t ceo2

10,000 UUF PURHSPCT, 500 VDCHW

CM3I5CLO3JN3 (81349) aBA

CAPACITURy F13=Ds MICA DIELECTRIC (C&06ee.]| EA' REF o o] o] o] & = 3] 101] ceos

10,000 UUF PORHSPCT, 500 VOCH

CH35C103JN3 (81349) A8A

CAPACITUR, FIXED, MICA DIELECTRIC C6l8...| EA| REF o] | o o] o = 3| 01| cels

10900 JUF PORMSPCT, 500 VDCH

CH35CL03JN3 (81349) ABA

CAPACITURe FIXED, HICA DIELECTRIC C6iC...| EA] REF sl o] e e s = 3| 101 ce19

10,000 UUF PGRHSPCT, 500 VDCH

CH35C103JN3 (81349) ABA

CAPACITCR, FIXED, PAPER DIELECTRIC C60l..| EA i e« | e e & = 101} ceor

100,000 UUF, PORM20PCT, 100VOCH.

2IM110484A (32159) ABA

CAPACITOR, FIXED, PAPER DIELECTRIC C603..| EA i sl sl e s] | e 100] coa3

1004000 UUFs PURMLOPCTs 300VCCH,

18191049355 (56289) ABa

CAPACITGR, FIXED, PAPER DIELECTRIC ColT..| EA i e sl sl e s s s| 01| cs1z

150,000 UUF, 300VDCH, PORMLOPCT

91P15493513 156289) ABA

CAPACITURy FIXED, PAPER DIELECTRIC (C622..| EA tf e | s s s o« s| 101 ce2z

180400 UUF, PORMLOPCT 100VDCHW

26K1184D6 132159) ABA

CAPACITORy FIXEGs PAPER DIELECTRIC C609e.| EA 1] ¢ +f = < = = 101] C6G9

220,000 UUFe PGRMIUPCT, 200VDCH

81P22492512 (56269) ABA

CAPACITGRs FiXEDs PAPER DIELECTRIC Colleo! EA i sl e el s w| e 5/ 100| cel1

©70+,U00 UUFy PORM2JPCT, 300VDCH

91P4740356 (56289) ABA

CAPACITUR, FIXED, PAPER DIELECTRIC C608e.| EA 2l s ] sl & 2| = 101 c608

LUF» PURMZUPCT, 3GIVDCw !

BAP84U5-2 (01l40l) ABA

CAPACITURy FIXED, PAPER DIELECTRIC C6l2..| EA| REF s 8 =l = e = 612

1UF, PCRM20PCT, 300VDCH

BAY84US-2 (01401) AB&

COILs RADIOFREGUENCY L604 1.1 OWM DC L.| EA 1l s el el & & = 3! 101] Leoe

X 1-5/32 IN O/

5CC62813 (80UB3) aBa

COILe TELEPHUNE RETARDATION 1603 2 OHM..| EA 1 el s e s e e 3| 101 L603

2C 3/4 X 1-1/16 IN O/A

$CC62810 (80063) ABa

COILs TELEPHONE RETARDATION L602 Bebeeeo| EA 2 © s -] » L) - 3 10! L602

CONTINUED |

30




SECTION |

m

SUR
CODE

PAFZL

PaF12

PAFLL

PAFZZ

PACZZ
PAOZZ

PAOZZ

PA02Z

PAFZZ

PAFZZ

PAF1Z

PAFZZ

PAF2Z

PAFZZ

PAFZZ

PAF2Z

2

FEDERAL
STOCK
NUMBER

5950-645-8843

5950-645-8849

5935-201-7625

5955-556-2175

5960-188-6864

5960-262-1357

5960-262-1357

5960-262-1357

5915-356-2157

5915-356-2158

5915-356-2159

5915-356-2160

5935-681-5690

5935-258-1194

5935-685-9396

6130-356-1702

TM11-5805-223-34P

3 | % (6) | M ®) (Gl (10)
i 30.DAY DS MAINT  30-DAY GS MAINT
‘ DESCRIPTION ; aTY ALLOWAMCE ALLOWANCE 1.YR [DEPOTILLUSTRATION
UNIT) INC | (o) | () | te) | (o) | (B) | (e |ALYPER) MAINT o, T )
OF IN E",'{f., “:o';ig FIGURE| ITEM
REFERENCE NUMBER & MFR. CUDE  USABLE ON cODE [MEAS UNIT | 1-20 | 21-50|51.100) 1-20 | 21-50|51-100}enTecy| gquip| NO- | NO.
i CUNTINUED
|umss DCy 1-1/2 X 1 172 TH Q/A
iISCC62809 (80063) ABA
COIL, TELEPHONE RETARDATIGN L605 B8.4ece..| EA| REF s ¢ = ® ® ® 3| 10| teos
CHMS DCy 1172 X L 1/2 IN C/A
SCC62809 (80063) agaA! : i
CUlL, TELEFHONE RETARDATION (601 52 OHMS ' EA; 1 ® ® * - ® ® 3| 100! Leol
DCy 13716 X 1-9/32 IN QA ;
SCC62808 (u0063) ABA ;
CUNNECTOR; RECEPTACLEs ELECTRICAL P60l... EA| 1 ® ® ® ® - ® 3| 101| P60L:
2l 2-3/32 INe LG X 3/6 IN. W X 29/32 IR. i i )
HO/A (AUYHORIZED ALLOMANCES BASED ON A i i
TOTAL OF 4 i i
©7818595 (71785) ABA |
CKYSTAL UNIT, WUARTZ VY601 16 KC 1-1/2 x| EA 1 = . ® ® . & 2| 100} veolL
3/4 X L1/32 IN O/A )
SCC62805 (80063) ABA
ELECTRUN TUBE V63lescescccccscccsavcscase| EA 1 ® ® ] * s * 100| 100, V601
6670 (81349) ABA
ELECTRUN TUBE V602 (AUTHORIZEDe.coesseee| EA 3 » » * = ® ] 10¢| 100} v602
ALLORANCES BASED Uin A YOTAL OFT7)
655 4~0AKSa (81309} ABA
ELECTRON TUBE V603 (AUTHORIZED.ceeecaeoes EA| REF * ® ® » ® ® 100| 100| v603
|ALLOWANCES BASED ON A TOTAL OFT)
6554-0AKSH (81349) ABA .
ELECTRUN TUBE V605 {AUTHGRIZEDe.eoceessso EA! REF ® * ® ® s = 100/ 103{ veos
ALLUKANCES BASED ON A TOTAL OFT)
6554~6AK54 {81349) ABA
ELECTRUN TUBE VB0keecoscesscseccscococoss| EA 1 s ® s s s ® 100| v604
OB2uWA (81349} ABA
FILTER, BANDPASS NO-REF—DESIG 8000 CPS..| EA 1 . * - ® - ® 3| 100
OPER FREQ ITEM NO. FL6O3
SCC62801 180063) ABA
FILTERs BANDPASS NO-REF-DESIG 12,000 CPS| EA 1 » ® s * & 3
OPER FREQ- ITEM NO. FL6OL
5CC62834 (80063) ABA
FILTER, BANDPASS NO-REF-DESIG 16,000 CPS| EA 1 * x * * . . 3
UPER FREQ. ITEM NO. FL604
SCC 62835 (80063) ABA
FILTER, BANDPASS NO-REF-DESIG 20,000 CPS| EA 1 ® * " P ® » 3
OPER FREQ ITEW NO. FL612
SCCo62636 (80063) ABA
JACKy TiP J6U3 BLUEescescccascassccesces] EA 1 * ® » * ® ] 1| 109! 603
225-6 {3068%) ABA
JACKe TIP J601 (AUTHORIZED ALLOWANCESe...] EA 1 ® ® ® » ® * 1| 100{ J6C1L
BASED UN A TOTAL OF2)
SHB289931-3 (80063) ABA
JACKs TIP J602 WHITE (AUTHORIZEDeeeseoo| EA 1 - * » - . ® 1| 100| sen2
ALLOWANCES BASED UN A TOTAL CF 2)
MS106106-1 (81349) ABA
RECTIFIERs METALLIC CR&0Ls CR502y l-eeeo| EA 2 ® * - . » * 3| 100
lizio X 15716 X /8 IN O/A
SCC62504 (80063) ABA

31




SECTION 1|1

o)

SMR
CODE

PAFIZ
PAF2Z

PAFZL

PAFZZ
PAFZZ
PAFZZ
PAF22
PAFLL

PAFZZ

PAFZL

PAFZZ

PAFIZ

PAFZZ

PAFZZ

PAFIL

(2)

FEDERAL

STOCK
NUMBER

6130-250-2235

5905-279-3521

5905-279-3521

5905-141-0727

5905-141-0727
5905-141-0727

5905-141-0727
5905-279-2593

5905-581-7550

5905-192-3973

5905-195-6800

5905-195-9481

5905-116-8569

5905-116-8569

5905-195-6806

5905-195-6806

5905-279-1757

5905-279-1757

5905-279-1757

b))

(4).

(5)

(6
30-DAY DS MAINT

114)
30-DAY GS MAINT

TM11-5805-223-34P

@

(9)

(10)

ALLOV . ILLUSTRATION
DESCRIPTION ery DRANCE ALLOVANEE v rer VAT

uNITl INC | @) | B | @ | @ [ w [ @ @ | o

oF | W eavte o FIGURE] 1TEM
REFERENCE NUMBER & MPR. CODE  USABLE ON copg [MEAS UNIT | 1-20 | 21.50151-100f 1-20 | 21.50 |51-100lenygey| gquip| NO. | NO.
RECTIFIERs METALL]C CR603¢ CRED%cecoeeee! EA 2 * L ® L [ 100
SCC62839 (680063) ABA
RESISTOKs FIXEDy COMPOSITION R636 15.ee.| EA 2 o | w| =] = 101 Re3s
OHMS PORMSPCT 1/2W
KC2UGFL50J (81349) ABA
KRESISTOR, FIXEDs COMPOSITION R637 15....] EA! REF w| w| ®| &| =] = 3 R637
UHHS PGRMSPCT 1/2d
RCZUGFL504 (81349) ABA
RESISTURy FIXED, COMPOSITION R613ececceee] EA o | w=| w| x| | = 3| 101 R613
RCZUGF2ULY (51349} ABA
RES1STORe FIXEDy COMPOSITION R6l4ececesos| EA| REF s sl s s| | = 3l 100L] Rels
RC2UGF2014 181349) ABA
RESISTURe FIXEDy COMPGSITICN R618e.cceecs| EA| REF s | » | ® = 3| 101| Rre18
RC20GF201¢ (31349) ABA
KESISTURy FIXEDy COMPOSITION R619-ec.cec.! EA| REF s o] e & 8| = 3| 101 Re19
RC20GF20L4 {81349) ABA
RESISTOR, FIXEDy COMPOSITION R654 240see| EA 1 o» x| = s s s 3! 101| R6S4
OHMS, PORKSPCT 1/2M
RC206F241d (81349) ABA
RESISTORy FIXEDs FILM R645 365 OHHSseeee| EA 1 x| =] = % s| = 3| 101| Re4s
PURMSPCT, 1/2W
RN70B3650 (81349) ABA
RESISTORy FIXEDe COMPOSITION R629 470..o| EA 1 | *| s| =] | = 3| 101! Re29
OHNS PGRMSPCT 1/2W
RC20GF471d (B1349) ABA
RESISTOKy FIXEDs COMPOSITION RB26 560...| EA Mosl sl s e 8| = 3| 101] reze
OHMS PURMSPCT 1/2d  (AUTHORIZED '
ALLJWANCES BASED ON A TOTAL OF 2)
RC2UGF5614 (61349) ABA
RESISTLRs FIXED, COMPOSITION R620 750...| EA il e] sl s sl e = 3 R626
CHMS, PURMSPCT, L/2W -
RC20GFT51 181349) ABA
RESISTOR, FIXEDy CUMPOSITICN R610 840.e.| EA 2| = e e| s e = 3! 10t Relo
UHYS, PURMSPCT, L/2w
RN20GFE<1J (81349) ABA
RESISTuky FIXED, CUMPOSITICN R615 820...| EA| REF s s e # = s 3| 101| Rels
UMMSy PURMSPCT, 1/2W
RNCUGFB214 (81349) ABA
RES1STUR, FIXEDs COMPGSITION R622 1,000.| EA 2l =l x| s| | #| = 3] 101 Re22
UHM FORMSPCT L/2d
RC20GFIV2d (81349) ABA
RESISTOKs FIXED, COMPOSITION R655 1,000.| EA| REF o s | sl & = 3| 101 Ress
LHM PGRMSPLT L/2W
RC20GFL02J (81349) ABA
RESISTOR, FIXEDs COMPOSITION R61L 1,500.| EA o | «| = | a| = 3 R61l
OHWS, PURMSPCT, L/2W.
RC20GFL524 (81349) ABA
RESISTOR, FIXEDs CUMPOSITION R612 1+500.] EA| REF « sl = | | = 3 R612
UHMSy PURMSPCT, 1/24.
RC20GFL324 {81349) ABA
RESISTURy FIXEDs COMPOSITICN R616 4s500.| EA| REF o #l e e | 3 R616
UHMS e PURMHPLT, L1/2v.
RC20GF 1524 {81349) ABA

32




SECTION |1

m

SUR
cooe

PAFZZ2

PAFZ2

PAFZZ

PAFZ21

PAFZ1

PAF2L

XDFZZ

PAF11

PAFZL

PAF22

PAF2Z

PAFLZ

PAFZZ

PAFZL

PAFZ22

PAFZZ

@

FEDERAL
STOCK
NUMBER

5905-279-1757

5905-279-1877
5905-279-1877
5905-556-3334
5905-141-1130

5905-141-1130

5905-279-3501
5905-171-2004
5905-550-3345

5905-171-1998

5905-279-2675
5905-279-2675
5905-279-2675
5905-279-2675

5905-254-9201

TM11-5805-223-34P

» W] 6| ® m ® ] ® 10)
' 30.DAY DS MAINT | 30.DAY GS MAINT
OESCRIPTION aTy [ ALLOWANCE ALLOWANCE 1.YR |DEPOY | ILLUSTRATION
UNITL IRE | (@ | () | (o) | (o) | (0) [ (o |ALMPER MAINT 7o) T
OF | N [‘::lp ‘L‘:o'o“ FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [MEAY UNIT | 1-20 | 2150 |51-100] 1-20 | 21-50 151-100leuyecy| gquip| NO. | NO.
RESISTOR, FIXED, CONPOSITIQN R6LT 1,500 | EA| REF s e e & 8 e 3 R6LT
OHAS, PURNSPCT, 1/2We
RC20uFL152J (81349) ABA
RESISTURs FIXEDy FILM R627T 1870 OHMeceoo| EA Mos| s s el s| s 101} R627
PORRLPCT, 1/24
KNTOBLSTLF (81349) ABA
RES15TOks FIXED, COMPOSITION R632 2,430.| EA 2l e ® s =] e s 3| 101 R602
OHMS PCRMSPCT  1/24
RC20GF242J (81349) ABA
RES ISTUke FLAEDy COMPOSITION R606 2,400 EA| REF s| sl &| o] & s 3| 101 Re0s
UHMS PURMSPCT  L/24
RC20GF262J (81349) ABA . ,
RES1STOKy FIXEDs FILM R669 2,610 OHMSsee| EA 1] e =| =] =] e = 3! 101| Ro49
PORMIPCT, 1724
ANTUB261LF (B1349) ABA
WESISTOKs FIXEDy COMPOSITION R625 2700.s| EA 2| | e 2| s 8| = 3| 101 Re2s
UHMS, PURMSPCT, L/2u
RC20GF2724 (81349) ABA
RESISTORe FIXEDy COMPOSITION R626 270J..| EA} REF 1) - s » % s 3 101 ] R&626
GHMS, PORNSPCT, L/2H
RCZUGF2T2J (81349) ABA
RESISTURs FIXEDs FILM R648 4480 OHMS.ceo| EA Lt s w| el e e e R648
PORMLPCT, 4/24
SCC62507-48 {80063} ABA
KESISTOR, FIXED, COMPOSITION R609 16,000 EA 1 x| e e & e = 3 R609
UHMS, PORMSPCT, 1/2W
RC20GFLE35 (81349) ABA
RESISTOR, FIXED, COMPOSITION R621 22,000| EA i e x| sl sl | e 3 R6 2L
OHMS, PORMSPCT, 1/2W
RC20GF2234 (81349) ABA
RESISTORy FIXEDs FILM R650 24,900 OHMSy.| EA 1| e e e | »| e 3 R650
PORMSPCT, 1/2W
RNT0B2492F (81349) ABA
RESISTUR, FIXED, COMPOSITION R643 33,000] EA i e e ® » s} s 3| 101! Ree3
OHMS PORMSPCT 1024 (AUTHORIZED
ALLOWANCES BASED UN A TOTAL OF 3)
RC20GF333J {81349) ABA
RESISTOR, FIXED, COMPOSITION Re642 33,000 EA o sf = =] & 8| e 3l 101 R642
OHMS, PURMSPCT, 172W
RC62GF333J4 (81349) ABA
RESISTOR, FIXEDy COMPOSITION R651 33,000 EA| REF o & e ] s| = 3{ 101 res1
OHMS, PCRMSPCT, 1724
RC42GF333J (81349) ABA
RES ISTGRs FIXED, CUMPOSITION R652 33,600 EA| REF e & =] ol & = 3| 101 Ré52
UHMSy PORMSPCT, 1724
RC42GF3334 (81349) ABA
RESISTOR, FIXED, COMPOSITION R653 33,000 EA| REF o a| s ol =] e 3| 101| es3
OHMS, PORMSPCT, 1/24
RC42GF3334 (813490 4BA
RES ISTORy FIXED, COMPOSITION R60L 47,000| EA 1 | ] =] | | & 3, 101] Reot
OHAS, PUKMSPCT, 1/2W.
RC20GF4734 (81349) ABA




" TM11.5805-223-34P
(2) 3 :
| 30.DAY DS MAINT | 30-DAY.GS MAIN : o '
csEmIpTION. | ary |__ALLOWANCE ~ | ""ALLOWANCE \:YR |DEPOT/|ILLUSTRATION
FEDERAL i UNITI iNE | (@) | ) | (o) | (@ [ (b) | o) |ALMPER MAIRT o,
SMR STOCK oF | 'IN 100 |ALWPRR
cooe NUMBER ‘ EAS UNIT | 120 | 21-50 [s1100] 1.20 | 21.50 |51.100| EQUIP | 100 {FICURE) ITEM
REFERENCE NUMBER & MPR. CODE  USABLE ON CODE : il . -50 (51-100|enyoey| EQUIP| NO. | NO.
PAFZZ | 5905-279-3496 |RES1STORe FIXEDe COMPOSITION R607 51,000 EA 1 s a| &f & ¥ = 3| 101| Rreo7
lonM PURMSPCT 1/2d (AUTHORIZED ALLOBANCES
'BASED ON A TOTAL OF 3)
RC20GFS513J (81349) . ABA
PAFZZ | 5905-195-6761 RESISTORs FIXEDy COMPOSITION R503 100s..| EA & | o e | & = 3| 101/ reos
000 UHNS PORKSPCT 1726 {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 11}
RC20GFLO4J (81349) ABA
PAF22Z KESISTURy FIXED, CUMPOSITION R604 1Q0ses| EA| REF | 8| wl & »l = 3| 101] reos
00U GHMS PORMSPCT 1/2% (AUTHORIZED
|ALLOWANCES BASED ON A TOTAL GF L1}
[RC2UGFLU4J (81349) ABA
P\FZZ | 5905-195-6761 |[RESISTORs FIXED, COMPOSEITION R605 100e..| EA| REF | =] s 8] =] e 3 R605
GUO UHMS PURMSPCT 1/2W (AUTHORIZED
'ALLUMANCES BASED ON A TOTAL QF 11)
'KC2G6FLULJ (81349) ABA!
PAFZZ | 5905-195-6761 W ESISTUKe FIXED, COMPOSITION R608 1004..| EA| REF * * . 3 - ® 3 R608
060 UHMS PURKSPCT 1/2W (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF 11}
RC2CGFLO4J (81349) ABA
PAFZZ | 5905-192-0667 geSISTORe FIKEDs COMPOSITION R623 220,..]| EA 3l e =| | s| @« = 3| 101] Rre23
V00 CHMS, PORMSPCT, 1/2W
RC206F2264 181349) ABA
PAF22 5905-195-0667 RESISTURe FIXEDs COMPOSITION R624 220y..]| EA| REF & * L] » = % 3] 10| R62&
VD UHMS. PORM5PCT, 1724
RC20GF224J (81349) ABA
PAFZZ | 5905-192-0667 gggISTUky FIXEDy COMPOSITION R644 220s..| EA| REF ® ® * ® ® ® 3 R644
200 UHMS, PORMSPCT, L/2W
RC20GF224J {81349) ABA
PAFZZ | 5905-279-2517 @ggqisTURe FIXEDy COMPOSITION R646 390,..]| EA 1] | = & = s = 3 R646
030 UHNS, poansoc:. Ls2v
RC2OGF394J (81349 ABA
PAFZZ | 5955-355-9536 yLgya[NERy CRYSTAL HOLDER NO-REF-DESIG L1-| EA 1 = * | = ® = 3
7/32 X 13/16 X 23/32 IN O/A ITEM NO.
XYoUle
SCB 62715 (800631 ABA
PAFZZ | 5305-356-4309 gcrgw, EXTERNALLY RELIEVED BCDY NO-REF-..| EA 3| el = | #; & = 5
DESIG PAN HEAD, 00382 X 9/64 IN. HD,
REDUCED SHANK 0139 IN X 1-1/4 IN LG
SCBocbo4—1 (60203) ABA
PAFZZ | 5305-297-9102 gep, ., SHUULDER NU-REF-DESIG #4-408 NC-.| EA 2l x; ®] | = o = 5
4A 0,219 IN. LG (AUTH ALLOWANCES BASED
UN A TuTAL OF 10)
5CBocobl-1 (60063) ABA
PADZZ | 5960-686-8119  yyypip, ELECTRON TUBE NO-REF-DESIG 1-3/8| EA 3| s x| | = Y 8
IN LG X U.958 IN. UIA O/A (AUTHORIZED
ALLJWANCE 5 BASED ON A TOTAL CFLO) ! f
TS1UCuOl (8l349) ABA i
X0022 SHiktLus ELECTRUN TUBE NO-REF-DESIG 2-1/4| EA il =] x| x| s s =
INe LG X U.958 INe. DIA O/A (AUTHCRIZED ‘
ALLOWANCES BASED OUN A TOTAL OF6)
TS102Uu3 (81349) ABA | ’
3 4




SECTION 11
m &)

! FEDERAL
SMR STOCK
CooE NUMBER
XD0ZZ l

paF2z | 5935-260-0516

PAFZZ | 5940-280-1728
XDF22
XDF22
XDFZ2Z
XDF2Z
XDF2z

XDFZ2Z

XDFZZ

XDFZZ

TM11-5805-223-34P

{ ] ;
DESCRIPTION

| (5 ' (6)
i 30-DAY DS MAINT

h

i

EUNITt
| | OF |
/REFERENCE NUMBER & MFR. CODE  USABLE O cODE MEAS UNIT.

QTy
INC
IN

ALLOWANCE

)
30.-DAY GS MAINT
ALLOWANCE

SRS

1-20 ; 21-50

(¢)

§1-100

(a)
1.20

® | @

21.50 |51-100

@)

1.YR
ALW PER

100
EQUIP ;
CNTGCY

9

DEPOT
MAINTY

ALW PER

100
EQuiP

(10)

ILLUSTRATION

(o)

FIGURE
NO.

{b) I

ITEM |
NO. |

{SHIELDy ELECTRON TUJE NO~REF-DESIG 1-1/2|
INe 6 X 1.065 INo DIA O/A (AUTHORIZED !
IALLIRANCE S BASED UN 4 TOTAL OFS) ~
TS103U01 (u1349) aBa
SOCKET, ELECTRON TUBE 601 1-~3/16 IN. X.
1,035 IN & X 1-13/32 IN. LG O/A ,
(AUTHORIZED ALLOW BASED ON A TOTAL OFS) |
TSLU3POL (81349) AdA |
SOCKET, ELECTRUN TUBE XV607 XV603 XV60éy. !
XV605 i-3/15 IN He X 0.800 IN W X 1-1/8 IN
LG O/A (AUTHORIZED ALLOWANCES BASED ON A |
TOTAL OF 20} i
TSLUZPUL (81349) aBA .
TERMINAL, FEED-THRU, INSULATED E608 7/8.
INe L6 X 11732 INe W X 5/16 INs Hy, O/A
(AUTH ALLOWANCES BASED ON A TCTAL OF 5)
FT5 (81312) ABA
TERKINAL STUD E60L 7/8 IN LG X 1/4 INees
ACRUSS HEX FLATS (AUTHGRIZED ALLOWANCES
dASED uN A TOTAL OF 72)

9101458 (90348) ABA
TERMINAL STUD €602 7/8 IN LG X L/4 INees
ACRL>> HEX FLATS (AUTHORIZEC ALLOWANCES
BASED GN A TOTAL OF 72)

91uL458 (90348) ABa
TERMINAL STUD E603 7/8 IN LG X 1/4 INeos
ACRUSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED UN A TUTAL OF 722

9101450 (90348) ABA
TERMINAL STUD E6U4 T7/8 IN LG X L/4 INeeo
ACRULSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF 72)

9LUL45d (90348) ABA
TERMINAL STUD E605 7/8 IN LG X 1/4 INeoo
‘ACRUSS HEX FLATS (AUTHORIZEC ALLOWANCES
{BASED ON A TOTAL OF 72)

91054538 (90348) ABA
ITERMINAL STUD E606 17/8 IN LG X 1/+ INeceo
IACRUSS HEX FLATS (AUTHORIZED ALLOWANCES
‘8ASED GN A TUTAL OF T2)

9101456 70348} ABA
TERMINAL STUD E607 7/8 IN LG X 1/4 [Nees
ACRLSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF 72)

9101458 (90348) ABA
TERMANAL <TUD E609 7/8 IN LG X 1/4 IN.o.
ACRLS> HEX FLATS (AUTHORIZED ALLOMANCES
BASED ON A TOTAL OF 72)

9101458 (90348) 4Ba
TERMINAL STUD E610 7/8 IN LG X 1/4 INeoo
ACRLSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)

9101458 (40348) ABA

35

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

23

REF

REF

REF

REF

REF

REF

REF

*

&

L g L g

10

i
E508 '
E60L

E602

€603

€606 |

Fo05

€606
E607 |

£609|



SECTION I

SMR
CODE

FEDERAL
STOCK
NUMBER

XDF22

XDFZZ

XOF2Z

(©)

DESCRIPTION

REFERENCE NUMBER & MFR. CODE USABLE ON CODE MEAS

TERMINAL STUD E611 7/8 IN LG X 1/4 IN..
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF 72)

9101458 (90348) ABA
TERMINAL STUD E612 7/8 IN LG X 1/4 AN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (94348) ABA
TERMINAL STUD E613 7/8 IN LG X 1/4 IN..
ACROSS HEX FLATS AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)

9101458 (90348) ABA

TERMINAL STUD E614 18 IN LG X 1/4 IN..
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)

9101458 (90348) ABA
TERMINAL STUD E615 7/8 IN LG X 14 IN..
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E616 7/8 IN LG X 14 IN..
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)

9101458 (90348) ABA
TERMINAL STUD E617 7/8 IN LG X 14 |IN..
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E618 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E619 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E620 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E621 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E622 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

9101458 (90348) ABA
TERMINAL STUD E624 7/8 IN LG X 1/4 IN...
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL Of 72)

19101458 (90348) ABA

36

TM11-5805-223-34P

wi @ 30-DA;(I‘))SMAINT so-mv%’sumr ® ® (o
| atY ALLOWANCE ALLOWANCE 1-.YR |DEPOT|ILLUSTRATION
I ICH O N I T Ayl @ [ w
UNIT | 1-20 | 21:50(51-100( 120 | 21.50 51-100| STty | eap FIGURE| 1Teu
EA| REF L] 1 ® . ' s E6ll
EA| REF ® L] L] L ® ® E6L2
EA| REF ® ® s = s @ E6l3
EA| REF L] » L] ] @ 1] €614
EA| REF ® s = ] s = €615
EA| REF s ® ® s s E616
EA| REF . ® ] ® = ® E617
EA| REF s e s s s = €618
EA| REF ] s ® s s . E619
EA| REF » * ® ® e = £620
EA| REF s & s s s ® €621
EA' REF ® ] ] ] ] © €622
EA| REF ® * . s | = E624




SECTION 11

m

SMR
CODE

PAF2L

PAFLZ

PAF22

PAF22

PAF22

PAF22

PAF22

PAFZ2

PAFZ2

PAFZL.

@

FEDERAL
STOCK
NUMBER

5940-542-8158

5950-648-2538

5950-645-4752

5950-645-4752

5950-645-4752

5950-645-4752

5950-645-6371

5950-681-2366

5950-681-2366

5950-681-2366

TM11-5805-223-34p

37

@ @O oar'es uamt | s0.0ay'sbuamr | O | @ "o
- - MA
DESCRIPTION QTy | ALLOWANCE ALLOVANCE 1.YR |DEPOT | 'LLUSTRATION!
UNITL e [t [ 8 [ (o | (0 | ) [ (o [ALRER BART e T
oOF | In aue | oo IFiGuRe| 1TEM
REFERENCE NUMBER & MPR. CODE  USABLE ON CODE [MEAY UNIT ' 1.20 | 21.50/51-100| 1.20 | 21-50 |51-100 |cyvecy| gquip| NO. | NO.
TERMINAL STUD E625 /8 IN LG X 174 INeeo| EA| ReF s o e o s e €625
ACKDSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 {9u348) ABA
TERMINAL STUD €623 1-3/32 IN. LG X L/4ee| EA 1l o e =l & =] = 1 E623
IN. ACRUSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED GN A TOTAL CFLT)
2U35A4 (928251 aBA
TRANSFURNER, AUDIQ FREQUENCY T80T LINEe.| EA 1 sl sl 2l el e e 3 Teo?
TYPE, 33.75 OHM Bals 135 GWM SEC, 1~2TURNS ( ;
KATI0, BKC-120KC, L=-8/3 X 27/32 X 9/16 iN ;
osa i
SCU62807 {80G63} ABA i
TRANSFORMERs AUDIO FREGUENCY T608 LINEes| EA of sl s e 2! e e 3| 100| T608!
TYPE 135 UHM PRI, 60 OHM SEC l.3-1 TURN
KATIOs 3UU-20KC RANGEs 1-972 X 11/i6 X9/16
INe O/A |
SCI64523 180063) ABA i 1
TRANSFORMER, AUDIO FREQUENCY T609 LINE..| EA| REF o i & o u| e 3/ 100 1609
TYPE 135 OMH PRI, 60 OHH SEC l.3-1 TURN
RATIO, 3UU-20KC RANGEs 1-972 X L1/16 X9/16
IN. O/A :
$C062523 1800631 ABA [
TRANSFURMER, AUDIO FREQUENCY T610 UINEe.| EA| REF s | e o & o 3/ 100 Telo
TYPE 135 GHM PRI, 60 OHM SEC 1.3-1 TURN !
RATIO, 30G-20KC RANGE L-9/2 X 11/16 X9/16 i
IN. Q/A
$CJ62523 (30063) ABA
TRANSFORMERs AUDIO FREQUENCY T611 LINE..| EA| REF o | & & = = 3/ 100| Tell
TYPE 135 OHM PRI, 60 OHM SEC l.3-1 TURN
RATIO, 300-20M" RANGE, 1-972 X 11/16 X9/16
INe O/A
5C062523 180063) ABA
TRANSFORMER, AUDIGFREQUENCY T602 INPUT..| EA 1 s =] =] ] | e 3| 100| 7602
TYPE, PRLIUO OHMS, SEC 204500 OHHS 1-8.2
TURNS, 4KC—-64KC RANGE, 1-9/32 X 27/32 X
9716 IN O/A
SC062806 (80063) ABA
TRANSFORMER, AUDIO FREQUENCY T604 PLATE.| EA 3| x| x| e = | = 3, 100| T604
CUGPLING TYPE 120,000 OHMS PRI THD300
OHM SEC 30 TO L TURNS RATIO 1-3/16 IN.
L6 X1 INe W X 1-1/2 IN. H
3CJ62811 (80063) ABA
TRANSFURMERs AUDEG FREQUENCY T605 PLATE.| EA| REF « o 2| s = = 3| 10¢| Te0s
|coupLing TYPE 120,000 OHMS PRI THO300
OHM SEC 30 TO 3 TURNS RATIO 1-3/16 IN.
LG X L IN< W X 1-1/2 IN. H
SCJ62811 (80063} ABA
TRANSFORNER, AUDIC FREQUENCY T606 PLATE.| EA| REF x| o = =l ¢ = 3| 1o0| Ts06
CQUPLING TYPE 120,000 OHMS PRI THO300
OHM SEC 30 TO 1 TURNS RATIO 1-3/16 iN.
L6 X & INe W X 1-1/2 INe H
SC262811 (80063) ABA




SECTION 11

(3]

SUMR
CODE

PAFZZ

PAFLZ

PAFZ2

PAF2Z

PAFZZ

PAFL2Z

PAFZ2

PAF22

PAFZ2

PAFZ2

PAFZ1

@

FEDERAL
STOCK
NUMBER

5950-625-0511

5805-503-3357

5910-762-2945

5910-543-0656

5910-553-5226

5910-666-8222

5910-823-1256

5910-823-1256

5910-823-1256

TM11-5805-223-34P

@ W1 9 o oarosuamt | 30.0av'csuamr | 2| ® (o
DESCRIPTION QTY ALLOWANCE ALLOWANCE 1.YR |pEPOT | ILLUSTRATION
unith e [ @ 1 @ [ @ | @ [ o [ @ [AYPER MAINT ) T )
- OF | I EQUIP | 100 |FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON cOpg [WEAY| UNIT | 1:20 | 21-50(51.100] 120 | 21-5051-100|cyyecy| gquip| NO. | NO.
JRANSFORKER, AUDIQ FREQUENCY T601 PLATE.| EA 2l 8| s & & & 3| 100] 601
COUPLING TYPE 120,000 OHHS PRI 300AND !
300 OHNS SEC 1-1/2 IN d X 1-3/16 INe LG X
1IN w
SCC62812 (80063) ABa
TRANSFURNER, AUDIO FREQUENCY T603 PLATE.| EA| REF s o | o 8| » 3| 100| 1603
COUPLING TYPE 120,000 GHWS PRI 300AND
300 OHHS SEC 1-1/2 IN H X 1-3/16 IN. 46 X
1 IN. #
SCC62612 (80063) AdA
TRANSHI TTER-RECEIVING LINE AMPLIFIERcescee| EA 2l o] | s s| e =
GROUPARBOL, ARS8 NO-REF-DESIG RCVG AMPL
1DENT TO XMTG AMPL,UNITS INTCHG,QTYS IN
USE SAME FGR BOTH UNITS,THEREFORE ONLY ONE
UNIT LISTED, BUT ALL QTYS DGUBLEOTO COVER
8
2242242022 TLTLT (L2LL2)D ABA
AMPLIFIER, AUDIO FREQUENCY  ARBOL ARBOZ..| EA 2l el sl s e &' » 5| 102
INTERCHANGEABLE TRANSKWIT AND RECEIVE LINE
ANPLIFIERS 6.3 VAC 60CPS 200VDC 5-1/8 X
4~172 X 4=3/% O/A.
$C062632 (80063) 484
CAPACITOR, FIXED, MICA DIELECTRIC  CS5Seeo| EA 2l o] s & ] o] s t03| css
33UUF, PURMSPCT, SOOVDCH
CHL5C360JN3 (81349) ABA
CAPACiTORs FIXED, MICA DISLECYRIC  Ciles.| EA 2] e} & el el e = 3! 103] cer
«TOUUF, PCRM2PCT, 500VDCK
CM2OD4TLINS (B1349) a8a
CAPACITUR, FiXED, MICA DIELECTRIC C52...| EA 2l e o] e} e o = 103| cs2
2200 UUFs PORMSPCT, 500VDCHW
CHI00222IN3 (81349) ABA
CAPACITOR, FIXED, PAPER DIELECTRIC C65..| EA 2|l | e | | =] 5| 103 ces
470000 UUFs PURMLOPCT, 200VDCH
2TK2574D 132159) ABA
CAPAC1TUKs F1XED, PAPER DIELECTRIC C57..| EA 2l = & & | e = 5| 103 cs7
47,000 UJF, PGRM20PCT, 300 VLCW
26H3473E (32159) 48BA
CAPACITORs FIXED, PAPER DIELECTRIC CS5ée.| EA 2| = o | e & = 102| cs4
1505000 UUF, PORMZUPCT, 300VOCH
25M5154AAA (32159) ABA
CAPACITUK, FIXEDs PAPER DIELECTRIC CS5l..| EA 2l el o ! | = = 5/ 102| cs51
270,060 UUF, PIRMIOPCT, L0OVDCH
26K1276AAAG (32159) ABA
CAPACITGRs FIXEDs PAPER DIELECTRIC  CSbe.| EA 6f ¢ * o s sl = 5| 102 cs6
«70,000 UUF, PCRM20PCT, 400VOCH
25Me4TALA (32159) ABA
CAPACITGRy FIXKEDs, PAPER DIELECTRIC C58..| EA| REF s e | e s s 5| 102| cs8
©73,00) UUF, PCRK20PCT, 400VOCH
25MaaTAAA (32159) ABS
CAPACITURs FIXED, PAPER DIELECTRIC CéU..| EA| REF el e e = e = 5 ce0
470,009 UUF, PGRM2JPCT, %0OVCCH
25Me6TALA 132159} ABA

38




SECTION
()]

SR
CODE

XDF2Z

PAFZZ

PADLL

fAOZZ
PAFLZ
PAFZL

PAF2Z

PAF11

XDF2Z

PAF2Z

XDFZZ

(2)

FEDERAL

STOCK

NUMBER

5935-201-7625

5960-262-1357

5960-669-6861
5950-648-1689

5905-104-5755

5905-192-4490

5905-192-4490

5905-104-8350

TM11-5805-223-34P

® Wl o 30.04Y 05 MAINT | 30.0ay chwamy | O | ™ (o
DESCRIPTION oty ALLOWANCE ALLOWANCE 1.YR |pgpoT|ILLUSTRATION
uNITl ne @ | B [ e [ e [ ) [ [ARER AT @ T w
s it | 1.20 | 20.500s1.100] 120 | 21505 caure [ Tog- (Ficue| 1Tew

REFERENCE NUMBER & MPR. CODE __ USABLE ON CODE unIT |- -5011-100) 1-20 | 21-50 151100 cuyeey| eQuip| NO- | NO.
CAPACITGR, FIXED, PAPER, DIELECTRIC  CS53.| EA o o e o 8 s e 102] cs3
1uF, PURKIGPCT, 10QYOCH
CPLIAJEBLUSK (81349) 48A
CAPACITGR, FIXED, PAPER, DIELECTRIC C59.| EA| REF ol ol e =] e e 102 ¢59
1UF, PORN10PCT, 100VDCH
CPLLABEBLUSK {81349) aBaA
CAPACIFUR, FIXED, PAPER, DIELECTRIC C62., EA ol | | # s s = 102 ce2
SLPLOSILTS 156289) ABA
CAPACITOR, FIXED, PAPER, DIELECTRIC C63.| EA| REF sl 8| s ] = = 102| ce3
8LP10S9LTS (56289) ABA
CAPACITOR, FIXED, PAPER: DIELECTRIC  Cé&.| EA| REF o] s| o 8| s = 102| ces
51P10591T5 (56289} ABA
CONNECTORy RECEPTAGLE, ELECTRICAL  PS5lee.| EA 2l el s s & & 3| 103| eps2
2L 2-3/32 INe LG X 3/4 INe W X 29/32 IN.
HO/A (AUTHORIZED ALLOWANCES EASED ON A
TUTAL OF )
«T818599 (717851 ABA |
ELECTRUN TUBE V51 (AUTHORIZEDeeeoeeeceos| EA 2] #| s sl | | = 100] 102| vs2
ALLIWANCES BASED ON A TOTAL OFT)
565 4~6AKS5u (81349) ABA
ELECTRUN TUBE  V52eseccssssevecssccccncae! EA 2| wl s sl & & = 100 vs2
5005-6AQ5d (81349} ABA
REACTOR  L5L AF CHOKEs 3¢5 HY eeecececes| EA o s o s s = 2| 102] s
SCC625GC (80063) ABA
RESISTURy FIXED, COMPGSITION RT2 10eeoo| EA 2| =l | s s 8] = 3| 103 R3z2
OHHSy PORMSPCT, L/2u
RC2CGFLU0J (B81349) ABA
RESISTORy FIXED, COMPOSITION RS2 33....| EA o o o o e o e 3| 103 Rs2
GHMS PGRNSPCT 1/24 {AUTHORIZED
ALLOMANCES BASED UN A TOTAL OF 5)
RC20GF330J {81349) ABA
RESISTOR, FIXEDs COMPOSITION R63 33....! EA| REF s e = s s 3 R63
UHAS PGRMSFCT 1724 (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 5)
RC206F3304 {81349) ABA
RESISTOR, FIXEDs FILH R69 56+2 OHNSsees| EA 2l el o« sl e & = 103| R69
PURMLIPCT 4/2W (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 3)
KNTOBS6R2F (B1349) ABA
RESISTOR, FIXEDs FILM R67T 135 OHMSseeo.| EA 2| #| e el o ¢ o 103| ®Re7
PORMIPCT, 1/2W
$CC62507-12 (800631 ABA
RESISTOR, FIXEDy FILM R66 215 OHMSeeaee| EA 2| o #| e = s = 103| Reée
PORMIPCT 1/2 W (AUTHORIZED ALLOWANCES
BASED ON A TQTAL OF 3)
KNTOB2L50F (81349} ABA
RESISTUR, FIXEDy COMPOSITION RS3 200e..| EA 2l | ] s s| s = 3] 103| Rrs3
UHMS, PURMSPCT, 1/2H
RC20GF2214 (81349) ABA
RESISTUR, FIXEDy COMPOSITION R64 27Ces.| EA 2l e o« w| | & w R66
GHMS, PURMSPCT, L
RC3IZGF2T1J (81349) ABA

39




SECTION |

m

SMR
CODE

XDFZ2

XDFZ2Z

PAF12

XDF22

- |PAFI

PAF21

XDFZZ

PAF2Z

PAFZZ

XDFZZ

PAF1Z

PAF21

PAFZZ

XDF22Z

PAFLZ

PAF22

(2)

FEDERAL
STOCK
NUMBER

5905-192-3973

5905-104-8348

5905-244-8258

5905-141-1165

5905-185-8510

5905-556-3333

5905-195-6761

5905-195-6761

5305-356-4309

5305-297-9102

1M11-5805-223-34P

[t)) @] 8 ® ) ® ] ® (10)
30-DAY DS MAINT | 30-DAY GS MAINT
DESCRIPTION ary ALLOWANCE ALLOWANCE 1.YR [DEPOT|ILLUSTRATION
UNIT| INC | (@) | ) | (o) | (o) | (b | (o) |ALM PER)MAINT =m0y
OF | IN equip | 100 |FIGURE| 1TEM

REFERENCE NUMBER & MPR. CODE  USABLE ON CODE [VEAY UNIT | 1:20 | 21.50]51-100) 1-20 | 2150 51-10C|eyrecy| gquip| NO. | NO.
PoRKIPCT’ L/2 0 TAUTworIZeD Aciosances t| EAL L *| *) %) *| | * 103| Res
BASED ON 4 TOTAL OF 6).
RNTOB3010F (81349} ABA
RESISTUKs FIXEDs CORPQSITION R70 383ece| Em 2| & | &] s| | e 103] R70
OHHS PGRHIPCT 1/2 W {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 3)
RNT0B3430F (81349) ABA
RESISTORy FIXEDy COMPOSITION R61 470ecs| EA 2 ¥ * s » ] ® 3 103 A6l
UHNS 5PCT 1s2w (AUTHORIZED ALLOWANCES
8.SED UN A TOTAL OF 5)
RC20GF4714 (81349) ABA
KESISTORs FIXED, FILN RS& 1100 OHMSseeo| EA 2| | e & | e = 103] RSe
PORMIPCT, Ll2¥
£0C42507-41 130063) ABA
RESI5I0ks FIAED, COMPOSITION R56 3,300.] €A 2| #| e« 2| e | = 3] 103{ Rrse
OEMS CORMSPET L/2W
RC20CF3324 (8i349) ABA
RESISIORe FIXEDs COMPOSITION R65 3300..| EA 2 s x| & 8| | = 3| 103| Res
GHMS, POR™SPCT, 18
RC326G53324 (81349) ABA
RESISTORy FiXEDe FILM  RSS 4680 OHMSsee.| EA 2| o o & e o « 103| &ss
PGRMZPCT, 1/2W
SCC82507-48 (30063) ABA
RESISTOK, FIXED, COMPOSITION R71 6800e.| EA 2 s| e e e e = 3] 103| RTL
GHMS, PCRMSPCT, 1/24
RC20GF68LF {61349) ABA
RESISTCR, FIXED, COMPOSITION RST 10,000] €A 2l & s| el & e e 3| 103] Rrs?
orM Sy PORMSPCT, L/72W
RC20GFI034 (81349) ABA
RESISTOK, FIXEGs COMPOSITION RS58 22,000| EA 2l e =] = 8] e e 103 RSB
OHNS, PURMSPCT, 1/24
RC32FF2234 (81345) ABA
RESISTORs FIXEDs FILM RS9 22,100 OHMSes| €A 2| o | & ef s = 3| 103] rse
PGRMLPCT, L/2W
RKN7UB2e i2F (81349) ABA
RESISTURs FIXEDs COMPGSITION R60 100s..| EA of w| | o of & = 3| 103 Rew
Ouo OHMS PLRMSPCT 1/2w (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF 11)
RC2COFLU4JS (B1349) ABA
RESISTUK, FIXEDe COMPOSITION R62 100s..| tA| REF o s e sl w® s 3l 103, Re2
0J0 LUHMS PORMSPLT L1/2M (AUTHORIZED
ALLURANCES BASED ON A TOTAL CF 11)
RC2CuFLO4J (81349) ABA !
RESISTUK, FIXEDs FILM R51 121,000 QHMS,| EA 2| 2 s = el = 103| Rrs1
PURMLIPLT, i/24
KNTOBLZ13F (81349) A8A
SCReme EXTERNALLY RELIEVED BODY NO-REF-..| EA o s ol e &l & = 5
DESIG
SCB62664-1 (80063) ABA
SCREWe SHGULDER NO-REF-DESIG 84~408 NC-o| EA o #| e | =] = = 5 9
ZA 0e21Y INe LG {(AUTH ALLOWANCES BASED

CONT INUED

40




SECTION
Mm

SMR
cobe

PADZZ

PAD2Z

PAFLZ

PAF22

PAFZL

XDF22

XDFZZ

XDF2Z

XDF22

XDF22

XDF2Z

I
@

FEDERAL
sTOCK
NUMBER

5950-379-9541

5960-676-8119

5935-260-0516

5935-173-8363

5940-280-1728

TM.11-5805-223-34P
@ I vy oarcomamr | & | @ (o
DESCRIPTION QTy | ALLOWANCE ALLOWANCE 1.YR {DEPOT|ILLUSTRATION
UNITE INC | (o) | ) [ (o) | te) | (b0 | o) [ALWPER MAINT oy T
OF N El:uﬂ" “-Y(;!. FIGURE| ITEM
REFERENCE NUMBER & MPR. CODE  USABLE ON cope [MEAS| UNIT | 1-20 | 21-50|51.100| 1-20 | 2150 |51-100/cygey| gquip| NO. | NO.
N T

CUNTINVED '
OGN A TGTAL GF 10) :
SCBezenl~1 (80063) ABA
SHIELDs CUIL  E60 2-1/8 IN. LG X 1-7/16.| EA 2| #| | = s & e 2| 15| €esd
INe W X 15/16 INe D
SCC62837 (61349) ABA
SHIELD, ELECTRON TUBE NO-REF-DESIG 2-1/4) EA 2| s e} e s s} = 15
Ihe L6 X 0.958 IN. DIA 0/A (AUTHORIZED
ALLUWANCES BASED GN A TOTAL CF6) i
TS102U03 (B1349) ABA ! i
SHitLUs ELECTRUN TUBE NO-REF-DESIG 1-3/8| EA 2 o e 8 e ® = 8] 15 !
In LG X 0.558 INe UIA G/A (AUTHORIZED :
ALLUWANCES BASED ON A TOTAL CF10) g
TS10200L (61349} ABA
SOCKRET, ELECTRON TUBE XVS1 XV52 1-3/16 iN| EA o o o o e | = 3l 103 :
Hy X 0,400 IN W X 1-1/8 IN LG O/A {
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF !
20)
TS102PUL 161369) ABA
SWITCH, LEVER  S51 1-7/8 X 1-1/16 X A-e.| EA 2| o] e | s ef = s| 103 ss1
3/32 INy O/A
5CC62825 (80063) ABA
TEAMINAL, FEED-THRU, INSULATED ESi 7/8.] EA 2| e | = = | = 1| 152| es
[INe LG X 11732 INe ¥ X 5/16 INe Hy O/A
(AUTH ALLOWANCES BASED CN A TGTAL OF 5)
FT5 (81312) ABA
TERKINAL, STUD E52 178 IN LG X 1/4 INeo| E&| 16| o »| | ol & o ESZ
ACRGSS HEX FLATS ({AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS202 (9C348) ABA
TERMINAL, STUD ES53 178 IN LG X 174 IN..| EA| REF s | s s & = ES53
ACRCSS HEX FLATS [AUTHORIZED ALLOMANCES
BASED ON A TDTAL OF72)
EPS262 190348) ABA :
TERMINALe STUD ES4 178 IN LG X 1/4 INe.| EA| REF o o | 8| s = €54
ACRGSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED ON A TOTAL OF72)
EPS262 19u348) ABA
TERMINAL, STUD E55 1/8 IN LG X 1/4 INe.| EA| REF T Y S Y Y S5
ACRCSS HEX FLATS (AUTHORIZED ALLOWANGES
BASED UN A TOTAL OF72)
€PS262 (90348} ABA
TERMINAL, STUD €56 1/8 IN LG X 1/& INeo| EA| REF s | e s e = E56
ACRGSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED GN A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL: STUD E58 1/8 IN LG X 1/4 INeo| EA| REF of o] & e e e S8
ACRUSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED GN A TOTAL OF72)
EPS262 (90348) ABA
TERMINAL, STUD E59 1/8 IN LG X 1/4 IN..| EA| REF o s »| | s = €59
ACRULSS HEX FLATS [AUTHORIZED ALLOWANCES

CONTINUED

41




SECTION

(n

SMR
CODE

PAFZ2

PAF12

PAF22

PAFIZ

XDF2Z

XDFZ2Z

PAFZ2

PAF22

PAFZ2

XDFZZ

PAFZZ

PAFZL

@

FEDERAL
STOCK
NUMBER

5940-542-8185

5950-648-2303

5950-648-2307

5950-645-6404

5905-195-6806

5905-279-3521

5905-104-8345

5905-192-3973

5905-195-6791

TM11-5805-223-34P

™ @] ® ® m ® | ® 0o
30-DAY DS MAINT | 30-DAY GS MAINT
QrTy ALLOWANCE ALLOYA..CE 1.YR |DEPOT| ILLUSTRATION
DESCRIPTION ALW PER| MAINT
vairl e @ [ [ @] @] o [ @ [N NI @ [ @
OF IN EQUIP “¥M!. FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [MEAS] UNIT | 1-20 | 21-50/5)-100| 120 | 21-50 (51-100|cyyecy| gquip| NO. | WO.
CONTINUED
BASED ON A TOTAL OFT )
EPS202 (90348) ABA
TERMINAL STUD EST 1-3/32 IN LG X 1/4 IN| EA 2| o] = o o » 1 Es?
ACRGSS HEX FLAT
2L35A4 (92825) ABA
TRANSFORMER, AUDIO FREQUENCY TS1 INPUT.| EA 2l w] e e o] & = 3| 02| s
TYPE PRI, 600 OHMS IN PARALLEL OR 2400
OHMs IN SERIES SECD 120000 CHHS 1 TOT.07
TURNS RATIO, 1-378 X 29/32 X 2 O/A.
SCD62816 (80063) ABA
TRANSFURMER, AUDIO FREQUENCY T52 PLATE.| EA 2| o e] sl & & = 3 152
COUPLINGs PRI. 6000 OHHS, SEC VTAPPEDFOR
150 AND 600 OHMS 2.76 TO 1 TURNS RATIO,
1-25/32 X 1-13/32 X 2-15/16 IN O/A.
$C062816 (80063) aBA
TRANSFORMER, AUDIO FREQUENCY T53 1-5/16] EA 2| e s e s e = 3 153
X 11716 X 9/16 IN 0/A. (A/A BASED ON A
TOTAL GF 8)
SCU62524 (80063) 282
RESISTORy FIXED, COMPOSITION R210 FORe..| EA of s| o s e = 89| R210
FASRICATING ATTENUATION PADS
KCZUGFLOLJ {81349) A88
RESISTOR, FYXEC, COMPOSITION R211 FOR...| EA| REF s| | s & e = R211
FABKICATING A iTENUATION PADS
RCZUGFAOLY 181349) ABB
RESISTUR, FIXED, COMPOSITION R212 FORe..| EA| REF s | & e & e R212
FABRICATING ATTENUATION PADS
RCZUGFL0LS (81349} ass
RESISTURe FIXEDe CUMPOSITION R213 FOR...| EA| REF | »| e =] u = R213
FAJRICATING ATTENUATION PADS
RC2GGFLOLJ (81349) 488
RESISTOR, FIAEG, COMPOSITION NO-REF-DESIG| EA 1 el e e | e = 3
1,000 UHM FORMSPCT L/2W FOR FABRICATING
ATTENUATION PADS
RC2OGFLO2J (81349) A88
RESISTCRy FIXEDy CCGMPOSITION R636 15.e..| EA 1 e e ] | s e 3| 101| Re3e
GHHS PRXMSPCT L/2W FOK FABRICAT ING
KC2uGFL50d (81349) A8
AESISTOR, FIXEDy COMPOSITION R69 FOReeo| EA 2l el e | & & e 3| 103| rew
FAJRICATING RESISTIVE NETWORKS
RC20GF5604 (81349) A88
RESISTOR, FIXEDy COMPOSITION R80L FORe..| EA i s sl s | ] s 89| Reo1
FASRICATiNG RESISTIVE NETHORKS
RC2UGFLOLJ (81349) AbS
RESISTUR, FIXEDy COMPOSITION R620 470.eo| EA ) e | s e %] e 3/ 101 R620
UHMS 9PCT 172w (AUTHGRIZED ALLOMANCES
BASED UN A TUTAL OF 5) FOR FABRICATING
RESISTIVE NETWOKKS
RC2UGF4TLJ (81349) ABB
RESISTuRe FIXED, COMPOSITIGN R142 680s..| EA Los| e s e e s 3| 87| R142
OHMS PUKMSPCT 1/2W FOk FABRICATING
CONT INUED




SECTION I

m

SMR
cooe

PAF21

PAFLZ

PAOZ2

PAFZ2

PAFLZ

PAOZL

PAD22

PAFZ1

PADZZ

PAQLZ

PAFZZ

PAFZ2

PAOZLZ

PAFIL

(2)

FEDERAL

STOCK
NUMBER

5905-104-8348

5905-195-6453

5995-062-5996

5995-504-7575

5995-295-8178

5995-296-1484

5805-553-1710

5340-205-5159

5940-823-0213

5805-392-5692

5340-355-9839

5805-392-6423

5340-276-7585

TM11-5805-223-34P

o WL aoar'ds wamt | woarouamr | @[ o
- - MA
DESCRIPTION oTy | ALLOWANCE ALLOWANCE 1.YR |pEpoy | ILLUSTRATION
unitl e [ @ | ® ] @ ] @ ] o [ o [t e @ | ®
OF (1]
EQUIP 100 |FIGURE| ITEM !
REPERENCE NUMDER & MFR. CODE  USABLE ON CODE [MEA% UNIT | 1-20 | 21-50/51-100) 1-20 | 21-5051-100/cuvecy| gquip| NO. | MO. |
CONTINUED
RESISTIVE NETMORKS
AC206F681J (81349} 88
RESISTORs FIXED, COMPOSITION RS6 3,300.) EA| L[ | | ¢ & | = 3| 103| rse
OMMS PORMSPCT 1/2¢  FGR
FAIRICATINGRESISTIVE NETHORKS
IRC20GF 3324 (81349) a8
RESISTORs FINED, COMPCSITION R438 5,600.| EAl 1| | «| & # | = 3| 93| re3s
ONMS, POANSPCT 1720  FOR
FABRICATINGRESISTIVE NETWORKS
HC2UGF5024 181349) as8
CASLE ASSEMBLY POWER ELECTRICAL NO-REF=..| EA. 1| *| | ®| e & = si| n
DeSIG 2 COND STRANDED S16AWG
SCCocT12 (80063) a88
CASLE ASSEMBLYs SPECIAL PURPCSEvecceseenss| EA[ 1| #| o] s/ o | o s| 11| ssos
ELELTRICAL WBUL 13 CUND 3FT 2 IN LG
/4
SCC62646 (80063 488
CASLE ASSEMBLYs SPECIAL PURPCSEseeecceccas| EA| L] ®| ®| & of | & s| 13| wor
ELECTRICAL W9OL 13 COND 3 FT LG O/A
SCCol6eT (£0063) as8
CABLEs ASSEMBLYs SPECIAL PURPOSEsccccesess| EA| L[ ®/ ®| &/ #| o & s| 18
ELECTRICAL NO-REF-DESIG 21CCNDs 1FT 3-
/81N LG 0/A
$CI67175 180063) ABB
CASE, PUMER SUPPLY NO-REF~DESIG 20-5/8..| EA| 1| o/ =/ ol s s 2| 10
IN LG X L7-5/16 IN W X 17-3/16 IN W O/A
/0 COVER
SCCo2844 (80063) as8
CATCHs LUGGAGE NO-REF-DESIG 24185 Xeeeeo| EA| 10| #| #| | s| o @ 3| 10
1.357 Ind 0.4795 IN W O/A
$C862565 (800631 BB
CLIPs nLECTRICAL NO-REF-DESIG ALLIGATOR.| €| 2| s| | o | s =
TYPE 2 INLG X L/2 INH
12¢ (76545) As8.
CUNNECTOR, PLUGy ELECTRICAL NO-REF-DESIG.| EA| 1| #| o/ o/ o o s 3
2 CONTO 1-5/32 IN LG X 1-17/32 IN DIA
7057 (83315) as8
COVER, CARRYING CASE NO-REF-DESIG 20-e.o| EA| 1| o/ &/ o | | = 2
9/16 IN LG X 16 5/8 IN W X 2-1/2 1IN
THKO/A
SCC62846 (80063} BB
RETAINERs CATCH NO-REF-DESIG 1-3/8 IN LG| EA| 10[ «| «| | » | = ¢/ 10
X 376IN % X LL/32 IN W O/A
$C862577 180063) ABS
SPRING, ASSEMBLY NO-REF-DESIG 7 IN LG X.| EA| | = = = | | @ 2
3/74IN W X 9716 IN THK Q/4
$C862552 160063) a8B
STRAPs WEBBING NO-REF-DESIG 28 1/2IN LG.| EA| 2| =/ ¢ o | | = 2| 10
X L IN dy O/A
SCC62849 180063) B8
POMER SUPPLY GROUP NO~REF-DESIGeceescceeo| EA| 1| o/ 2| ol | | = s
1220122222222222 422222) 488
4 3




SECTION I

m

SMR
CODE

PAFLZ

PAF2L

PAF22

PADZZ
PAD22
PAD2Z
PADZZ
PACZL

PAF22
PAF22

PAFZZ

PAFZl

PAOZZ

PAOZZ

PAFZ1

PAF1?

(2)

FEDERAL
STOCK
NUMBER

5910-666-7023

5910-666-7023

5910-666-7021

5960-272-9182
5960-272-9182
5960-272-9182
5920-199-9498

5920-284-9220

5935-201-9490
5935-201-9490

5935-258-1194

5935-685-9398

6240-155-8706

6210-299-3915

6210-284-0943

5950-645-4989

TM11-5805-223-34P
) @] ® ®) m ® | 00)
30-DAY DS MAINT | 30.DAY GS MAINT
aty ALLOWANCE ALLOWANCE 1-YR |DEPOT|ILLUSTRATION
DESCRIPYION ALV PER| MAINT
UNIT| INC | (o) | B | (& | (@ | (B | () @ |
OF | W ElQ':.I(’IP oo lFicuRe| 1Tem
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [MEAY UNIT | 1:20 | 21-5051.100| 1-20 | 21-50 |51-100|cnyeey| gquip| NO. | NO.
CAPACITUR, FIXED, PAPER DIELECTRIC (C553..] EA 2l ] * | e | = 110| ¢553
130+000 WUF parulopcT 200vDC
CPOSALKC104KL (81349) ABB
CAPACITUR, FIXEDs PAPER DIELECTRIC  556.e| EA| REF sl w| o ] w| » 110] 554
100,00y UUF PCRMLIOPCT 200VDC
CPOSALKCLO4KL (81349} 488
CAPACITORy FIXEDy ELECTROLYTIC C55lececcs| EA 2 8] e e w| s a|l 110] ¢s581
125UF  350VDCw
SCC62508 (800631 YY)
CAPACITURy FIXEDs ELECTROLYTIC C552ceccee| EA| REF s o] | | ] = 3| 110 css2
125UF 350VDCu
SCL02508 (80063) a8
CAPACITOR, FIXEDe ELECTROLYTIC €555 2..e| EA 1 =] 8] | s} s = 3] 110 cs55
SECT 1000 UF L5VDCH '
SCC62509 (80063) 288 ; i
ELECTRUN TUBE V55lececscsscccosscassescss| EA 3l sl e s & | = 100] 110] vss1|
6Xén (81309) A88 ;
ELECTRON TUBE V552eccccscescscscssseccnce| EA| REF sf sl o 8] 8| = 100} 110! vss2l
6X4a (81349) a8 i
ELECTRUM TUBE V553aececccccessascascacace| EA| REF o e | & s e 1006| 110] vs5s3:
6Xén (81349) ABB H
FUSEs CARTREDGE F552 1/2 AMP 250V ese.o| EA U el e s e s e 50| 13| F552
FO2GRSUUB (813491 488
FUSEs CARTRIDGE F551 1 AMP 250V eeceeee| EA 1] ] & o] e o e s0{ 119] F5s1
FO2GLRA08 (81349) Ao .
FUSEHOLUER XFS5le XF552 EXTRACTOR POSTees| EA 2l e s o & & e 110 ,
TYPE '
HCMHM (71400) ase
JACKs TIP J55lecccsacscscsccnscssssccsnas| EA 2 & e & e e = 1l 112 9551
SN c89931-3 {80063) 488
JACKy TiIP JU552cccccsccccccsssesascsscssne EA| REF L « ® L L J L J 1 lloi J552
SM328¥931-3 (800633 488
JACKs TIP 4553 (AUTHORIZED ALLOMANCES...| EA 1 el & el e s = 1| 110 4553
BASED ON A TOTAL 0F2)
SM3289931-3 (80063) AE8
JACKe TI® J554 WHITE (AUTHORIZEDeeeeeee| EA 1 ] e sl ] s = 1| 110} J55¢
ALLOWANCE S BASED UN A TOTAL CF 2)
HSL61GE-1 181349} ase
LAMP, INCANDESCENT 1551 & TC BV QelSe..| EA 1| el e| sl el =] e 50| 111l 1ss1
AMP  [AUTHORIZES ALLOWANCES BASED ON A
TUTAL UF 4)
MS15571-2 181349) ABB
LENSs INOICATOR LIGHT NO-REF-DESIGececaes| EA TSNS S Y Y S si 111
GREEN
92-112 (72019) ABB
LIGHT, INDICATOR X1551, 1-3/4 IN LG Xeees| EA M e ] s e =] = s 11l
13/16 In VIA (AUTHORIZED ALLOWANCES BASED i
UN A TUTAL OF4) , :
|922210-1 (72619) A8B 1 . 1
REACTOK LS551 1 HY 2-7/8 IN LG X 2~L/4es| EA 1 = -' s »| s = L2 ) Lssll
IN W X 1-9/16 INH i H ' !
SCCo2822 (80UBS) 488 ! i ; i !
| | 1 i i




SECTION 11

PAFLL

PAF22

PAFI1

PAF2Z

PAF 22

PAFZ2

PAFIL

PAFZZ

PAFLL

PAFZ1

PAFZZ

PAFIZ

PAF1Z

PAFIL

@)

FEDERAL
STOCK

NUMBER

6130-669-5826

5905-279-1747

5905-279-2633

5905-279-5354

5905-279-1965
5905-171-1975
5905-279-1933
5905-279-1933
5905-279-1933
5905-279-1933
5905-279-1933
5905-279-1933

5905-253-1231

5935-260-0516

TM11-5805-223-34P

i o) Tw] & ] m) 7 ® | ® ! (10) 1
! ; | 30.DAY DS MAINT | 30-DAY GS MAINT ! :

DESCRIPTION | Qry __ AkLOVANCE ALLOWANCE 1.YR |DEPOY!ILLUSTRATION
‘ ’ UNITE INE | (0 | ) | () | ‘e | (0) | e} [ALROER MAIY o T
i u:il W anslss j caure "l00 FIGURE] 1TEN
'REPERENCE NUMBER & MFR. CCDE  USABLE ON copg MEAY UMIT  1-20 : 2150 “”‘ 1-20 | 21-5051-100|cyveey; gquip, NO. | NO.
RECTIFIER, METALLIC CASSL INPUT 23 VAC...) EAl L. ® ;¢ 3 s b3,
SINGLE Px  OUTPUT 18 VOC, 1.GAMP P :
$CJ63044~1 (80063) b8 «
RESESTOK, FIXEDs COMPOSITION R5G0 27ccee| EA 1 e s sl | e = 3| 11| Rs60
UHAS  PLRNSPCT 24 i
RC626F270J (81349) ass| !
RESISTGRs FIXEDs COMPOSITION RS61 B82..c.| EA i | e sl | s s 3| 11l asa
UHNS PCRMSPCT 24 ; |
RC626F8200 (313491 Ads A :
RESISTORs FIAEDs WIREWQUND RSS58 100eeeee| EA 2| s| ! =] s| = = 111 8558
UHMS, PURMSPCT  BW ;
Re356101 (81349) ABB
AESISTURs FIXEDs JIREMOUND RS559 100seess| EA| REF s | & & s = 111 R559
GHAS, PURWSPLT 84 ,
Re3UGiul (81349) ABB ; :
RESISTUR: FIXEDe WwIREHWOUND RS57 105 GHMS| EA 1| sl i s | 8| = 3. 111! RSST/
TGTAL KES PURMSPCT Lcw W/EIXED TAPS AT ; ,
5010020930 AND &0 UHNMS , {
SCCol82u (600631 ABB !
RES15TGks FIXEDs COMPOSITION RS63 130eec| EA W os| s s s sl 3| 111] R563!
UHHS PURHSPCT 2w !
XC426F131 (81349) A8b
WESISTOR, FIXEDs CUMPOSITION RS66 150.c.| EA 1| o] #| & & e = 3| 111} Rs6se
OHMS PURMSPCT 2
RC426F1519 (81349) 8B
RESISTURs FIXEDs COMPOSITION RS51 220e.e| EA| 6] *! =l ol o] ol = 3 111 RS51
UHMS PURNSPCT  2d i
KC42GF221d (81349) ABe
RESISTUKs FIXEDs COMPOSITION PS52 220...| EA| REF s o sl s s = 3| 111 mss2
GHMS PURMSPCT  2W
RC426F221d (81349) 88
RESISTUKs FIXEDs COMPOSITION RS53 220...| EA| REF o of o o of = 3| 111 ”ss3
URNS PURMSPCT  2m
RC426F221J (81349) ABB
RES ISTORe FIXEDs CUMPOSITION RS54 220...| EA| REF ] o] o a s = 3] 111] R556
GHMS PURMSPCT 2w
RC426F2214 (81349) ABB
RESISTORe FIXED, COMPOSITION R555 220...| EA| REF of s ol o] o e 3| 111 rsss
UHAS PURMSPCT 2w
[RC426F 221 (81349} ABB
RESISTOKs FIXED, COMPOSITION RS556 220ceo| EA| REF o 2| o sl &) s 3| 111| Rsse
UHNS PLRHSPCT 2m
RCe2uF 213 (813490 o
RESISTORs FIXED, COMPOSITION R562 390...| EA 1| sl sl e 8| 8| = 3| 111 ’se2
UHHS PORMSPCT  2W
RC426F391J (81349) AB3
SHIELDs ELECTRON TUBE WO-REF-DESIG 2-1/4 €A 3] | o o e s =
IN LG X 55/66 IN DIA O/A (A/A BASEDON A
TUTAL UF &)
1661359 P26 (71785) As8
SOCKETs ELECTRON TUBE XVSS1 XVS53,XV552..| €A 3| s & o 8| sl s 3| 1
1-3/16 IN He X 0.800 IN ¥ X 1-1/8 IN LG

CONTINUEC

49




SECTION 11

4}]

SHR
CODE

PAF22

XDFZ2
XDFZ2

PAFIZ

PAF1Z
PADZZ
PAQZLL
PAOZL

PAOZZ

PAF2Z

(2)

FEDERAL
STOCK
NUMBER

5930-655-1514

5950-376-9604

5920-356-2103

5920-356-2103

5920-356-2103

5920-356-2103

5910-866-3813

TML1-2805-223-34P

4 6

) W[ ® m ) @ ] ® (10)
30-DAY DS MAINT | 30-DAY GS MAINT
aTY ALLOWANCE ALLOWANCE 1.YR |DEPOT{ILLUSTRATION
DESCRIPTION AL+ PER| MAINT

UNITI INC | (o) | () | (o) | (o) [ (&) | (o) |ALLPER) MAINT g, ()

OF | N EQUIP u";'o?kncuas ITEM
REFERENCE NUMBER & MPR. CODE _ USABLE ON CODE [ME4Y UNIT | 1-20 | 21-50 51-100] 1-20 | 21-50 [51-100|cyyecy| gquip| NO. | WoO.

CONT INVED

0/A  (AUTHURIZED ALLOWANCES BASED ON A
T0TAL OF 209
TSLU2POL (81350) AB8 .
SHITCHy TUGGLE 5551 14125 IA LG X G.625.| EA 1] = = | | | s s| 111] s551
IN W X L.C468 IN H
HS35058-22 (81349) ABB
SHITCHy TOGGLE 5552.eccsscccscccceccsccce| EA 1 s e s & &| = 110] 5582
M$32059-25 (81349) ABB
TERMINAL STUD ES551 1/8 IN LG X 1/4 INeeo| EA 4 o o o e s = €551
ACRUSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) A88. )
TERMINAL STUD E554¢ 1/8 IN LG X L/4 IN...| EA| REF e e e | & % E556
ACRGSS HEX FLATS (AUTHORIZEG ALLOWANCES
BASED ON A TOTAL OFT2) .
EPS262 (903481 aB8 i
TERMINAL STUD E704 1/8 IN LG X 1/4 INeao| EA| REF e o 8] o] & e €704
ACRUSS HEX FLATS (AUTHORIZED ALLOWANCES
BASEGFUN A TGTAL OF72)
EPS262 (90348) aBB 4
TERMINAL STUD ET705 1/8 IN LG X 1/4 INe..| EA| REF ®f s « 8| w| = E705
ACRUSS HEX FLATS (AUTHORIZEC ALLOMANCES
BASED UN A TOTAL OFT2)
EPS202 190348) ABB
TRANSFORMERs POWER, STEP~OOWN AND STEP-UP.| EA 1| =] s| e s & = 3| 110] 1581
1551 51/4 IN LG X 3-5/8 IN & X 3-7/3 IN
H
$C262633 (80063) ABB
AMPLIFLER POWER SUPPLY PANEL ASSY GROUPeeo| EA 1 =] el el & & e s
NG-REF-DESIG
2222242221222822L \1121L) ABB
ARRESTOR, LIGHTNING E737 11716 IN LG Xee| EA o o o s &| & = 6| 174| €137
172 IN LiA O/A
5CB63039 (80U63) AB8
ARRESTORy LIGHTNING X738 11/16 IN LG X..| EA| REF s el s o & = & L1e| x738
172 IN DlA OsA
5CB63039 (80063) a8d
ARRESTURy LIGHTNING E763 11/16 IN LG Xae| EA, REF s »| el e| &| » 4| 174| E763
172 Ik Dia O/A
$CB63039 (50063) AgB
ARRESTOR, LIGHTNING ET764 11716 IN LG Xeo| EA| REF s s s »| & 4| 174| ET64
17¢ IN DIA O/A
SCB63039 (800630 288
CAPACITUR, FIXED, MICA DIELECTRIC C882...| €A 1l = s e & s = 109/ cee2
2,400 UUF PORK3PCT 500 VOCH ‘
LH30D24ZJN3 (81349) 288
CAPALITUR, FIXED, MICA OIELECTRIC CT6les.| EA Ll s sf & =] 2| = 97| cre1
¢700 UUF PURMSPCT 500 VDCW
LM35C4TcdNs (81349) A8B ‘
LAPACITCRs FiXEDy MICA JIELECTRIC C70%ce.| EA Wlos| el el | e e 3, 97| c104
5200 JUF PURM2PCT 500 VDOCW '
IM35E6L26N3 (41349) ABB




SECTION 11 TM11-5805-223-34P
m @ 3 (@ ) | ] 5 () ) 10
| 30.0aY DS MAINT | 30-DAY GS MAINT
DESCRIPTION aTy L ALLOWANCE ALLOWANCE 1.YR (pEPOT|ILLUSTRATION
PEDERAL UNIT| I« (@) | (0) | (o) | (o) | (&) | (c) [ALVLPARIMAINTY T, IT)
cs::g STOCK OF | N ! gmgp oo [FIGURE| 1TEM
NUMBER REFERENCE NUMBER & MFR. CODE  USABLE ON CODE MEAS uNiT | 120 | 21.50 |51-100! 1.20 | 21.50 51.100|cutecy| goule| NO. | MO
XDFZZ CAPACITOR, FIXED, MICA DIELECTRIC C703...| £A 1 ] s o e & = 97| cro3
{9100 UUF PURM2PCT 300 VDCH
ICM3SE9126N3 (81349) 488 i
PAFZL CAPACITOR, FIXEDs PAPER DIELECTRIC CT746..| EA 1] sl o] e s 2| e 97| cres
104L0U JUF PORM20PCT L0OVDCH
1901030154 (56289) aeB
XDFZZ CAPACITOKy FIXEDs MICA DIELECTRIC CT0Zeee| EA 1l sl e 2l el e e 97| cr02
L3+ 000 UUF PLRM2PCT 300 VDCH
CM35E1U3 (81349) ABB
parzz | 9910-667-5291 |CAPACITOR, FIXEDy PAPER DIELECTRIC CT44..| EA 1l o] o o s o] = 5| 9| CTee
224400 UUF PURM20PCT o 100 VOCH /0.400
INO1A X 13/16 IN LG
181P2230LT5 (56289) ABB
XDFZZ CAPACITOR s FIXEDs PAPER, DIELECTRIC C742.| EA 2| ol | e & 8} e 96| cr42
2 TERM LUG 100,000 WUF PCRMZOPCT 300
vOCH
181PLU4u3T5 (56289) ABB
XDFZZ LAPACITOR, FIXEDs PAPER, OIELECTRIC CT43.| EA| REF o o @ o w| = 96| CT43
2 TERM LUG 100,000 UUF PORMZOPCT 300
vOChw
18LPL0403T5 (56289) ABD
par2Z | 599110-667-5112 cancnun. FIXED, PAPER, DIELECTRIC C74l.| EA 1 s ° L L ® L] L3 96| C741
AXIAL WIRE LEAD TERM 100,000 UUF
PaanzoPcr 300 VDCW .
1040356 (56289) A8B
parzz | 5910-061-90048 |capaciTor, FIXED, PAPER DIELECTRIC C82l..) EA 1] o ® 2| ®| e @ s!| 109] cear
270,000 UUE PORMIOPCT 100 VODCH
GLILP2749152 (56289) ABB
XDFZZ CAPACITGRy FIXEDs PAPER DIELECTRIC C745.e| EA i o e e 8| o = 96| C745
470,000 UUF PORM20PCT 100 VOCH
18LP4 740175 (56289) A88
XDFZZ CAPACITORs FIXEDy PAPER OIELECTRIC C70le.| EA 1| o =2 s e e e 97! czaa
22,000 UUF PORMZOPCT, 100 VOCW 7/8 IN LG
X0.312 IN DIA.
190P22301 52 156289) AB8
paF2z | 5910-356-0135 |cAPACITGRy FIXEDy PAPER DIELECTRIC C726.s| EA 1| = #f o = e e s| 98| cr2e
470,000 UUF, PORMIOPCT 200 VOCHW
191P47492T6 (56289) A8B .
XDFZZ CAPACITUR, FIXEDs PAPER DIELECTRIC C705..| EA 2| o e o e o o 96| cr03
660,000 UUF PORMZOPCT 300 VDCH
181P68403T5 (56289) A83
XDFZZ GAPACITORs FIXEDs PAPER OIELECTRIC C706..]| EA| REF el o] s8] ] ef = 9] c7oe
680,000 UUF PORM20PCT 300 VOCW
181P68403T5 (56289) AsB| . .
XDFZZ CAPACITUR, FIXEDs PAPER DIELECTRIC C728..| EA 2 o o = e s} = 96| CT22
820,000 UUF PORMLOPCT 100VOCH
191P824915516 (562089) 8
XOFZZ CAPACITOR, FIXEDs PAPER DIELECTRIC CT240e| EA| REF | o e s e e % | C72¢
820,000 UUF PORMLOPCT 100VDCH l
PAF12 -000- CAPACITORy FIXED, PAPER DIELECTRIC C722..| EA Al e ® » ° ° » [ °s| craz
1 UF PORMZ0PCT 100 VOCH
N191PL0501T6 (56289) A88

47




SECTION |

m

SMR
CODE

PARIL

PAFIL

PAF22

PAFZ1

PAF21

PAF2L

PAF21

PAFZL

PAFZ1

XDF22Z

PADZZ

(2)

FEDERAL
STOCK
NUMBER

5910-666-8303

5910-666-8309

5950-399-7576

5935-353-2991

5935-542-9927

5935-258-9963

5935-258-9963

5935-258-9963

5935-258-9963

5960-262-1357

TM11-5805-223-34P

) @] & (6) T2 (8 ) 10)
30-DAY DS MAINT | 30-DAY GS MAINT
DESCRIPTION Ty ALLOWANCE ALLOWANCE |.yPgE pEPOT|ILLUSTRATION
ALY PER| MAINT
ug;? t:lnc @ [ ® | ()] @] B ] E!q,_:’,_,w wwrer &)"1 l '::)u
100

REFERENCE NUMBER & MFR. CODE _USABLE ON copg [MEA%) UNIT | 1-20 | 21-50151.100) 1-20 | 2150 |51-100|cuvey| gquip| NO. | WoO.
Euzécgzgﬁg s}gfgsrglvigeolgégcvalc CT123..| EA 1 % $ ] ® [ ® 5 98| c123
2648C (90368) A88
CAPACITORs FIXEDs PAPER DIELECTRIC C725..| EA 1 . ® . ® e » [ 98| €725
L UFe PORRIOPCT 200VDCH
191P10592T6 (56289) ABB !
CLiPe ELECTRICAL NO-REF-DESI® £37064 IN H| Ea 2 L] ] ] ] ® ]
X 12/32 IN LG X 25/66 IN ¥
4593 (71400} ABB
COILe RADIOFREQUENCY L7641 18 KH AT 900..| EA 1 ® ® ® . ® - 3 9| L7461
cPS
$CC62501 (80063} 488 ; .
COILe RADIOFREQUENCY L761 470 MH ccecece| EA 1 L] o ] L] 3 & 97| LT6)
HNSL6223~i3 (81349) ABB , .
CUNNECTUR, RECEPTACLE, ELECTRICAL P999...| EA 1 . s ® s . s 3 P999
14 RD FEMALE CONT 3-7/16 IN LG X 2-1/16
IN LG X 2-1/3 IN W X 1-7/8 IN H Q/A
CS1326 (81349} ABB .
CUNNECTORs PLUGs ELECTRICAL P898 14 RDue| EA 1 . . . ® & s 3 P398
MALE CONT 3~7/16 IN LG X 2-1/8 IN WX 1-
/8 IN H
C51326 (81349) ABB .
CONNECTURs RECEPTACLE, ELECTRICAL JT0L 4| EA 1 ® ¢ ® ® ® ® JroL
CONTS 1 L/& IN LG X 2 11/32 IN DIA
UL226G (81349} ABB ,
CONNECTUR e RECEPTACLE, ELECTRICAL J80lees| EA 4 » ® ® s ® . 3 J8ol
121 CONT 2.094 EN LG X 0.812 INW X 13/32
IN H O/A :
[56A16987 (T1785) . ABB .
CONNECTOR ¢ RECEPTACLEy ELECTRICAL JB02ee.| EA| REF . . * ® ® ® 3 4802
21 CONT 2,094 IN LG X 0.812 INW X 13732
IN H O/4
54A16587 (71785) ABB
CONNECTOR¢ RECEPTACLE, ELECTRICAL J90lee.| EA| REF » ° ® . ™ » 3 4901
21 CGNT 2.094% IN LG X 0.812 INW X i3/32
IN H O/A
S4A16587 (T71785) ABB.
CONNECTOR, RECEPTACLE, ELECYRICAL J902ee.| EA| REF ® & P ® » ® 3 J902
21 CONT 2,094 IN LG X 0.812 INW X 13732
IN H O/A
S4A16S87 (71785) ABB -
CRYSTAL UNIT, RECTIFYING CR74l, CR744 L/2| EA 2 . * * » * ® 95
IN LG X 04250 IN DIA (A/A BASED ON A
TUTAL OF 4)
INTOA (al3%9) - ABB
CRYSTAL UNIT, RECTIFYING CR741, CR744 L/2| EA| REF . w . » » ® 95
IN LG X 04250 IN DIA (A/A BASED ON A
TUTAL OF 4)
INTOA (b1349) ABB, :
ELECTRON TUBE VTOL (AUTHORIZEDescesecees| EA 2 » ® ] » * - 100 92| vioa
ALLOWANCES BASED ON A TOTAL CF7)
5654—6AKSH (81349) AB8.

48




SECTION 11
a (2)
FEDERAL
SMR STOCK
CODE NUMBER

$A02Z | 5960-262-1357
PAF22 | 5805-503-2712
PAF22 5805-503-2721
sAF22 | 5915-356-2171
PAF2Z | 5915-356-2161
PAFZZ | 5915-295-7006
PAFZZ | 5965-537-7733
XDFZZ

PAFZZ | 5805-356-2892
PADZZ | 5355-284-5176
PAOZZ | 5355-667-9003
PAGZZ | 6240-155-8706
PAO2Z | 6240-155-8706
PADZZ | 6240-155-8706
paF2z | 6250-586-7769

TM11-5805-223-34P

49

@ RG] ® m ® | ™ )
: 30.DAY DS MAINT | 30.DAY GS MAINT
ary ALLOWANCE ALLOWANCE 1.YR (DEPOY|!LLUSTRATION
DESCRIPTION , ALW PP MAINT,
ot e T [ e [ o [ @ [ m [ AT MANY T T
oF | N
EQUI® | 100 |FIGURE| iTEM
REFERENCE NUMBER & MFR. CODE  USABLE ON COpE [MEAY UNIT | 1-20 | 21-50/51.100{ 1-20 | 21-50 |S1-100|cyveey| gouip| NO. | NO.
ELECThUN TUBE V741l (AUTHCORIZEDsescococne| EA! REgf » ® s ® L] L] 100 °6 V‘Ml"
ALLOWANCES BASTD ON A TOTAL OFT)
5054—0AK5k (81349) AB8 ;
EQUALIZERs TELEPHONE LINE NC-REF~DESIGe.e | EA M %l sl w el e e 3| 108
ITe# EuB2lL ADJ 300 TG 20,060 CPS 3-9/66
IN LG X 2-27/32 INu W X 1-7/16 D O/A
SCCe2798 (80063) ae8|
EQUALIZER, TELEPHONE LINE EQB22 ADJecoeoo| EA 1 ] & ] | | 3| 108
8kIDGED-T 300 TG 204000 CPS 4-11/32 IN
L6 X 3-9/64 IN ¥ X 1-7/16 IN D 0/A
SCC6<T9T7 (80063) AuB ; , .
FILTER, BANDPASS. FLT7L C/0 5 BANOPASS..| EA 1 | e | 8| ef e 3] 106
FiLTERS 10000:6000+11000,1500C+19000 CPS
3-13732 IN LG X 1-T/16 IN W X 2-19/32 IN
1]
'SCC628G2 (80063} A8B
FILTERs BANDPASS FL761 4,000 CPS OPER...| EA I e a2 e s| s = 3| 9
FREQ 2-19¢437 IN LG X 2-1/32 IN W X 1-7/16
IN D .
$CC62803 (60063) AB8 T
FILTER, LOW-PASS FL721, FLT22 3,000 CPSee| EA 2l o] ] o] e e 3 9
CUTOFF FREQ 3-9/64 IN LG X 2-17/32 IN W 1-
7716 n
$CC62632 (80063) aes
HOLDERe HANDSET XHS80L BLACK TYPE TS—9-.| EA i s s sl s e = 2
¢
SCC73C42 (80063) a88 .
HOLDER. HANDSET NO-REF-DESIG 3-1/2 IN L6| £A 1| s s e o s e
X 2-7/d IN & X 2-5/16 IN H D/A
SC862706 (80063) , A8 . ‘
NOLDER, PROTECTOR BLOCK NO-REF-DESIG FOR| EA s 8| o 8] =] e 3
HTG LIGHTNING ARRESTOR
$CB862930 (80063) ABB
KNUB NU-REF-DESIG 1-15/32 IN LG X 3/4 IN| EA| 1000| | = o] s o o 3
W X 11732 IN THK O/A
MS90120~2801 {(81349) ABB
KNOB ASSEMBLY NO-REF-DESIG 1-1/8 IN OD X| EA of o w| o o o] s 3
7/8 IN THK O/A
SCB862904 (80063) Aa |
LAMP, INCANDESCENT 1801 6 TO 8Y '0ul5e..| EA 3| ¢ | e 8| = o 50 180L
ANP (AUTHORIZED ALLOMANCES BASED ON A
TOTAL OF 4)
MS15571-2 (81349) Aes
LANP, INCANDESCENT 1741 6 TC 8Y 0.15...| EA| REF ¢ o] o e & = 50 1741
AMP (AUTHORIZED ALLOWANCES BASED ON A
TOTAL OF 4)
NS15571-2 (81349) g8
LANP, INCANDESCENT I[762 6 TO 8V 0.15...| EA| REF s & e e s e 50 1762
AMP  (AUTHURIZED ALLOWANCES BASED ON A
TOTAL OF 4) .
MS15571-2 (81349} ABB
LAMPHOLOER NO-REF-DESIG T7/16 IN LG X 1-.| EA 1| %] e & e | = 5
CONT INUED




SECTION 11

m

SMR
cobe

PAO2Z

PAD22

PAODZ2

PAF2l

PAF21

PAFZL

PaF21

PAF22

PAFZ1

PAF12

PAF2L

PAF22

PAFI1

PAOZL

PAF21
PAFLZ

PAFZL

2

FEDERAL

STOCK
NUMBER

6210-299-3870

6210-299-3928
6210-643-2059
6210-284-0943
6625-538-9421
5310-208-2988
5940-553-2581
5940-553-2581
5940-553-2581
5940-553-2581
5940-553-2581

5940-553-2581
5940-553-2581

6625-376-9798

6130-970-1241

5945-259-1231

5905-556-3122

TM11-5805-223-34P

) Tl @ (6 m 8) D) (10)
30-DAY DS MAINT 30-DAY GS MAINT
DESCKIPTION, ary ALLOWANCE ALLOWANCE 1.YR |{pepov|'LLUSTRATION
VIO uarl ne | @ [ e [ @ [ e [ e [MeER e @ | w
iy ome | 120 | 2150 ls2.100 . EQUIP| 100 [FIGURE| 1TEM
REFERENCE NUMBER & MFR. CODE  LISABLY 0N CODE UNIT | - -50151-1001 1-20 | 21-50 5)-100|eyvievl gQuip| NO. | NO.
CONTINVED
11716 IN u X 1-1716 IN B O/A
167C (736640 AB8
LENSs INDICATOR LIGHY NO-REF-OES!ii.uececs| EA A e ] s e & = s
ANBER
93-113 (72619} 288
LENS, INDICATOR LIGHT MNO-REF-DESifi\casone| EA il e e 8] sl 8] e s
COLORLESS
92-117 (72619) AB3
LENSes INDICATOR LIGHT NO-REF-DESIG RED «| EA A sl al el s e = 5
92-1i1 (72619) ABS
LIGHT, INDICATOR X1741,X1742,X1801 1-3/4.| EA 3l a| o] | & ] @ s
IN LG X L3716 IN DIA {AUTHORIZED
ALLUWANCES BASED ON A TOTAL OF 4)
922210-1 (72619} a88
METER,AUDIU LEVEL W77L PANEL HTD -20 TO| EA il el e e s| e = 2|l 116| wm
0 70O +3D8 ]
SCD62831 160063) aee.
NUT. PLAINs HEXAGONAL NO-REF-OESIG 9/16e| EA ol o] = | o] & = 3
INe =24 NCF-28
$CB62931 (80063) A88
PUST, BINDING U-1067U ETOlL 0.7835 IN. LG| EA 1l el e & | e = 1 €101
G/a
SCIL72398 (80063} a8B
PUST, BINDING U~136/U E?35 0.7835 IN. LG| EA| REF ol = o | o = 1 €735
7
SCILT2398 (80063) aB8 _
POSTs BINDING U-106/U ET36 C.7835 IN. LG| EA| REF s o e e | @ 1 ET36
0/a
SCOL72398 (80063) ABB
POSTs BINDING U-106/U EBOL 0.7835 IN. LG| EA| REF o s| ef | e s 1 €801
0/A
SCOL72398 (80063) ABB. _
POST, GINDING U-106/U E802 C.7835 INe LG| EA| REF | &) & = e = 1 €802
G/a
SCIL72398 (80063) a88
POST, BINDING U-106/U EB03 0.7835 IN. 0G| EA| REF of e 2| | =] = 1 €603
G/A
SCILT2398 (80063) ABB _
POST, BINDING U-106/U EB04 G.7835 IN. LG| EA| REF s e e 8| s = 1 £804
0/a
SCOL72398 (80063) AB8 ,
PRGO TEST NU=REF-DESIG 4~1/2 IN LG Xeeeo| EA 1| s =] | = | = 1
0.325 IN DIA O/A
A333R (68197) AB8
RECTIFIER ASSENBLY CR771 GERMANIUM RECT o EA i el s | s s @ 2/ 157
SCCL49067 (80063) aBe .
RELAYs ARMATURE K761 3-1/16 IN LG X L-eo| EA i af | | s «| = 3 K74l
5/8 IN wX 1-7/16 IN Dy O/A
RP371762 (71482) ABB v
RESISTORs FIXEDs FILM R702 6.04 OHMSseeo| EA 2| s al ® e ef = 31 97| R702
PURMLIPCT 172 !
1SCC02507-1 {80063) ase
i |

50




SECTION I

3]

CODE

PAFZZ

XDFZ2

PAF22

XDF22

PAF22

XDFZZ

XDF22

 XDFZ22

XDFZZ

PAFZZ

PAFZZ

PAF22

PAF22

PAF22

(2)

FEDERAL
sToCcK
NUMBER

5905-556-3122

5905-192-4490

5905-060-7870

5905-636-5856

5905-114-5352

5905-060-5098

5905-111-4736

5905-111-4736

TM11-5805-223-34P

@ ol el 30-DAY DS MAINT ! 10.0a7 ¢! @ o (o !
' H . DA M
DESCRIPTION S i QTy i ALLOWANCE ‘ ALLO'iNC‘é“T 1.YR |DEPQY!ILLUSTRATIOR!
UNIT INe @ | e ] e Lo | o[ “:'M"“A"‘_:':E'R © | ® |
OF ! IN i ! | EQUIP | 100 |FIGURE| ITEM .
REFERENCE NUMBER & MFR. CODE__ USABLE ON Cope MEAY UNIT 1-20 | 21-50/51-100] 1-20 | 21-50 51 100}cyygcy| gquip| NO. | NO.
] : H
KESLSIOR, FIXED, FILM RT02 6.0¢ OWNSyeoe| cA| REF % & % = & 3, ! RT02
PORMLIPCT 1/2 o : ; ! ! :
SCC625GT-1 150063) YT ? ! | _ : f v
KESISTORs FIXEDs FILM R843 2607 OHMSe.ee| EA sl s e s s w ; " 109! Ree3;
PLRAMAPCT Lf2v i | | ! ; i |
«nTON26ATF 181169) Ang i | ; | !
HESISTUKs FIXEDs FILM R7B6 28 OHMS eecee| EA slos| s sl s e ' | 105| R786
PURMIRLT 172 W ! i ! i
RNTUB2SROF (a1349) AB8 ; i
RESISTOR, FIAEDs COMPOSITION R710 33eeee| EA s #] &! & = = 3| 99| R710:
UnMS PURMSPCT 1/2w (AUTHORIZED | , |
ALLJIWANCES BASED ON A TOTAL GF 5) 3
KC2UGF3304 (81349} ase ! : ;
RESISTUR, FIREDy FILM R7I74 36 OHMS eeeee| EA 2] o e+ = s s = R77% |
PORMAPCT  1/2w | .
SCCO256T-182 180063) ABB ! : |
RESISTuke FIXEDs FILM RT?S 36 OHMS eeeeo| EA| REF ol 2 s 8| = = } ; ! R775
PORHIPCT 1724 H i ! H
SCC625C7-182 (50063) Ab8 ! ; | :
RESISTURs FIXED. WIREWOUND R794 50 OHMS,| EA s sl & s ¥ = i 3 R79%6 |
PURMIPCT 1/4%n i ‘
RES2AESOROF {31349} ass | ; i
RESISTOKs FIXEDs FILM R785 5602 OHMSpees| EA s sl e ] 8| = i 105 R785)
PORKIPCT 172w (AUTHORIZED ALLOMANCES !
BASEL LN A TOTAL OF 3) g
RN7O0B5ER2F (81349) AB8B ;
RESISTUKy FIXEDy FILM RT2T 75 OHMSsecaese| EA 2] s &; s| 8| sf = 91| w127
PORMIPCT 172w i i
RN70B7SROF (81349) ABB | |
RESISTORs FIXEDy FILM RT28 75 OMMSseeoee| EA| REF s s e = = = ' 97| R728
PURMIPCT 1/24 [ ‘
RNZUB7SROF (81349) AB3 |
RESISTORs FIXEDs FILM R783 85.6 OHMSeeoe.| EA 2| s ) »| s e e 105 Rn;[
PORKIPCT  1/2u !
SCC62507-9 (80063) ABB :
RESISTORe FIXEDs FILM RT84 85.6 OHMSeeee| EA| REF o] w] %] e | = 105] R786"
PURMIPCT 1724
SCC62507-9 (80063) 8B
RESISTORs FIXEDs FILM R792 100 -OHMSeeees| EA of | o | = e 3| 106] w192
PURKLPCT 1/4 W
RBS2ALO0ROF ([B1349) a8
RESISTORe FIXED, COMPOSITION R825 110e..| A o s sl =f e = 3 R825
GHMS PURMSPCT 1/2d ;
RC20GF111lJ (81349) A88
RESISTURs FIXEDs WIREWOUND R782 135 OHMS| EA ol a8 &l = & = L' 3| 10e| r782
PORMIPCT 0.4 ]
RAB52AEL3IS5R0OF (81349? ABB
RES1STORs FIXEDs COMPOSITION RB27 16Qe..| EA 2 e e 8| e| o 3 R827
OHMS PURMSPCT 1724
RC20GFlo1J (81349) a88
RESISTORs FIXEDs COMPOSITION R828 160e..| EA| REF o w1 8| 8] 8| @ 3 R828
GHMS PGRMSPCT  1/2w
RC206F161J (81349) a88

51




SECTION 11

m

SR
(ae - Ny

J

PAF21

PAFZL

PAFZZ

PAFLZ

PAFIZ

PAFZZ

PAFZ1

PAFZZ

PAFI2

(2)

FEDERAL
STOCK
NUMBER

5905-935-8544

5905-299-1965

5905-299-1965

5905-299-1965

5905-141-0310

5905-539-3523

5905-539-3523

5905-539-3523

5905-539-3523

TMJIL-3805-223 348

1)) @] ® | ®) n ® (9 {10)
30.-DAY DS MAINT | 30.CAY GS MAINT
QTY ALLOWANCE ALLOWAKCE 1-YR |DEPOT|!LLUSTRATION
DESCRIPTION g ALV PER| MAINT [ T -]
UITH 1T | ‘2 | ) | (&) | (&) | () | (o) (o) (b)
OF | Eaute | roo |FIGURE| 1TEM
REFERE:CE NUMBER & MFR. CODE __ USABLE oN CoDE [MEAS UNIT | 1-20 | 21-50/51-100( 1-20 | 21-50 |55-160|cyrecy| squip| NO. | NO.
1
RES ISTORy FIXED, CONPOSITION R708 180..o| €A | ®| 2| &) | = 3l o7 rR708
OHNS PORKSPCT 1/2d ,
RC2OGF18lJ {81349) 288
RESISTURe FIXED: FILH R725 182 OHMSeceeo| E4 2] =| e e | | R725
PORMINCT 152 W
RNTQBL8ZOF (81349) ABB
RESISTORy FIXEDy FILM R726 182 GHKS..oo.! EA| REF s| | s| 2 s = ]726
PORMIPCT 1/2 W
RNT70B1320F (81349) ABD
RESISTUR, FIKEDs WIREWOUND R79% 200 OHKS| €A | e = | =| & = 104 R791
PORMAPCT  1/4W
RES2AEZOOROF (81349} ABE \ !
RESISTUR, FIXED, FiLli RB18 215 OHMSeeces| EA 1] = s| =\ & s = 107| R818
PURMINCT L/2 ¥ (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 3)
RN7CE.L50F (81349) 238
RESISTOKy FIXEDe FILM RITB 267 "HHSseace eal 2l =] | = s * s R778
PGRMIPCT, L/2¢ H
RNTOBZO6IGF {R1349) 485 1
KES1STOKe FIXEDs FILN RI7T9 267 OHMSseese! EA[ HEF s » si s | = R779
PGRMIPCT, 1/24 | |
KN70B2670F {81349) 488 :
RESISTOKs FIXEDy COMPOSITION RT1L 300...| EA LY sl = ] = = 3 R711
GHMSe PURMSPLT, 1/24.
RC2CGF30LS (82349) AEB
RES ISTORy FIXED, COMPOSITION R712 300...| EAl GEF s = e ® el 3 R712
CHMSe PORMSFCT, 3/2We
RCZUGF301J {81349} ABEG
RESISTORe FIXED, COMPOSITION R752 300...] EA| REF 3| | = - s = 3 2752
OHYS, PURMSHCT, 1/24.
RC2JGF3014 {81349) ABR
R3S ISTOKe FIXEDe FILM RTI21 30L OHMSseces| E4 2l = = = | = = R721
PORMAPCT, 1/2W. AJA BASED ON TOTAL OF 4
RNTOB30LUF (81349) AB8
RESISTOR, FIXED, FILM R722 301 OHMSseece.| EA| REF s| = =| & 2| @ R722
PUAKLIPCT, 1/2W. A/A BASED ON TOTAL OF 4
RNTO0B3V10F (81349) AB3
RESISTURs FIXEDy GONKPOSITION R741 3900..| EA 1] = = = ® s = 3| 97| rR741
UHMS PORMSPCT 2/2w
RC2UGF392J (81349) ABe
RES ISTOR, FIXED FILM R802 o316 GHMSeeece| E4 & = = = = » . 3 R802
PLRMIPCT, i/2V
RNTOB316UF (81249) aBB
®ESISTORy FIXED FILM R803 +316 OHMSeceeo| E4] REF 5 o s = = = 3 R803
PLRMIPCT, 1720
KNTOB3160F {o1349) ABH
RES ISTUR¢ FIXED FILM R812 316 OHMS.....| EA] CZ. #, & » ] s = 3 R812
PORMIPCT, 1/20
RN7UB316UF {81349) )
KESISTORy FIXED FILM R813 .316 OHMS.cs..| EA| REF s, & = ] s = 3 R813
PURMAPCTy L/2W :
RNTOB3LOUF (81l349) ABB
| | i

52




SECTION
m

CCDE

PAFZ2

XDFZ2Z

PAFZZ

XDF2Z

XDFZZ

XDF22

PAFZZ

PAFZZ

XDFZZ

XDFZ22

PAFZZ

PAFIZ

PAF2Z

PAF12

PAFZZ

PAFI2

I
(2)

FEDERAL
STOCK
NUMBER

5905-192-3971

5905-141-1303

5905-539-3531

5905-993-5947

5905-192-3973

5905-192-3973

5905-195-6800

5905-279-2616

5905-059-6862

5905-279-3500

TM11-5805-223-34P

@ @] (®) m ® 7)) 10
30-DAY DS MAINT | 30-DAY GS MAINT
DESCRIPTION aty ALLOWANCE ALLOWANCE 1.YR |pEPOT|!LLUSTRATION
ENIT e | @ | & ] @ | ] 6 | @ [MgERNeRT @ [ o
oF | W ;
EQUIP | 100 'FIGURE| ITEM ,
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [MEAY UNIT | 1-20 | 21-5051-100| 1.20 | 21-50 |51-100|cyrgcy| gquip| NO. | NO. |
REs1sT0Ms FIXED COMPOSITION R729 330ceee| EA 1l sl | & =] e e 3 R729
? (2 de
IRC206F331J (81349) aB8
KESISTORs FIXED FILM PRT71 336 OHMSeeeeee| EA 2l sl el = s x| s : RTTY
PURMLPLY 1/2a !
SCC62507~184 (80963) 88 |
RE515TGKy FIXED FILM R772 336 OHMSeceees| EA| REF P ) S Y R772
PGRMLPCT L/2W : !
SCC62507- 164 (80063) Ao :
RES ISTOR, FIXEDs COMPOSITION R703 8:200.| EA 1| =] | | =l s = 3, R703
GHMS PLRMSPCT 1w | : i
RC3I26F 8224 (81349} AB8 :
RESISTORs FIXED FILM RBLT 383 OHMSeecoes| EA 1] #] s s/ i s = ; R817
PIRMLPCT L/2wW. A/A BASED ON A TOTAL OF 3 : ;
KN7UB3330F (61349) B8 r ;
KES 15TOR, FIXED WIREWOUND K780 400 OHMS.| EA 2| s | sl x s = i R780 !
PGRMIPCT 1/4W
RBS2AE4VOROF (81349) ABB H
RESISTOR, FIXED WIREWCUND R790 400 OWMS.| EA| REF o x| s s =] = R790
PURMIPCT 1/4H
RBS2AE4Q0RUF (81349) ABB
RESISTOKs FIXED FILM R731 402 OHMSeeceees| EA 1| o« | e | = = 3 R731
PORMIPCT 172w
RNT064020F (81349) ABB
RESISTOR, FIXEDs FILM R814 145700 OHMS,e| EA 1t | *| & s s = 3, 107] Rl4
PORMIPCT L/2W ,
RNTOBL472F (81349) aBB ] '
RESISTOR, FIXZD FILM R80L 422 OHMS,eeee.| EA 2l e | #] &l =] e RBOL
PGRELPCT, 1/24.
ANTOB4220F (81349) ABB
RESISTOR, FIXED FILM R802 422 OHMS,ecees| EA| REF o & o =l s = RB02
PORMIPCT, 1/2w.
RN70B4220F (81349) a88
RES ISTOR, FIXEDs COMPOSITION 8761 470...| EA 2l e x| e s s e 3 R761
OHMS PORMSPCT L/24
RC206F471L (81349) ABB
RESISTOR, FIXED, COMPOSITION R762 470...| EA| REF e =l 8| | = = 3 R762
GHMS PGRMSPCT 1/2u
RC20GF47L4 (B1349) ABB
RESISTUR, FIXEDs, COMPOSITION RB26 560e..| EA il el = ] e & e 3 RB26
OHNS, PORMSPCT 1/2W AZA BASED ON TOTALOF 2
RC20GF561J (81349) AB8
RES1STOR, FIXED, COMPOSITION R704 15,000| EA | s & =] =] =] = 3| 99| R704
OHMS PURMSPCT 1/24
RCZOGFL53J (B1349) a8
KESISTOR, FIXED, WIREWOUND RT8L 569 OHMS| EA 1| | = x| =] s = 3 R781
PGRMLPCT 1/4W A/A BASED ON TOTALOF 2
RBS2AE569ROF (81349) aB8
RESISTORs FIXED COMPOSITION RT43 634eees| EA 1 s e x| | s| = 3 R743
OHHS, PURMIPCTy L/2H
KNTOB634UF 181349) a8
RESISTURs FIXEDs FELM RB15 634 OHMSseees| EA 1| s| w| e x| 2| = RB15
CONT INUED




SECTION 11

(1)

SMR
CODE

PAFZIZ

PAFZZ

PAFZZ

PAF1Z

PAFZ2

PAF2Z

PAFZ2Z

PAF12

XDFZ22

PAFZ1

PAFZZ

PAFZ2

PAFZZ

(2)

FEDERAL

STOCK
NUMBER

5905-542-9116
5905-190-8880

5905-542-9110

5905-542-9110

5905-279-3499

5905-542-8407

5905-542-8407

5905-279-1876

5905-171-1998

5905-171-1998

5905-279-3496

5905-279-3496

TM11-5805-223-34P
@ @] ® ® - m ® ] (10)
30-DAY DS MAINT | 30-DAY GS MAINT ILLUSTRATION
DESCRIPTION ary ALLOWANCE | eren VAT

uNITl e [ @ | ® | @ | @ | e | @ [ W | ®

:i IN ) EQUIP ‘Lm.“ FIGURE| ITEM
REFEREHNCE NUMBER & MFR. CODE  USABL S 0 CODE UNIT | 1-20 | 21-5051-100| 1-20 | 21-50 |51-100)cyycey] gquip| NO. | NO.

CONTINUED

PORMLPCT  L/2W
RNTOB6340F {81349) ABB
RESESTORe FIXEDy FILH RB41 576 OHHSeeees| EA 2| %] ®| %] w{ % = 109 R8&L
PGRMIPCT 1/2M
RNTOBS760F (81349) a8B
RESISTORs FIXEDs FILM R842 576 OHHSse...| EA| REF o =] o] | o] 109 ] R842
PGRMIPCT 1/2W
ANTOUST6OF (81349) B8 . .
RESISTOR, FIXEDs FILM R732 909 OHMSyeees| EA il =] = =] el | = 3 R732
PORMIPCT, 1/2¥
(NTOB9GYOF (81349) BB
RESISTORe FIXED COMPOSITION R713 1200e..| EA il = s & 2| = e 3 R713
OHMS PORMSPCT, 1/2d
RC206F1224 (81349) ABB
RESISTORs FIXED FELM R776 1580 OHMSece..| EA 2| | x| x| x| e = 3 R776
PURMIPCY, 1/24
RN7OBL5SLF (81349} 88
RESISTURs FIXED FILM R777 1560 OHMSecces| EA| REF 2] | #| e| ] = 3 RTTT
PGRMIPCT, 1/2W
RNTOBL5BLF (81349) . ABB A
RESISTOR, FIXEDs COMPOSITION R748 27,000 EA 1 e | s] | = = 3| 97| R748
GHMS PGRMSPCT 1/2w
RC206D273J (81343} AB8
RESISTORs FIXEDs FILH R723 2150 OHMS,cee| EA 2l s &) 8| s| =| = 3 R723
PORMIPCT, L/2W
RNTOB215LF (81349) AB3
RESISTORy FIXEDs FILM R724 2150 OHMSse..| EA| REF ~l &l ] =] 8| 3 R724
PGRKLPCT, L/2W
RNTUB2151F (81349) ABB
RESISTURe FIXEDs COMPOSITION R749 2200..| EA 1| el e e el | = 3 R749
GHMS, PUNSPCT, 1/2w
RG2OGF222J (81349) ABB
RESISTORs FIXEDs FILM R773 2460 OHMS.ee.| EA il x| =] =] 2| =| = R773
PORMIPCT 1/2w
SCC625C7-183 (80063) ABB
RESISTOKs FIXEDs COMPOSITION RT07 33,000 EA 2l o e 2] | | = 3| 97| R707
GrMS PURMSPCT 102m  AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF 3)
RCZ0GF3334 (81349) 8B
RESISTGR, FIXED, COMPOSITION R745 33,000| EA| REF « =] | =] =] e 3l 97| R745
GHMS PCRMSPCT 102W (AUTHGRIZED
ALLOWALCES BASED ON A TOTAL CF 3)
RC20GF352% (81349) ABB,
AESESTURs FIXEOs COMPUSITION R?46 51,000| EA 2 #| «| 2| = = = 3] 97| R746
OHM POAMSPCT 1/2w  LAUTHCRIZED ALLOWANCES
BASED UR A TOTAL OF 3)
RC2UGF513J 181349) A8 . |
RES I1STGRe FIXEDs COMPOSITION RT47 51,400| EA| REF o ] | s & = 3! 97| R747
UHKN PGRMSPCT 1724 (AUTHORIZED ALLOWANCES
BASED uh A TOTAL OF 31 |
RC20GF513J 181349) ABB

54




SECTION I
t1) (2)
FEDERAL
SHR STOCK
cope NUMBER
XIFZ2
PAFZ1 5905-195-6761

PAFZ2

PAFZZ

PAF2Z

PAFZ1

PAFI1

PAFZ1

PAFZ2

PAF2Z

PAF2Z

PAFZZ

rPaAQ22

PAFLZ

'5905-195-6761

5905-104-8331

5905-279-2515

5905-279-2515

5905-279-2515

5905-356-2479

'5905-642-4362

5905-299-2069

5905-226-9468

'5905-226-9468

5305-206-5544

5305-297-9102

TM11-5805-223-34P

3) @] & ® (7) ® | @ (10) ]
30-DAY DS MAINT | 30-DAY GS MAINT |
QTy | ALLOWANCE ALLOWANCE 1.YR | DEPOT | ILLUSTRATION|
DESCRIPTION ! ALW PER| MAINTY '
URIT: mNE | (o) | ) | (0 | (0 | () | (e S5 ™| Cieet @ ® !
u::s i 2 | 21.50 0 EGUIP | 100 !FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE umiT ;3 1-50 (51-100{ 1-20 | 2150 |51-100|cyqygey gquip | MO- | #O. |
KESISTLKy FIXED, FILM R816 514100 CHMS..| EA 1] = ® ® ® ® ® 107 Rele |
PIRMLPLT L/2d ! |
KNTOB5.L12F (81349} ABB i
RESISTOKe FIXEDs GCOMPOSITION R762 100se.. EA 2i = * ® * s ® 3 97| RT%2;
000 LHMS PGRMSPCT 1/2d (AUTHORIZED i
ALLOBANCES BASSD ON A TOTAL CF 1i) l |
RC2UGFLO04d (B1349) ABB
RESISTOs FIXEDs COMPOSIVION RT44 100s..; EA| REF * * ® = . - 3 97| R744 !
000 GHKS PURMSPCT 1/2M (AUTHORIZED i
ALLOWANCES BASED ON A TOTAL €F 1l1) i | i
RC206FL04d 181349) ABB | :
RESISTORe FIXED» COMPOSITIGON R751L 300s.| EA 1| = * * . ® ® 3 97| R75L|
0G0 GHMS PORMSPCT 1/2u l i
RC20GF304J (81349) ABB
RESISTORs FIXEDs, COMPOSITION R70L 470s..| EA 3| = * ® ® s ® 3i 97, R701
000 GHMS PCRMSPCT 1/2W (AUTHORIZED
ALLUMANCE S BASED ON A TOTAL CF &)
RC2UGF4744 (81349} a88
KESISTOK, FIXED, COMPOSITION R709 470s..! EA| REF » * ® s ® » 3 97| R709
000 CHHS PCRMSPCT 1/2w (AUTHORIZED
ZLLOWANCES BASED ON A TOTAL CF 4}
RC20GF4T4J (81349) ABB
RESIoTORs FIXEDy COMPOSITION 2750 470see| EA| REF * = ® . * ® 3 97| R750
000 OHMS PURMSPCT 1/2W (AUTHORIZED |
ALLUWANCES BASED ON A TOTAL CF &) '
KkC20GF474J 181349) ABB
RESISTURy THERMAL RT-77L 31.5 OHMS, AT...| EA 1 o* = * ® ® s 3/ 106
770c6 ¢ 1-1/8 IN- LG X T/8 IA. W X 3/4
INGH
SCC62510 180063) AB3
RESISTUKs VARIABLE K823 2 SECT EA 25y..| EA 1| = * * ® ® s 5 RB23
000 CHMS PORMIOPCT 28 1-1/16 IN. DIA X |
SCD62817-1 (80063) ABB '
RESISTOR, VARIABLE K822 2 SECT FRONT...| EA 1 = * ® ] - ® 5 RB22
SECT 505000 OHMS PORMIOPCT 28 REAR SECT,
£0, 000 OHMS PORMIOPCT22 11-1/16 IN.
0.Dex 1-3716 IN. DP X 174 IN. DIA | : '
5Cu628L7-2 180063) ABB | i r
RESISTORy VARIABLE RT05 50,000 OHMSeeeco| EA FI £ ® * s s R705
PORMLOPCT 2W 1-1/16 IN. GD X9/16 IN. DP !
X 1/4 IN. DIA Q
5C262818-1 (800631 ABB | ,
RESISTOR, VARIABLE R821 50,000 DHMSe...s| EA| REF . ! o® * . s s R821
PORMIOPCT 2W 1-1/16 IN. 0D X9/16 IN. DP
X 1/4 IN. DIA
5CJ62818-1 (80063) ABB
SCREWs EXTERNALLY RELIEVED BODY NO-REF-..| EA 6| = ® ® » ® ® 5
DESIG FIL H 0.39 IN. DIA X 0.068 IN. H
SLOTTED #10-32 X 11/32 IN. LG
SCB62467 (80063) ass| .
SCRE#s SHOULDER NO~REF-DESIG #4-408 NC—.| EA 21 @ ® ® ® s = 5 9
2A 0.219 IN. LG [AUTH ALLOWANCES BASED !
CONTINUED '

55




SECTION
m

SMR
CODE

PAFZZ

PAF2Z

PAFZZ

PAO21

PAFLZ

XDFZZ

PAF22

XDFZZ

PAFZZ

2

FEDERAL
STOCK
NUMBER

5305-637-5453

5961-581-8066

5950-376-9541

5960-676-8119

5935-260-0516

5930-548-6906

5930-173-8364

TM11-5805-223-34P

@ @] ® ® m ® | @ (10)
DAY DS MAINT | 30-DAY G5 MAINT ILLUSTRATION
DESCRIPTION ery _ALLOYANCE | LYR o
UNIT| INC (a} (b) (e) (a) (b) (<) 100 (a) (b)
oF I M eaute | roo " IFIGURE] 1TEM
REFERENCE NUMBER & MFR. CODE  USABLE ON copg [YEAS| UNIT | 1-20 | 21-50/51-100( 1-20 | 21-50 51-100|cyrecy| gquip| No. | NoO.
: CONTINUED
ON A TOTAL OF 10)
$CB62661-1 (80063) a88
SCREW, SHOULDER NO-REF-DESIG #4-40 NC—ea| EA 8| =] | o & e s 5
24 1-5/16 INe LG O/A
SC562661-3 (80063) . ABB |
SEMICONDUCTOR DEVICE, DIODE CR721, CR722.| EA 2{ =| = e s % = 2! o1
1IN69A {81349) AB8
SHIELDy COIL E710 2-1/8 IN. LG X 1-7/16.| EA i = | e =] = = 2 E710
IN« W X 15/16 IN. O
SCC62837 €80063) aB8
SHIELD, ELECTRON TUBE NO-REF-DESIG 1-3/8| EA sl =] & & s| s =« 8
IN LG X J.958 IN. DIA O/A {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF10)
TS102U0L (81349) . ass|. .
SHIELD, ELECTRON TUBE NO-REF-DESIG §-1/2| EA 2] s =] = e e =
INe LG X 1.065 INo DIA O/A (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFS)
TS103U0L (81349) A88
SHIELD, ELECTRON TUBE NO-REF-DESIG 2-1/4| EA 3| =] ] ] & = s
INe LG X 0,958 EN. DIA O/A [AUTHORIZED
ALLUWANCES BASED ON A TOTAL OFC)
TSL02Uu3 (8L349) a88 .
SHIELDs ELECTKON TUBE NO-REF-DESIG 2-1/¢| EA i s #] e | ] e
IN LG X 55/64 IN DIA O/A (A/A BASEDON
TOTAL OF &)
16613597P26 (71785) 288 |
SUCKETs ELECTRON TUBE XV551 XVS53 1-3/16.| EA 9| | =] &f 2l | ‘s 3| 1
IN He X 0.800 IN W X 1-1/78 IN LG O/A
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
20
TS102P01 (81349) asg| - .
SOCKET, ELECTRON TUBE NO-REF-DESIG l—cee| EA 2| ] e | & = = 111
3716 INe & 1.035 IN W X 1-13732 INe LG
D/A (AUTHORIZED ALLOW BASED CN A TOTAL
DF5)
TS103P0L (81349, w88| .| i .
SWITCHs LEVER S861 1-7/8 IN. LG X 1-3/32| EA 1] | | & | = 106| sso1
IN W X 1-3/32 INeD
$CC62624 180063) a8 ]
SWITCH, LEVER ST05 1-7/8 IN. LG X 1-1/16| EA i ¢ = & =| | = s s705
INe W X 1-3/32 IN. )
5CC62830 (80063) ABB , ' ,
sMITCH, LEVER 5703 1-7/8 IN. LG X 1-1/32| EA i e = | | w| % ‘ s703
INe D
5CC62825 (80063) ass| . 1 .
SwiTCHy LEVER S701 1-7/8 IN. LG X 1-9/32| EA il s e e el s| e s701
INe w X 1=3/32 INHy O/A
SCC62847 (80063) A88. |
3wITCHy LEVER S771 2 IN. LG X 1-7/32 INe| EA 1 el e e s| & e s S171
v X 1~3/3¢ INe DIA
50062828 (80063) ABB
!

56




SECTION

m

SMR
cove

CAfF2Z

PAFZZ

PAFZ2

PAFZ2

XDFZZ

PAFZZ

PAFZ2

PAFZZ

PAF22

PAF22

PAFZZ
PAFZZ
PAFZZ
PAFZZ
PAFZZ

PAFZ2

I
2

FEDERAL
STOCK
NUMBER

5930-548-34094

5930-306-2206

5940-280-1728

5940-280-1728

5940-259-5745

5940-259-5745

5940-259-5745

5940-259-5745

5940-259-5745

5940-258-5327
5940-258-5327
5940-258-5327
5940-258-5327
5940-258-5327

5940-542-8158

3

DESCRIPTION

REFERENCE NUMBER & MF2. CODE  USABLE ON CODE

)
30-DAY DS MAINT

()
30-DAY GS MAINT

ILLUSTRATION

TM11-5805-223-34P

ITEM

(b)

nNO.

SWITCH, LEVER $702
W X L1-3/32 IKe D
SCCe2826 (80063)
SWiTCH, ROTERY S772

& INe LG X 1-3/4 IN..

A8
3 SECT 12 POS 2-..

174 INe. LG X 1-3/8 IN. X 1-9/16 IN. H

J4559-4ML 43 (821041
TERHINAL, FEED THRU,
INe LG X 10/32 IN. W

ABB
INSULATED €725 17/8.
X 5716 IN. Hy O/A

(AUTH ALLOWANCES BASED ON A TCTAL OF 5)

FY5 (81312)
TERHINALe FEED THRU»
INe L6 X 11732 INe W

ABB
INSULATED €726 77/8.
X 5/16 IN. He O/A

(AUTH ALLOWANCES BASED ON A TCTAL OF 5)

FY5 (81312)
TERMINAL, FEED THRUs
1/16 IN. LG O/A

FT9 183125)
TERMINALy FEED THRUs
1716 IN. LG G/A

FT9 (83125)
TERMINAL, FEED THRU,
1/16 IN. LG C/A

FT9 (83125)
TERHINAL, STUD ETIG
IN. ACRUSS HEX FLATS
9101458 (21450)
TERMINALs» STUD E711
IN. ACROSS HEX FLATS
2101456 (21450)
TERMINAL, STUD ET12
IN. ACRGSS HEX FLATS
9101458 (214501
TERMINAL, STUD ET33
IN. ACROSS HEX FLATS
92014586 (21450}
TERMINALs STUD ET34
IN. ACROSS HEX FLATS
9101458 (21450)
TERMINAL STUD ET7J7
753 181312)

TERMINAL STUD ET03
753 (81312)

TERMINAL STUD ET704
753 (81312}

TERMINAL STUD ET705
753 (81312)

TERKINAL STUD ET706
753 (81312)

TERMINAL STUD EZ61
INe ACRCSS HEX FLAT
ALLOWANCES BASED ON
213584 192825)

ABB.
INSULATED E72%k l-se

A38
INSULATED E722 1-..

AdB
INSULATED ET4% 1-..

ABB
5/8 INe LG X 3/16ece
274

ABB
5/8 INe LG X 3/'5e0e
o/A

ABB
5/8 INe LG X 3/16ece
G/7A

ABB
578 INe LG X 3/16eee
a/7A

ABB
578 INe LG X 3/16cee
C/A

ABB
23737 L6 X 1/4 IN DIA
ABB
23/37 LG X 1/4 IN DIA
ABB
23/37 LG X 1/4 IN CIA
AB8
23737 LG X 174 IN CIA
ABB
23737 LG X 1/4 IN DIA
ABB
1-3/32 Ihe LG X L/%ee
(AUTHORIZED
A TOTAL GF17;
ABB

57

ALLOWANCE
(o) b {e)
1.20 | 21.50 |5)-100
L ® *
3 2 L ]
* % ®
|
* E ®
» = *
* * *
® ® L
» * *
» % ®
] - ®
» * *
* - *
* -« #
* ] *
* 1] *
- * *
= * *
* * ®

ALLOWAKCE
(0) | () | (e}
1-20 | 21-50 {51-100
] ] &
L] ® °
% * L]
% ® ®
% % s
= * ®
* L] L
* % ]
] % ®
L L &
v * ]
® * »
] L ®
% * *
* ® *
* * %
* = %
* * *

o e e e

5702
ST72
ETZS
f

]
€726 !

£721
€722
ET46
€710
ET11
€712
€733
E734

F107
E703
ET04
E705
E706
E761




£ 1
CODE

SECTION 11

PAF.2

PAFZL

PAF1Z

PAF22

PAFZ1

XDF2Z

| XDFZ2

XDFZZ

(2)

FEDERAL
sToCK
NUMBER

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

5940-542-8158

TM11-5805-223-34P

3.0 AT |30 AY(;,S;;AMT LD L

. ary | ALLOWANCE |  ALLOVANCE YR |pEPOT(LLUSTRATION

PRIERITION e e T o[ o @ ® ] @ M @ [ ®
\ ; ‘ : Lois i 5 120 | 2050|1100, EQUIP 1 100 FICURE) I8k
REPERENCE NUMBER & MFR. CODE _ USABLE ON COpg [UEAY UNIT | 1-20 | 21-50751-100) 1.2 “190,cnTecy| gquip| NO. | KO
TERHINAL STUD ET62 1~3/32 INe LG X 1/4..| EA| ReF s o] *f »f s = 1 £162
IN. ACKOSS HEX FLAT (AUTHOR1ZED
ALLOMANCES BASED OM A TOYAL OFLT) -
2L35A4 {92825) . Asa| .
TERMINAL STUD 822A 1~3/32 IN. LG X L/4..| EA| REF el a] s| e] w| s 1 8224
INe ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFL7}
2U3544 (92825) aes , S
TERMINAL STUD 8228 1-3/32 IN. L6 X L/%e.| EA| REF | ¢ | s s & 1 8228
IN. ACRGSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFL7)
2U35A% (92825) ass| | , i
TERMINAL STUD. B23A 1-3/32 INe LG X L/%oo| EA| REF el o] s | = = 1 823A!
IN. ACROSS HEX FLAT {AUTKORIZED ;
ALLOWANCES BASED ON A TOiAL CFL7) ;
2L35A¢ £92625) aB8 | . : :
TERRINAL STUD 2238 1-3/32 INe LG X 1/4..| EA| REF o sl e] s =| = 1 8238
IN. ACROSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TCTAL OFLT) !
203544 {92825) ABB | X .
TERHINAL STUD E706¢ 1/8 IN LG X 1/4 INese| EA| 24| o] #f | s »l @ : ETO4
ACRLSS HEX FLATS (AUTHORIZED ALLOWANGES
BASED ON A TCTAL OF72) . ;
EP5262 19(348) ’ ABB . ) i
TERMINAL STUD ETO5 1/8 IN LG X 174 INeeo| EA} REF ol #l s e & = ; £705
ACRGSS HEX FLATS (AUTHORIZEC ALLOWANCES 1
BASED UN A TOTAL OF72) | :
EPS262 190248) AbB , , :
TERMINAL STUD E706 1/8 IN LG X 1/4 LNeeo| EA| REF si | s| s| =| = ! E706
ACRUSS HEA FLATS (AUTHORIZEC ALLOWANCES |
BASED UN A TOUTAL OF72)
EPS262 (90348) aBe] . , | ! ‘ ;
TERMINAL STUD ET27 1/8 IN LG X 1/4 INeeo| EA| REF N T S T - er27
ACRLSS HEX FLATS (AUTHORIZED ALLOMANCES :
BASED GN A TOTAL OF72)
EPS262 (9G3¢8) AB8 v o
TERMINAL STUD E728 1,8 IN LG X 1/4 INeeo| EA| REF « | s | = = ET28
ACRLSS HEX FLATS (AUTHORIZEC ALLOWANCES [
3ASED OGN A TOTAL NF72) | N
EPS262 (90348) a8/, N .
TERMINAL STUD E729 178 IN LG X 1/% INo..| EA! REF | & s x| s = ET29
ACKLSS HEA FLATS (AUTHORIZED ALLOMANCES
BASED ON A TGTAL OF72)
EPS202 (9U34d) ABB
TERMINAL STUD E741 1/8 IN LG X 1/% INeeo| EA| REF *] = =] » &l = ET4L
ACRCSS HEX FLATS (AUTHIRIZEC ALLOWANCES | | .
BASED UM A TQTAL OFT2) !
EP5262 (9U348) ABB 1 ! L 1-
TERMINAL STUD ET742 1/8 IN LG X L/4 IN...| EA; REF * = = #} - L ET42
ACKLSS HEX FLATS (AUTHORIZED ALLOWANCES t
bASED ON A TITAL OF72) | |
EPS262 L9U348) ABB i |

i | |

58




TM11-5805-223-34P

SECTION |1
m @ (3) Fa ] ® t6) 2 ® | 9 a0 ]
| 30-DAY DS MAINT | 30.-DAY GS MAINT ;
‘ DESCRIPTION ; ary ALLCWANCE ALLOWANCE 1:YR |DEPOT|ILLUSTRATION;
REREBAL T e D @ ] @ @ | e [ o [ANPERMAWT ) T
B4R STORK joF | N ! 100 ALWPER '
CooE HUMBER ‘ IMEAS| UNIT | 1-20 | 21-50151.100] 1.20 | 21.50 51100 EQUIP | 100 |FICURE} 1TEM -
| REFERENCE NUMBER & MFR CODE USABLE ON CODEf“ ! s ' ) o - : y CNTGCY: -EQuIP | “NO. NO.
: : ' . H
2 TERMINAL STUD E744 1/8 IN LG X 1/4 IN.. | gA. Rgg | = %! & =] = = i ET44 |
IACROSS HEX FLATS (AUTHORIZED ALLOWANCES | = : : | | !
BASED ON A TOTAL OF 72) : ; ;, | k ; :
EPS262 (90348) ABB : j i ! : i i
| xoFzz TERMINAL STUD E747 1/8 IN LG X 1/4 IN.. | Al REf i = | ol &l ol i ; ET47 |
l ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ( ! i i ;
i BASED ON A TOTAL OF 72) ! : ! | ; !
\ EPS262 (90348) ABB. | ; : i ; '
YOF2Z TERMINAL STUD E771 1/8 IN LG X 1/4 IN..  EA: REF S T Y Y ! | ETTL
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES | | i :
BASED ON A TOTAL OF 72) : ! :
EPS262 (90348) ABB : :
XDFZZ TERMINAL STUD E772 1/8 IN LG X 1/4 IN..! ga! reF | x| & & =l = ! 13278
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ; i
BASED ON A TOTAL OF 72) ‘
EPS262 (90348) ABB
KOF2Z TERMINAL STUD E773 1/8 IN LG X 1/4 IN..| gA| REF = 0+ & = % = ' er13;
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES . i ; !
BASED ON A TOTAL OF 72) | ,
EPS262 (90348) ABB i
YDFZZ TERMINAL STUD E774 1/8 IN LG X 1/4 IN..|{ gA| REF s & | | = # i E174
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES :'
BASED ON A TOTAL OF 72) j
EPS262 (90348) ABB -
YDFZZ TERMINAL STUD E775 1/8 IN LG X 1/4 IN..| ga{ REF of #| ¢ = | = €115
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
EPS262 (90348) / 1a (o8
TERMINAL STUD E805 1/8 IN LG X 1/4 IN..| ga o o« sl & | =
xoFzz ACROSS HEX FLATS (AUTHORIZED ALLOWANCES | ©°; REF €803
BASED ON A TOTAL OF 72)
EPS262 (90348) ABB
XDFZZ TERMINAL STUD E806 1/8 IN LG X 1/4 IN..| gal REF I Y Y €806
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES |
BASED ON A TOTAL OF 72) ’
EPS262 (90348) ABB
XFZZ TERMINAL STUD E807 1/8 IN LG X 1/4 IN.. e e = :
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES | S| REF I €so7,
BASED ON A TOTAL OF 72) :
EPS262 (90348) ABB
XDFZZ TERMINAL STUD E808 1/8 IN LG X 1/4 IN..| ga| mer o &l &l el & = €808
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
EPS262 (90348) ABB l
TERMINAL STUD E812 1/8 IN LG X 1/4 I N.
X0F2Z IACROSS HEX FLATS (AUTHORIZED ALLOWANCES | EA| REF bt B I B R B €812
BASED ON A TOTAL OF 72)
EPS262 (90348) ABB |
EFZZ TERMINAL STUD E813 1/8 IN LG X 1/4 IN.. EA REF = - 2 P « . Esu
LACRDSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
EPS262 (90348) ABB
59




SECTION
()]

SKR
CODE

XDFZZ

XDFZ2

PAF22

PAFZ1

PAFZ1

PAFZ1

PAF2Z

PAFZZ

PAFZZ
PAFZZ
PAF2Z

PAF22

"
(2

FEDERAL
sTock
NUMBER

5950-645-6404

5950-645-6404

5950-645-6404

5950-645-6404

5950-645-6404

5950-645-6404

5950-646-3143

5950-646-3143

5950-545-7792

5950-545-7793

60

TM11-380Q5-223 34F,
3 9] (5 (C) ) (8) 9 a0
“f&ogi HAINT | 30.DAY CS MAINT ILLUSTRATION
DESCRIPTION QryY A A v PeR] Maner
ug;r |:4N; @ | ® | @ | @ | o | @ [ e © )
EQUIP | 100 |FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [MEAS UNIT | 1-20 | 21-5051-100] 1-20 | 2150 |51-100|cyrecy! gquip| MO. | No.
TERMINAL STUD E81¢ 1/8 Iy LG X 174 IN..o| gA! REF s 8| ® s o €816
ACROSS HEX FLATS {AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72). ,
EPS262 (90348} . ABB | )
TERMINAL STUD E815 1/8 IN LG X 1/4 INe.o| EA| REF | ®| = = | = E815
|{ACRCSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED ON A TOTAL OFT2)
EPS262 (903481 ABB| . . .
TERHINAL STUD E816 1/8 IN LG X L/4 INe..| EA| REF e| = » = s = E816
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED GN A TOTAL OFT2)
EPS262 (90348) ABB .
TRANSFGRMEKes AUDIOFREQUENCY T722 1-5/16.| EA 6| | = e s | = 3 9| 1722
INe H X 14716 INe LG X 9716 IN. W O/A
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF !
) .
5262524 (80063} ABB ]
TRANSFORMERe AUDIOFREQUENCY T723 1-5/16.| EA| REF L] % ® & ] ] 3 96| Y123
INe H X 11716 IN. LG X 9/16 IN. W O/A
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
81
SC262524 (80063) ABB ) )
TRANSFURMER, AUDIOFREQUENCY T725 1-5/16.| EA| REF el e ® * s] = 3 96| 1125
INo H X 11716 IN. LG X 9/16 IN. ¥ 0/A
(AUTHORIZED ALLOWANCES BASED CN A TOTAL OF|
8}
$C062524 (80063) aBB| . )
TRANSFURMER, AUDIOFREQUENCY 104 1-5/16.| EA| REF s & s » s, = 3] 106 104
INe H X 11/16 IN. LG X 9716 IN. W O/A ; .
AUTHORIZED ALLOWANCES BASED CN A TOTAL OF '
8} |
SCI62524 (80063) ABB |
TRANSFORMER. AUDIOFREQUENCY T801 1-5/16.| tA| REF Y * * = = { 3| 108| 1801
IN. H X 1i/16 INe LG X 9/16 INe W O/A ’
(AUTHOURIZED ALLOWANCES BASED CN A TOTAL OF !
8) i
$CD62524 (80063} ABB| . ]
TRANSFOKMER, AUDIOFREQUENCY T802 1-5/16.] EA| REF ) * * | = ‘ 3| 08| 1802
INe H X 4i/16 IN. LG X 9/16 INe W 0O/A |
(AUTHORIZED ALLUWANCES BASED CN A TOTAL OF |
8)
5262524 (80063) ABB |
TRANSFURMER, AUDIOFREQUENCY Y711 1-11/16] EA 2l = ® * ® ® ® 3! 98| 1111
IN B X 1-3/8 IN. LG X 1~3/16 IN. W O/A
SCC62690 (50063} ABs| .
TRANSFURMERs AUDIOFREQUENCY T712 1-11/16] EA| REF » * * . s = 3 98| T
IN H X 1=3/8 INe LG X 1-3/16 IN. W O/A
SCCo2BUL (80063) ABB
TRANSFURMER, AUDIOFREWVENCY T724 1-25/32] EA 1 x| = * ® ® * 3| 98| 1724
INe Lu X 1=1/32 IN W X 2-21/32 IN H G/A
SCC62526 (80063) ABB v
TRANSFURMER, AUDIOFREQUENCY T761 1-25/32| Ea 2 ®| % * s s = 3: 96| T7el
CONTINUED '




SECTION
m

PAFZ2

PAFZZ

PAF22

PAFZ2

PADZZ

PAF22

XDF22

XDFZZ

PAFZZ

XDFZZ

PAFZZ

PAFZZ

PAF12

XDFZZ

PAF1L

I
(2)

FEDERAL
STOCK
NUMBER

5950-545-7793

5950-648-2276

5950-646-2767

5905-356-2898

6350-269-7977

5905-080-6833

5910-723-5169

5910-723-5169

5910-936-4804

5910-376-9764

TM11-5805-223-34P

) W] ® %) o ® | % an
30.DAY DS MAINT | 30-DAY GS MAINT
ALLOWANCE ALLOYANCE YR |pepor|iLLUSTRATION
DESCRIPTION ety
BTl ke @ | B [ e | @ [ @ | o [MRPER MA@ T w
: o eowe [ oo [Froure| 17em |
REFERENCE NUMBER & WFT. CODE _ USABLE ON CODE ["oA% UNIT | 1-20 | 21-50 51-100) 1-20 | 2150 |51-100 eyygey| gauep| NO. | NO. |
CONTINDED |
i LG X 1-13732 INe ¥ X 2-15/16 IN. H r
u/a
5C262615 (50063) 488 _ |
TRANSFURMERs AUDIOFREQUENCY 7821 1-25/32| EA| REF o &l el =] e| e 3| 108] 1821
Ihe 46 X 1-13/32 IN. W X 2-15/16 IN. H
TR
50262515 (80063) A88
TRANSFORMER, AUDIOFREQUENCY T701 2 IN. H| EA 1, s e =] s s s 3l 96| TT0L]
X 1-3/6 INe LG X 29732 IN. W X O/A
SCI63040 1800631 Ase i
TRANSFORMER, AUDIOFREQUENCY T721 2-eceeo| EA L %l e s #| s = 3| 96| T721!
5/32iNe H X 1-25/32 iN. LG X 1-1/32 IN. W '
osa
$C)62536 (80063) ABB I
RINGER OSCILLATOR GROUP NO=-REF-DESIGeeoes| EA 1 %] ] | | ¢ = 3 j
12222121221 2TTLT (12222) AB8 '
KINGERy GSCILLATOR NO~REF-DESIG 6 X 4aes| EA 1| e| ] el & = s 3l 12
1/2 X & - 9/16 IN O/A
50362633 (80063) A88
BULZER 1L VIBRATING 2-5/8 IN. LG X 1-| EA 1 sl | s | e = 2| 9| n
21732 IN. 8 X 3/4 INe D O/A
WB6531~2 (19557) ABB »
CAPACITOR, FIXEDs MICA DIELECTRIC  Céees| EA aosl x| s ] el e 95| 4
62 UUF PURM2PCT 500 VDCw
CHL5C620GP3 (81349) A8 . |
CAPACITURy FIXEDs HICA DIELECTRIC  C7ee.| EA 1 el %] o] & & = 95| ¢z
91 UUF PURM20PCT 500 VDCW
CML5C910GP3 (81349) ABB
CAPACITOR, FIXEDs MICA DIELECTRIC  CBee.| EA I ¢ =l 2] = & = 3| 95| s
180 UUF PORMZ2PCT 500 VDCHW
CHLSC181GP3 (B81349) ABB | !
CAPACITOR, FIXED, MICA DIELECTRIC  C9...| EA 1 s ] e = = = i 9
330 UUF PGRM2PCT 500 VDCW
CM30E351132G1 (81349) Ag8
CAPACITUR, FIXEDs MICA DIELECTRIC  C3...| EA 2l =l x| x| e e = 3l es| ¢
1300 UUF PLRMZPCT 500 VDCW
CM30E132G (81349) B8 ,
CAPACITORy FIXEOs MICA DIELECTRIC  Cl2...| EA| REF « o %] s & = 3| el ci1z2
L1400 UUF PGRMZPCT £00 VDCH
CH30E132G (81349) 488 v
CAPACITOR, FIXEDe MICA DIELECTRIC  Cbaee| EA 1] = =0 =] 8| | 2 3| 9| e
3900 UUF PGRM2PCT 500 VOCH
CM3SE3926N3 182349) ABB
CAPACITOR, FIXED, MICA CIELECTRIC  Clieeo| EA 2| o+ #]l e] | | = 95| cio
10,000 UUF PORM2PCT 300 VDCH
CH3SELO3GN3 181349) ABB
CAPACITORy FIXED, WICA DIELECTRIC  Clle..| EA| REF # =] o = | = 95| ci11
109000 UUF PORM2PCT 300 VOCW
ICHISELOIGN3 (81349) A8B :
\CAPACITORy FIXEDs PAPER, DIELECTRIC  Cl.| EA | e =l e e ' & 5| 9]
12705000 UUF PGRMLOPCT L0OVDCM
81P27491T5 (56289) B8/ |

61




SECTION |

m

SMR
CODE

PAF12

XDFZZ

PAFIZ

PAO22
PAO2Z
PAF2L

PAFZZ

PAFZ2

PAFZ2Z

PAFZZ

X¥7Z2

PAF2Z

PAF2Z

@

FEDERAL
STOCK
NUMBER

5910-263-0864

5935-201-7625

5960-188-6584
5960-188-6584
5950-376-9713

5945-259-1231

5905-279-2593

5905-646-5772

5905-190-8867

5905-195-6761

5905-192-0667

TM11-5805-223-34P

@ W1 eoar DS mamt | s0.oavehuamt | @ | @ 10
DESCRIPTION oty | ALLOWANCE ALLOWANCE 1-YR |DEPOT]ILLUSTRATION
: uNIT] iNC | @) | B ] © | (@ | B | (o) ‘LI'{’:"‘ MAINT [Ty
L°F IN eaore [ To0 Ficure| 1Tem
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE [“EAY UNIT | 1-20 | 21-50151-100) 1-20 | 21.50 |51-100)cyrecy| gquip| NO. | N
CAPACITGR. FIXED, PAPER, OIELECTRIC  C2.| €A 1 = e = &| & = %l c2
£20,000 uuF POEM200CT 300 VECH
25H3684AAA {96733} ABB
CAPACITORy VARIABLEs CERAHIC OIELECTRICe.<| EA 1] e e #| s e « 3| 95| s
C5 <0 UUF TO 120 UUF 600 VOCH
CV12D121 161349) 488 . .
CAPACITOR, FIXEDs MICA DIELECTRIC Cl3eeo| EA el w| e] & e = o5| c13
1000 UUF PGRM2PCT SGO VDCHW
CH30E302GN3 (81349) A8
CONNECTORy RECEPTACLEs ELECTRICAL  Plees| EA i | 2| e e e e 3| 9| o1
<l 2-3/32 INe LG X 3/6 INe ¥ X 29/32 1IN«
HUZA (AUTHORIZED ALLOWANCES BASED ON A
TOTAL OF 4
47318599 (71785) BB ] !
CRYSTAL UNIT, RECTIFYING CR3 1/2 IN L6.| EA 2l e e w] ¢ ¢ = 9s| cr3
X 0.250 In DIA (A/A BASED ON A TGTAL OF
&)
IN6O (81349) ABB
CRYSTAL UNIT, RECTIFYING CR4 1/2 IN LGe| EA| REF s o = 8| | 95| cre
X 0.250 IN DIA (A/A BASED ON A TOTAL OF
)
IN60 (81349) 488 |
ECECTAON TUBE  Vlsecesesvscssccssccscase| EA 2| o eof =] s s| 100, 9| w1
6670 181349) 488 ]
ELECTRGN TUBE  V2eceececcccscesosscoveces| EA| REF o o #| e = = 100 v2
6670 {81349) 288
REACTOR L1 T.25H 2-7/16 X 1-3/3 K 2-.| EA i el el e e ] e 2| 9| u
9/32 IN O/A
SCC62514 (80063) a88
RELAYs ARMATURE KL 3-1/16 IN L6 X i-..| EA 1l 2l | & s & = 3| 96l &1
5/8 IN WX 1-7/16 IN Dy O/A
RP371762 (71482) 88
RESLSTOR, FIXEDs FILM R13 68.1 OHMSeoes| EA i e | «| e e = 35 R13
PURMLIPCT, 1/24.
RNTOB6GRIF (81349) : AB8
KESISTORs FIXEDs COMPOSITION RS 240ees| EA 1| x| | = #| sl = 3| 95| =&s
Cit4S, PLRMSPCT, 172k
RC20GF24LJ (81349) ABB
KESISTORy FIXED, FILM R12 604 OHMS.e.e.| EA 1l o] | s| =] 2] = | 3] 95| Rr12
PURMIPLT, L/2W
RN IBOG4OF (81349) A8B
Rt ISTOR, FIKEDy CGMPOSITION R10 5100..| EA 1| =] = s e e s 3 R10
UHMS, PORMSPCT, 2W
RC42GF5124 (81349} ABB
RESISTOK, FIXEDy FILM R1l 68,100 GHMS..| A 1 sl s e e s = 95| R1l
PORMLIPCT, A/2W
RN70Bo842F (81349) AB8
KESISTUks FIXEDs, COMPOSITION  R3  100,..| EA 1 = x| e & sl s 3] 95| =3
GO0 GHMS PURNSPCT 1/2W (AUTHORIZED
ALLOWANCES BASZD ON A TOTAL CF 111
RC2CGFLO4J (51349) AnB
KESISTORy FIXEDs COMPOSITION R17 2204..| EA el el ol e sl e e 3 95| a7
CONTINUED '

62




TM11-5805-223-34P

SECTION 11
o @ o ' R w-DAY(:)SNAIlT 30 ou‘c’;’s MAINT L e
& caipTiON ofy L ALLOWANCE ALLOWANCE 1.YR |DEPOT | ILLUSTRATION
R ‘ DESCRIPTIO : UNIT, INC | () ] ) | (o) | (o) | (b | () |ALWPER MAINT 77,1,
c‘::. sTock ‘ : 3 OF | N E‘o(:luﬂ “7;'{“50“ ITEM
NUMBER | REPERENCE NUMBER & MPR. CODE  USABLE ON Copg [*EAY UNIT | 1:20 | 21-50151-100| 1-20 | 21-50)51-100jcnvgey| EQuip| NO. | NO.
| CONTINUED
000 CMMS, PORNSPCT, 1/2W. .
RC20GF2244 181349) . - ABB
PAF2Z | s5905-279-2520 |RESISTORe FIKEDs COMPOSITION R14 360,s.| EA 1 ® ® ® ® ® ® 3 95| RIl&
0UD GHRS, PORMSPCT. 1/2W
RKC206F3664 (813490 ABB
PAFZZ | 5905-279-2515 |RESISTORs FIXEDy CORPOSITIGN R1S 470¢..| EA 1 s s ® ® ° ® 3 95| R1S
300 OHMS PURMSPCT 1/2d (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF &)
RC20GF6744 (81349} ABB i
PAFZL 5905-111-4840 RESISTOR, FINED, COMPDSITION Rl 510v..| EA 1 . ] ® ® ® ® 3 95 Rl
OUQ CGMMS PCRMSPCT 1/2
RC206F51ed (81369) AtB ,
PAFZZ | 5905-279-2514 |kgsisTORe FIXED, COMPOSITION R8 560yec| EA 1 & ® * = ® ] 3 95 RE
ul0 [WAS, PORMSPCT, L/2W
KC206F56604 (81349) ABB
PAFZZ | 5905-192-0390 |RESISTORe FIXEDs COMPOSITION R2 ONEeeo| EA L ® ® e ® & & 3 g5 R2
NEGLHM PURMSPCT, 1/2W
RC2C6FLO5J (81349) 488
PAF2ZZ | 5305-356-4309 |SCREWy EXTERNALLY RELIEVED BOOY NO-REF-eo| EA 2 = ® * s . ® 5
VESIG PAN HO 0.382 X 9/64 X 9/64 IN HUs
REDUCED
SGB62664—~1 (B0063) ABB
PAFZZ | 5305-297-9102 |§CREwy SHOULDER NO~REF-DESIG #4-408 NC-.| EA 2 » b & ® b s 5 %
24 0219 IN. LG (AUTH ALLOWANCES BASED . i
UN A TOTAL OF 100 .
SCB62661-1 {80063) ABB i )
xozz SHEELD, tLECTRON TUBE NO-REF-DESIG 1-1/2| EA 2l = ®| & x| | # 13
INe LG X 1.065 INe DIA O/A (AUTHORIZED | |
ALLOWANCES BASED ON A TOTAL OF5) |
TSLO3UOL (81349) ABB 1 } .
YDFZ7 SGCKET ELECTRON TUBE  XV1 1-3/16 INe Xeo| EA 2 * * * * * v 95! Xvi
1.035 IN W X- 1-13/32 IN. LG 0/A
(AUTHURIZED ALLOW BASED ON A TOTAL OFS)
TSLO3POL (81349) A8 i ]
XDFZZ SOCKET ELECTRON TUBE XV2 1-3/16 INe Xeo| EA| REF * = ® * ® ® XVe
1.035 IN W X 1~13/32 IN. LG O/A
CAUTHORIZED ALLOW BASED ON A TOTAL OF5)
TSLO3POL (81349) . . A8B i
YIF2Z TERMINALy STUD EL 7/8 IN LG X 174 IN..| EA 7 * - * ® * * él
IALRCSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TQTAL OF72)
EPS262 190348) ABB | ) R
xorzz TERMINAL, STYUD  E2 7/8 IN LG X 174 IN..| EA| :“EF ® s] = s s » E2
ACRCSS HEX FLATS {(AUTHORIZED ALLOKANCES
BASED ON A TOTAL OF72)
EPS262 (90348) ABB i
XoFzz VERMINAL, STUD  E3 T7/8 IN LG X 1/4 iN..| EA| REF | &| = ol =] w €3
ACRGSS HEX FLATS (AUTHORIZEC ALLOWANGES
BASED ON A TOTAL OFT2)
EPS262 (90348} A8B . . i
XDFZZ TERMINAL, STUD E4 7/8 IN LG X 1/4 IN..| EA| REF | = s sl e &4
CONTINUED i
6 3




SECTION 11 TM11-5805-223-34P

) = TR T T T AT
- 30-DAY-DS MAIN DAY GS MAINT | - | | :
: i DESERIRTIOR i ALLOWANCE | ~ ALLOWANCE | 1.YR |pepor|ILLUSTRATION
Gin FEDERAL S ; , oIt ne | @ | @] @] @] ® ] @ "-1‘;:“ :_;"','; @ [ ®
cobe NUMBER ' EaS UNIT | 120 | 2150 {51.100] 1.20 | 21.50 |s1.100| EQUIP | 100 |FICURE] 1TEM
: REFERENCE NUMBER & MPR. CODE  USABLE ON CODE : el Sl - . -100/enTGeY| EQUIP| NO. | NO.
CONTINUED
ACROSS HEX FLATS [AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) AB8| . i .
|yorzz TERMINALy STUD ES 7/8 IN LG X 1/4 INe.| EA| REF | = * | =| ES
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
EASED ON A TOTAL OF72)
EPS262 (90348) AuB ] )
XDF2Z TERMINALs STUD €6 7/8 IN LG X 1/% IN..| EA| REF #| = ® x| &| = E6
ACRLSS HEX FLATS (AUTHORIZED ALLOWANGES
BASED GN A TOTAL OF72)
EPS262 (90348) ABB
XIFZZ TERHMINAL, STUD ELS 7/8 IN LG X 1/4 IN..| EA| REF x| = * s =i & €15
ACRUSS HEX FLATS (AUTHORIZEC ALLOWANCES
BASED ON A TOTAL OF72)
EP5262 (90348) ABB .
PAF2Z 5940-542-8158 TEdMINAL STUD E7 1-3732 INe LG X 1/4ee| EA 8 * ® L & L] 8 1 E7
INe ACRUSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OFLT)
2L35A4 (92825) A8B .
PAFZZ | 5940-542-8158 71gamINAL STUD E8 1-3/32 INe LG X L/4ce| EA| REF . ® & ® » - 1 €8
IN. ACRUSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF17)
213544 (928250 ABB.
PAFZZ | 5940-542-8158 rerMINAL STUD E9 1-3/32 IN. LG X 1/4..| EA| REF » * ® ® » ® 1 €9
INe ACRGSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL GFL7)
2L3544 (92825) ABB .
PAFZZ | 5940-542-8158 qeamINAL STUD ELO 1-3/32 IN. LG X 1/4..| EA| REF ® - ] * * s 1 E10
Ine ACRUSS HEX FLAT (AUTHORIZED
ALLJWANCES BASED ON A TOTAL CF17)
5
PAFZZ | 5940-542-8158 ?Ei:’fﬁaisi?ﬁ' EIl 1-3/32 IN. LG X u:“ EA| REF - ® * ® ® * 1 Ell
L3 ee
Ehe ACRUSS HEX FLAT (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CFL7)
5040.542.8155 2L35A% (92825) ABB.
PAFZ2Z FERMINAL STUD  E12 1-3/32 ENe LG X L/4e.| EA| REF " » o =] = 1 El12
INe ACRUSS HEX FLAT (AUTHORIZED
ALLUWANCES BASED UN A TOTAL CFI7)
parzy | 5940-542-8158 sgssu (92825) _ ABB .
ERMINAL STUC  EL3 1-3/32 INe LG X l/4e.| EA| REF * * ® » * * 1 £13
INe AURGSS HEX FLAT (AUTHCRIZED
ALLOWANCES BASED ON A TOTAL OF17})
papzz | s940-s42-s15a 2L35A4 (52625) : BB '
TERMINAL STUD  EL4 1-3/32 IN. L6 X L/%ee| EA| REF * * * * ® * 1 Elé
Ine ACKGSS HEX FLAT (AUTHORIZEG :
ALLUWANCES BASED ON A TOTAL OFL7) '
6as- 203504 (92825) ass ]
PAFZZ | ©°°507045-0373 . ANSFUKMEX AUDICFREQUENCY  T1 27/32 X.| EA U sl e e sl s e 3. 9%, Tl
$/16 X 1-9/32
SCC ¢330 (80063) AbB
PAFZz | 5950-569-0159 Lol e CRMER, AUDIOFREQUENCY T3 1-3/8 x| EA i = * * * » s 3 9% 13
CONTINUED
6 4




SECTION 11

(H

PEBTL
Pag22

PAFIZ

PAFIL

PAFIZ

PAF2Z

(2)

FEDERAL
STOCK
NUMBER

5950-569-0163

5805-503-1186

5905-080-6833

5910-814-2691

5910-667-5021

5910-667-5021

TM11-5805-223-34P

% . [ (@] (8 (6 l » [T ® 10
i 30.DAY- DS, MAINT | 30-DAY GS MAINT
| arTy | MLOVANCE ALLOVANCE: 1.¥8 | papey] ILLUSTRATION
DESERIPTION: i e provies
UMT: MC | (o) | B ] () | (e | () | () |ALEFERE R
aE| i E&%,ﬂ Ten
REPERENEE WOSI A PR CODE _ URMSLE Gucoge AT UMT | 120 | 21-51/51-100 1.20. | 215851 109 cyrcey) pome| NOC | NO:
i
1
28433, % ; MG [N O |
TRANSHG iMEle. AUDLOFREQUENCY T2 1-i1/1s] EA il ol e e o s e 3] 9| 12
% L= & br3AL6 1N OFA
SEE&25 05 (8BS AgB:
CRRRLIIS SUPPLY GROUD NO-REF-DESIGoscoeeee| EA| L] o o o o o o 3
2222 EBRIT \ZZLLZ) ABB
ok 17 AATGR AUBEOPREGUENCY NC-REF~DESIGAos| EA il = = =2 2| & = 5| 9%
e~E3/L6: X 9~B/8: X 4=TL6. IN G/A. 4000 TO.
20 KC 1N 4GOB; CYCLE SFEPS
SCU62634 (50063) Aes
CARACLTARs FINEDs MICA DIELECTRIC.  CBeeas| EA il s e & ] & = 3] 01| ¢
180 UUF PGRAZPCT 500 VOCH |
CHESCIBAGPS. {84349) ABB ! i
CARACLIOR s FIXEDs RICA DIELECTRIC C6050ee| EA 2l o el e & s = 101| ceos
360. UUF». PORN2PCT, 500VDCHe
CHESD3LLIN3 (8LI49) ABB
CABACITGR: FIXED, MICA DIELECTRIC C627eeo| EA| REF o e o s 2] = ; ce2?
360: UUE. PLAM2PCT, 500VDCH. ‘
CHE503614N3 (81349) 488 !
CAPACITGR, FIXEDs MWICA OIELECTRIC C6lbeos| EA iy e = e el o = 3/ 101} cere
51 UWF PURM2PCT, 500VOCH I
CHRSDSLIJNG (813499 a88
CAPACLTORs FLXED» MICA DIELECTRIC C60Teeo| EA 2l o] 8] o] &f =] = 101] €607
1000 UUF, PORMZPLT,. 500VDCH
CHISCLO25N3 (81349) a88
CAPACITORy FIXED, MICA DIECECTRIC C6l5...| EA| REF o] o] o] o1 | = 101] cols
1000 M, PORNZPCT, S00VDCH
CA3OC1026K3" £61349) ABB
CARLCLYGR, FIXEDy MECA DIELECTRIC Cb6l0e..| EA 2l o e =) | = = 101] cote
B WFs PORNZPCT, 500 VDCW
CREQS1626M3 {81349} 488,
CAPACITORe FIXED, MICA DIELECTRIC C625...] EA| REF of ol o | o] o ce2s
L0 ULiF,. RPBRNZPCT, 500 VOCK
CHQCL62LHE (81349} A58
CARACLIGA, FIXED, MICA. DIELECTRIC C6l3...| EA 2| ] e €| o ] = 10t| ce13
8200 UFy PORNZAC, 500 VOCK
CHeD26226N3 (81349) ase
CAPAGITOR FIXEDy KICA olELEt'mlc C6l4...| EA| REF ] L4 = s s & Coels
8200 UUF> PORM2PT. 500 VOCW.
LHe028226M3 (81349) 488,
CAPACETOR, FI¥ED, MICA DIELECTRIC C628eee| EA 2l s| | s =1 8| = 101] co2e
5800. UUF, PORN2PCT, 500 VOCK
CHISCHB26MI. (81349) ABB
CABACLTOR, FEXEDs PAPER DIELECTRIC C620... EA 2l o] s &l o] e = si 101} cez0
LOv4did WLiFy PORMLOPCT, 100VDCH
PUFL0601TL3: (56289) ABS
CAPACLTOR, FIXED. PAPER DIELECTRIC C62l..| EA| REF o] o o o o = s 62l
LGs000. UUFs. PBRRAOPCT, 100VOCH
HPLOSRLTLS (56289) agB
CAPACLTOR, FIXED» MICA. DIELECTRIC C623...| E4 il s e e e e e 101] ce23
CONTINUED

65




SECTION |1

m

SMR
Cr. .E

PAFZZ

PAFIZ

PAFZZ

PAFIZ

PAFZZ

PAF21

PAFZ1

PAFIZ

XDFZZ

PAFZ1

PAFZZ

PAFZ2

PAFZZ

(2)

FEDERAL
sSTOCK
NUMBER

5910-900-6059
5910-712-6166
5910-712-6166
5910-712-6166

5910-712-6166

5910-351-5751

5910-543-0655

5910-356-0137

5950-351-5560

5950-645-4529
5950-645-8848

5950-645-8848

TM11-5805-223-34P

Q) 4 (5) (6 [¢4) (8) 9 10)
30-DAY DS MAINT | 30.DAY GS MAINT ILLUSTRATION
DESCRIPTION ary L L
uaiTl N (@ [ e [ o [ @ [ e [ e (A W | ®
o[:s IN 12 EQUIP ‘Lvo:ﬂ! FIGURE| ITEM
REFERENCE NUMBER & MFR. CODE  JSABLE ON CODE UNIT | 1-20 | 2150 5)-100) 1-20 | 21-50 [53-100|cnyecy| quip| NO. | NO.
CONTINUED
10,000 UUF, PORM2PCT, 500 VOCM
CH3SCLO3GN3 (813491 #88
CAPACITORy FIXEG, MICA DIELECTRIC C606ee.| EA il e | *| s| ] e 3| 101| ceoe
1600 UUF PORMZPCT
CH30C1626N3 (81349) a8
CAPACITURs FIXED, WICA DIELECTRIC C602...| EA o =] | o | | = 3| 101 cso2
10,000 UUF PURMSPCT, 500 VOCM
CM35C103JN3 (81349) a88
CAPACITGR, FIXED, MICA DIELECTRIC C60%...| EA| REF o of o e | = 3| 101{ ceoe
10,000 GUF PORMSPCT, S00 VDLW
CM35CLO3JN3 (81349) asg
CAPACITGR, FIXEDs MICA DIELECTRIC C618...| EA| REF s o o e = = 3| 101 cels
10,000 UUF PORMSPCT, 500 VDCM
CH35CL03JN3 1813490 as8
CAPACITGR, FIXED, MICA DIELECTRIC C619...| EA| REF s & | =] e = 3| 101 ce19
10,000 UUF PORMSPCT, 50G VDCHW
CH35CLO3JN3 (81349) a8 .
CAPACETOR, FIXEG, PAPER DIELECTRIC C601..| EA il =] s| & & = = 101 cs02
100,420 UUF, PORM20PCT, 10OVOCH,
2THL106AAA (32159) A88
CAPACITUR, FIXED, PAPER DIELECTRIC C603..| EA 1| = = & = = = 100| ce03
1004000 UUF, PORMIOPCT, 300VDCH,
181P1049355 (56289) a8s
CAPAZITUR, FIXED, PAPER DIELECTRIC C6L7..| EA 1 x| | e x| x| = s| 101] ce17
1504000 LUFs 300VDCHa PORKLOPCT
91P15493513 {56289) A8
CAPACITGR s FIXED, PAPER DIELECTRIC C622..| EA il el ¢ o | | 5| 101] cez2
1804000 UUF, PORKLUPCT 100VDCH
26K1184D6 (32159) 8B
CAPACITGRs FIXED, PAPER GIELECTREC €609..] EA 1 e =i & =] = = 101| C609
220,000 JUFy PORMLOPCT, 200VOCH
81P22492512 156289) ABB
CAPACITUR, FIXED, PAPER OIELECTRIC C6ll..] EA Y ] ] Y Y S s{ 100| cel1
4725000 UUFs PCRMZOPCT, 300VDCH
91P 4740356 {56289) ABB
CAPACITOR, FIXED, PAPER DIELECTRIC C608..| EA 2| x| s | | e = 101| ce08
1UF, PORM20PCT. 300VDCHW
BA98409~2 (GL401) asB
CAPACITGR, FIXED, PAPEK DIELECTRIC C6l2..| EA| REF « # &] | =] = col2
LUF, PORMZOPCT, 3J0VOCHW
BAYB4U5~2 (01401) ABB
COiLs RADIOFREJUENCY L60& 1.1 OHM DC L.| EA i = o« *| | = = 3| 101] Leos
X 1-5/32 IN O/A
SCC62813 {80063) A88
COLLs TELEPHONE RETARDATION 1603 2 OHM..| EA 1l = x| €| » s = 3. 101 Le03
OC 3/4 X L-1/16 IN O/
SCC62B10 (800631 A8B
Colls TELEPHUNE RETARDATION L6302 Bekeoeo| EA 2| #| *| & x| =] e 3; 130] we02
OHMS UCe 1-172 X 1 172 IN O/A
SCC62605 180063) a88
COILy TELEPHUNE RETARDATION 1605 Be4eeee| EA| REF = » ® » ] ] 3 100! L6605
CINTINUED
6 6




SECTION 11

m

SMR
CODE

PAF2Z

PAFZZ

PAFZLZ

PAOZL
PaQZl

Paoz2

PADZL

PAF22

PAFZL

PaFll

PAF22

PAFZZ

PAF2Z

PAFLZ

PAFIZ

PAFIZ

(2)

FEDERAL
STOCK
NUMBER

5950-645-8849

5935-201-7625

5955-556-2175

5960-188-6584
5960-262-1357

5960-262-1357

5960-262-1357

5915-356-2157

5915-356-2158

5915-356-2159

5915-356-21960

5935-681-5690
5935-258-1194

5935-685-9396

6130-356-1702

6130-250-2235

TM11-5805-223-34P

o (@1 O o par'ss wamr | sooaviuamr | @ | @ e
ron ary | ALLOWANCE ALLOVANCE 1.YR_|pEPOY | 'LLUSTRATION
DESCRIPY unitl IC | @ | ) | () | (@ | ® | o “',"n:“}:_;“‘,;‘ @ | o
ead Uit | 120 | 20,50 {51.100] 1.20 | 21.50 [s1.100| EQUIR | 168 FICURE ITEW
REPERENCE HUMBER & MPR. CODE __ USABLE G COBE il -5051-100] 1-20 | 21-50|51-100 | cyycey| gouip| MO. | NO. |
CONT IRUED
OwaS OCs A~2/2 X L 142 IN O/
SCCABU® (80063} a8
COILs TELEPWUNE RETARDATION 1601 52 Owis| Ea| 1] s o | ¢ o = 3| 100] Lema
OCe 13716 X 1-9/32 LN 074
SEC6<H0B (B0063) a88
CONNECTOR, RECEPTACLE. ELECTRICAL P60leco| EA| 1| = | | of & & 3| 101{ reor
21 2~3/32 e LG K 376 IN. M X 29/32 IN.
HUPA  CAUTHORIZED ALLOWANCES BASED ON A
TOTAL OF 4)
47818599 (/L785) A88
CRYS¥AL UNIT, GUARTZ Y601 16 KC 1-1/2 X| EA| 1| =/ o | o | = 2| 100} veor
3/4 % 11432 IN O/A
SCC62805 (80063} as8
ELECTAUN TUBE V60lecessecsccecssesscccccs| EA| 1] ®f 2| | o & @ 100| 100/ veor
6670 {B1349) 88
ELECTHON TUBE V602 (AUTHORIZED.ceeoccoceo| EA] 3| o o] #| o 2| @ 100| 100| veo2
ALLOWANCES BASED ON A TOTAL OF7)
6554-6AKS4 (81349} ase
ELECTHON TUBE V603 (AUTHORIZED.cocececea| EA| REF | 3| | 2| | o = 100 100| vo03
ALLOWANCES BASED GN A TOTAL OFT)
6554-6AK5H (81369) ass
ELECTRUN TUBE V605 (AUTHORIZED.coeoseccce]| EA| REF | | | =| o] =| » 100| 100| veos
ALLOWANCES BASED JN A TOTAL OF7)
6554-6AKSH (81349) ass
ELECTAOM TUBE V60heececeseocscessccccscos| EA| 1| ®| o] e o] =« = 130| veos
CB2whA (81309) A88
FILTER, BANDPASS NO-REF-DESIG 8000 CPS..| EA| 1| ®| =| o #| | = 3| 100
GPER FREQ ETEM NO. FL6O3
5CC62801 (80063} BB .
FILTER, BANOPASS NO-REF-DESIG 12,000 CPS| Ea| 1| =| ! «f &| o = 3
OPER FREQ ITEM NO. FLG6UL
SCCo2834 180363) ase
FILTER, BANDPASS NO-REF-DESIG 15,000 cPs| ea| 0| =] o o o] | = 3
GPER FREQ. ITEW NO. FL6OA
SCC62835 (80063 486
FILTER, BANDPASS NO-REF-DESIG 20,000 CPS| EA|l A #| «| o | s = 3
OPER FREQ EVEM NO. +L632
SCC62636 (80063) ase
JACRy TIP 4603 BLUEcecessssceossssccsses| EA| 1| ®| | &l o & = 1| 100] se03
225~6 (30604) ' ey
UACK, TIP J60L (AUTHORIZED ALLOMANCES...| EA| 1| | =/ | o «f = 1| 100| 01
BASED ON A TOTAL OF23
SHB289931-3 (80063) so8|
JACK, TIP J602 WHITE (AUTHORIZEDeeeceso| EA| L[ 3| ¢ i & o = 1| 00| 602
ALLOMANCES BASED ON A TOTAL OF 2t
RS16108-1 (81349) a8 ]
RECTIFIERs HETALLIC CR6OL, CR602s l-weeo| EA| 2| #| s| | o] o » 3| 100
12716 X 15/16 X 7/8 IN O/A
SCC62504 (80063} as8
RECTIFIERy METALLIC CR603, CR6O%ececsees| EA| 2| ®| 2| o/ | | » 3| 120
SCC62839 180063} aBB

67




SECTION
m

SMR
CODE

PAF2Z

PAF21

PAFZ2
PAFZ
PAFI2
PAFZZ
PAF21

PAFZZ

PAFZZ

PAF11

PAF21

PAFZZ

PAFZZ

PAFZZ

PAFZZ

PAFLZ

PAF22

PAFZ2

PAF22

0l
(2)

FEDERAL
STOCK
NUMBER

5905-279-3521

5905-279-3521

5905-141-0727
5905-141-0727
5905-141-0727

5905-141-0727

5905-279-2593

5905-581-7550

5905-192-3973

5905-195-6800

5905-195-9481
5905-116-8569
5905-116-8569

5905 -

195-6806

5905-195-6806

5905-279-1757

5905-279-1757

5905-279-1757

5905-279-1757

TM11-5805-223-34P

@ @] (5 M) m ® | ® 10)
30-DAY DS MAINT 30-DAY GS MAINT X
aty ALLOWANCE ALLOWANCE t.YR |pEPOT|ILLUSTRATION
DESCRIPTION ALY PER| MAINT

uNIT e [ @ [ m | | @ [ o [ e |ARE @ [ ®

Exy uniT | 120 | 21.50 51.100] 120 squie | oo Ficure| 17
REFERENCE NUMBER & MFR. CODE  USABLE ON CODE UNIT | - -50151-100 1-20 | 21-50 |5)-100|cnyoey| gquip| NO. | NO.
RESISTORy FIXEDy, COMPOSITION R636 15....) EA 2 L] L s s L] s 3 101 | R636
GHMS PORNSPCT 1/24 '
RC20GFL50J (61349) aB8
RESISTORs FIXEDy COMPOSITION R637 15..ee| EA| REF o] & o & ef = 3 R637
OHMS PORNSPCT 1/24
RC206F1504 {81349) 488
RESISTOR, FEIXED, COMPOSITION R513eececece! £2 o =l =l = s = = 3| i0L| R613
RC20GF2014 181349) 488
RESISTURy FIXEG, COMPOSiTION R61l6ecececes| EA| REF s o 2| e = e 3| 101 Re1s
RC20GF201J (81349) ABB
RESISTURy FEXEDy COMPOSITION R618.acoscce| EA| REF o & s 8] e = 3| 101! re1s
RC20GF2014 (81349) ABB
RESISTORs FIXEDs COMPOSITION R619cecoscces| EA| REF | ] o] & & e 3| 101] Rrels
RC206F2014 {81349) a8B
RESISTOR, FIXED, COMPOSITION R654 240eee| EA 1] ¢ e = =] & s 3| 101 Ress
OHMS, PORMSPCT 1/2W
RC20GF24LJ (81349) 488, ) . .
RESISTORe FIXEDs FILM RG645 365 OHMSseeeo| EA i e =] | | 2| e 3| 101 Rees
PCRHSPCY, 1/2%
RNT0B3650 {Bi349) ABB
KESISTOR, FIXEDs COMPOSITION R629 470...| EA il sl o] e| #| =] s 3| 101] Re29
GHMS PGRHSPCT 1724
RC206F471J (81349) ABB
RESISTORs FIXEDy COMPOSITION R326 560ee.| EA 1| s | & & e = 3| 101 826
\GHMS PORMSPCT 1/2d (AUTHORIZED
ALLOWANCE S BASED UN A TOTAL CF 2)
RC206F5613 (813495 AB8
RESISTOR, FIXED, COMPOSITION R620 750eee| EA 1l sl el e e & e 3 R620
OHMS, PORMSPCT, 1/2u
IRC20GF751 (81349) aBB
RESISTOR, FIXED, COMPOSITION R6L0 820...| EA 2] x| =] =] | & = 3| 101| as10
OHMS, PURMSPCT, 1/2m
KN20GFB8214 (51349) 488
RESISTGRy FIXED, COMPOSITION R615 B820e..| EA| REF o #| &| & =] = 3| 101] re1s
GHMS, PURMSPCT, 1/2w
RN2IGF321J (81349) AB8
RESISTURy FIXEDs COMPOSITION R622 1,000.| EA 2l sl ] | o | = 3| 101} Re22
OHM PURMSPCT L/24
RC20GFLOZJ (81349} aeB
RESISTOKs FIXEGs COMPOSITION R655 1,000.| EA| REF o wl 5] &] €] = 3l 101 Re55
OHM PGRMSPCT 172+
RC20GFLOZJ (81349) ABB
RESISTOR, FIXEDs COMPOSITION R611 1,5G0.| EA o & = o o & = 3 R611
CHMS, PIRMSPCT, 1/2w.
RC20GF1524 (81349) ABB
RESISTOR, FIXEDs COMPUSITION R612 1,500.| EA| REF o ol 8| | «f = 3 R612
CHMS e PURMSPLT, 1728,
RC2OGF1524 (813495} ABB
KES ISTGhs FIXEDy COMPOSITICN R616 14500.| EA| REF | | | 2| =| = 3 R616
CHMSy PURMDPCT, 1/2m.
RC20GF152J (81349) A8B
RESISTURs FIXEDs, © °"OSITICN R617 1,500.| EA| REF o x| 2| | 2| = 3 R617

G- | iNUED

68




SECTION

(L}

PAFIL

PAFIL

PAFIZ

PAF1I2

PAF2Z

XDFZZ

PAFZ1

PAF22

PAFLZ

PAF2L

PAFIZ

PAFZIZ

PAFZZ

PAFZ2Z

PAF2Z

I
@)

FEDERAL
STOCK
NUMBER

5905-279-1877

5905-279-1877

5905-556-3334

5905-141-1130

5905-141-1130

5905-279-3501

5905-171-2004

5905-556-3345

5905-171-1998

5905-279-2675

5905-279-2675

5905-279-2675

5905-279-2675

5905-254-9201

TM11-5805-223-34P

69

@ @1 O oarDsuamr | 30.0ay'csmamr | ® nm
SICRIP TioN arTy ALLOWANCE ALLOWAMCE 1.YR |DEPOT|ILLUSTRATION
DEBSCRIP untl e | @ | & | @ | @ & [ @ et e [m
oF | N
EQUIP 100 |FIGURE! ITEM
REPERENCE NUMBER & MPR. CODE  USABLE Ow CODE ['CAY UMIT | 1-20 | 21-50 51-100) 1-20 | 2150 51-100/crey) gouip| NO. | NO.
CoNT INUED
OnitSe PORNSPCT, 1/due
RC206F1524 (81349) a88
RESISTURy FIXEDs FiLM R627 1870 OHMsuoeo| EA 1| »| | = & s = 101 | R627
PURMLIPCT, L22H
ANTOBEBTLF (81349) a88
RESTSTOR, FIXEDs COMPOUSITION R602 2,400.| EA 2| o = 8| s| o = 3| 101 Re02
UNRS PORRSPCT 1/2d
RCZO6FZ42J (813491 ase| -
RES§5TUky FIXEDs COMPOSITION R606 2,40J.| EA| REF s] | 8] | s = 3| 101| Reds
GHMS PURNSPCT  1/2W
RC20GF242J (81349) aB8
RESISTORy FIXEDy FILM R649 20610 OHMSseo| EA 1| = =| 8| s s » 3| 101| Re49
PURNAPCT, 1/2#
RN7082610F (81349} AB8
RESISTORy FIXED, COMPCSITION R625 2700..| EA 2l =] e o 8| | = 3| 101| Re2s
GHNSy PURNMSPCT, L1/72W
RC20GF2724 (81349) ABB
RESISTOR, FIXED, COMPOSITION R626 2700..| EA! REF ol o e 2| s = 3| 100| Re2e
Ci¥iSe PURRSPCT, L1/2w
RC206F272J (81349) as8
RESISTURy FIXED, FILH R648 4480 OHMSoces| EA 1| & =] | =] =] s R648
PGANLPCT, L/2¥
SCC62507-48 (800630 a88
RESISTOKe FIXED, COMPOSITION R609 16,000| EA il el e s o s = 3 R609
OHRS, PORMSPCT, L/2u
RC20GF1635 (81349) aB8
RESISTOR, FIXED, CORPOSITION R621 22,000 EA 1] el s s s| e = 3 R621
OW43, PORMSPCT, 1/2W
RC206F2234 (813491 ass
RES ISTORs FIKEDe FILM R650 26,900 OHMSe.| EA 1| e o s &l s = 3 R650
PORMSPCT, L/2W
RNTOB24I2F (813490 288
RESISTURs FIXEDe COMPOSITION R643 33,000 EA i = s #| x| e 3| 102| Re%3
lowRs PURMSPCT 102w  (AUTHORIZED
ALLOMANCES BASED ON A TOTAL OF 3}
RC20GF333J (81349) as8| . ! .
RES1STUR, FIXEDs, COMPOSITION R642 33,000 EA o #| | ef =] e = 3| 101| Res2
GMASs PORMSPCT, 1/2e
RC426F333J (81349) AB8
RESISTOR, FIXEDs COMPOSITION R651 33,000| EA| REF o o e | s 3| 101| rest
OHRSy PURMSPCT, 172k
RC426F3334 (81349) ABB
RESISTORs FIXEDs, COMPOSITION R652 33,000| £4| REF s o =] | =| = 3| 101] ReS2
OHNS, PORMSPCT, 1724
RC426F3334 (81349} 488
RESISTORe FIXEDs COMPGSITION R653 33,000( EA| REF | = e| s} = @ 3| 101} ReS3
GHMSs PORMSPCT, 172w
RC42GF333J (81349) aB8
RESISTOR, FIXEDy CONPOSITION R601 47,000| EA 1] = = & =l = = 3| 101| reot
OMMS, PORMSPCT, L/2%.
RC20GF4T3J (81349} ags




SECTION 11 TH) 1 ~5805-223-3 4P
1 2 ) w | (5 ® 7 8 9
m @ 30.0AY DS MAINT | 30.04Y c5 want | & ® (10
ary | ALLOWANCE ALLOWANCE 1.YR 'DEPOT|ILLUSTRATION
DESCRIPTION ALw PER] MAINT
FEDERAL UNITE INC | (o) | @ | (& | (@ | & [ (o @ |
SMR 100  [ALWPER
cooe NoNBER ead unir | 120 | 2150 [81.100 2 EQUIP | 100 |FIGURE| ITEM
REFERENCE NUMBER & MPR. CODE  USABLE ON CODE u - -50{31-100] 1-20 | 21-50 |51-100(cnyeey| EQUIP| NO. | NO.
PagZl | 5905-279-3496 |RESISTUR. FIXED, COMPOSITION R607 51,000 EA Al e #| x| e| &l e 3|l 101! meo7
OHM PORNSPCT 1/26 {AUTHORIZED ALLOWANCES
|8ASED ON A TOTAL OF 3)
RC20GF5134. (81349) , ABB. ] ,
PAFZZ | 5905-195-6761 |RESISTOKs FIXEDy COMPOSITION R603 200¢eo| EA ol =| =] s| s s| = 3| 01| Re03
000 GHNS PORHSPCT 1/2d (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 11)
RC20GFL04d (313490 . A88
PAFZZ | 5905-195-6761 [RESISTORs FIXED, COMPOSITION R604 1200see| F2| REF e o] | | | = 3| 101] Re0&
000 GHHS PORMSPCT 1/28 (AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 110
RC20GFL04J [81349) ABB :
PaFZz | 5905-195-6761 |RESISTORe FIXEDy COMPOSITION R605 1Q0eee| EA| REF s | s e #| = 3 R605
000 GHMS PORMSPCT 1/28 (AUTHORIZEO
ALLUMANCES BASED ON A TOTAL CF 11) .
RC20GFL04J (81349} a88
PAFZZ | 5905-195-6761 |[RESISTGR, FIXED, COMPOSITION R608 100se.| EA| REF ol | | x| = = 3 %608
000 CHMS PCRMSPCT 1/2W  (AUTHORIZED
ALLOWANCE S BASED ON A TOTAL CF 11}
RC20GFL04J (81349) as8
PAFZZ | 5005-192-0667 IKESISTORs FIXEDs COMPOSITION R623 220se.| EA 3] = s| =| e e = 3| 101 re23
000 CHASs PORMSPCT, 1/2W
KC206F2244 181349) ABB
PAFZZ | 5905-192-0667 [RESISTURs FIXEDs COMPOSITION R624 220se.| EA| REF ol o | & | = 3| 101] w626
J00 GHMS, PORMSPCTe 1/2W
RC20GF2244 {61349} ABB
PAF2Z | 5905-192-0667 |RES1STORs FEXED, COMPOSITION R64%4 220ceo| EA| REF e =] =] e o] 3 R64%
JUVU UHMS, PORMSPCT, L/s24W
RC206F22¢J (81349) ag8
PAFZ1 5905-279-2517 |RESISTOR, FIXEDe COMPOSITION R646 390¢ee| EA 1 L % % & ¢ L4 3 R646
000 GHMS, PORMSPCT, 1/2M
RC2UGF394J (81349) AB8
PAFZZ | 5955-355-9536 |RETAINERs CRYSTAL HOLDER NO-REF-DESIG l1-| EA 1| s = =l s s = 3
7/32 X 13716 X 23/32 IN O/A 1TEM NO.
XY601.
SCB 62715 (80063) ABB
PAFZ2 5305-356-4309 |SCREWes EXTERNALLY RELIEVED BODY NO-REF-..| EA 3 & ] - & ® - 5
DESIG PAN HEADs 04382 X 9/64 IN. HD,
REDUCED SHANK U<139 IN X 1-1/4 IN LG
SCB62604-4 (8063) Aes
PaFzz | 5305-297-9102 |SCREms SHUULDER NI-REF-DESIG #4-408 NC-.| EA 2l = %] e = & = 5
2A 0219 INeo LG (AUTH ALLOWANCES BASED
Lwn A TUTAL OF 10)
SL362061~1 (80063) ABB
PADZZ 5960-676-8119 SrlELUs ELECTRON TUBE NO-REF-DESIG 1-3/8| EA 3 * L ® » L4 & 8
IN LG X U958 INe DIA G/A (AUTHORIZED
ALLURANCES BASED ON A TOTAL CQF10)
15102Uul (51349) Ae8
XD022 SHIELDy ELECTRGN TUBE NU-REF-DESIG 2-1/4| EA 1 ® ® * & = L
INe L X 0.998 IN. DIA J/A (AUTHURIZED
ALLOWANCE 5 BASED CN A TUTAL CF6)
15102003 (81349) aBB
F{]

70




SECTION 11

(14

(2)

FEDERAL
STOCK
NUMBER

PAFLZ

PAFIl

XDF22

XDFZZ

5935-260-0516

$5940-280-1728

s

DESCRIPTION

RESERENCE HUMBER & MOR. CODE  USABLE ON CODE

{4

UNIT
Lor |
EAS

(5)

aTy
INC
L]

UNIT
|

Wa

(6)
30-DAY DS MAINT

ALLOWANCE

(7
I0.DAY G MAINT
ALLOWANCE

TM11-5805-223-34P

(8)

{b)
21.50

(e)

51.100

(a)
1.20

(b
21-50

te)
51-100

)
DEPOT
MAINT
ALW PR

100
EQUIP

(10)
ILLUSTR

ATIOR

(o)
FIGURE|
NO.

(b)

ITEm
NO.

|

SHIELLe ELECTRON TUBE NG—REF-DESIG 1-1/2
INe LG X ko065 IN. O1A O/A (AUTHORIZED
ALLOwANLES BASED ON A TOTAL CF5)

TS103UuUL (81349) A8B
SOCKET. ELECTAUN TUBE 601 1-3716 INe X.
10335 IN w X 1~13/32 INe LG O/A
(AMTHORIZEL ALLOW BASED ON 4 TOTAL OFS5)
TS1036031  181349) ABB
SUCKRETs ELECTRON TUBE XV602 XV603 XV6Q4&eo
X¥605 L=3/16 Ik He X 0,800 IN ¥ X 1-1/8 IN
LG G/A (AUTHORIZED ALLOMANCES BASED ON A
[JUTAL OF 20}

TSLG2PQL (8L349) ABB
TERMINAL, FEED-THRUs INSULATED E608 7/8.
INe LU X 10732 IN. B X 5/16 INhe He O/A
(AUTH ALLOWANCES BASED CN A TCYAL OF 5)
FT5 (8liiad ABB.
TERMINAL STUD E60LF T7/8 IN LG X L/a INeces
ACRCSS HEX FLATS (AUTHORIZED ALLOWAICES
BASED ON A TOTAL OF 72}

9101458 {90348) . ABB
TERKINAL STUD E6D2 /8 IN LG X 1/4 INeoo
ACRLSS HEX FLATS (AUTHORIZEC ALLOWANCES
BASED UN A TOTAL OF 72}

91014508 (90348) ABB
TERMINAL STUD E603 7/8 IN LG X 1/4 INe..
ACRTSS HEX FLATS (AUTHORIZED ALLOWANCES
BASELD UN A TOTAL OF T72)

9001458 (90348) - Ape
TERMINAL STUD E604 7/8 IN LG X L/4% INeco
ACRGSS HEX FLATS (AUTHORIZED ALLOHANCES
BASED ON A TOTAL OF 72)

901458 (90348) ABB
TERKINAL STUD E605 7/8 IN LG X 1/4 INeos
ALRUSS HEX FLATS {(AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)

9101458 190348) . ABSB
TERMINAL STUD E606 7/8 IN LG X 174 INeoo
ACRUSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A ~ "TAL OF 72) . :
9101458 (3. ) AB8
TERMINAL STub E6Q7 7/8 IN L6 X 174 INe.s
ACROSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED ON A TOTAL OF 72)

TERMINAL STUD E609 7/8 IN LG X 174 INeeo
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASEU GN A TATAL OF T2)

2LGL458 (90348} ABB
TERMINAL STUD ES520 7/8 IN LG X 1/6 INcee
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF T2)

9101458 {90348) ass|

EA

EA

EA

cA

EA

EA

EA

EA

EA

EA

Ea

9101458 (90348) Ass{
71

23

REF

REF |

REF

REF

REF

REF

REF |

REF

]

™

101

1ol

151

601

E608

E601

E602]

€603

E6 Q%

€605 |

€609

E610




SECTION I

TM11-5805-223-34P
1@ e (10)
AY. GS MAIN' S 0o
ALLOVANCE 1'YR |pepot! ILLUSTRATION

3

o DESCRIPTION oty b AR TTARel L hatahtuiin
e FEDERAL vtk e [ @ [ 6 [ o ] @ [ m e [ARRPER MAINT T
St STOCK f ‘ - 106 |ALW PE!
- CODE or I EQUIP 100 |FIGURE| ITEM
NUMBER REFERENCE NUMBER & MFR CODE USABLE ON cope MEAS UNIT | 1.20 | 21-50151-100| 1-20 | 2150 |51-100|cuvgey| gquis| NO. | NoO.
XDFZZ TERMINAL STUD E611 7/8 IN LG X U4 IN.. gA| Ref s o =] | ¢ 611

ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348) ABB
p— TERMINAL STUD E612 7/8 IN LG X 1/4 IN... ga| REF ol o o] o] e €612
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ‘
BASED ON A TOTAL OF 72)
9101458 (90348) ABB
oFZZ TERMINAL STUD E613 7/8 IN LG X 1/4 IN... ga| Ref ol of o o | = Eol3
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348 ABB
XDFZZ TERMINAL STUD E614 7/8 IN LG X 1/4 IN... ga] ReF s s P P, ™ ™ €614
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348) ABB
TERMINAL STUD E615 7/8 IN LG X 1/4 IN... gal res ol o] o] o] & » 615
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348) ABB =
TERMINAL STUD E616 7/8 IN LG X 1/4 IN... el =
XoFZZ ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ~—~ ©A| REF b B R B Esle
BASED ON A TOTAL OF 72) i
9101458 (90348) ABB .
YoFZZ TERMINAL STUD E617 7/8 IN LG X 1/4 IN... .
ACROSS HEX FLATS (AUTHORIZED ALLOWANCEs ~ CA| REF * o I R B E617
BASED ON A TOTAL OF 72)
9101458 (90348) ABB 1
XDF2Z TERMINAL STUD E618 7/8 IN LG X 1/4 IN... gal| e ol o o s| s = €616
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348) ABB
XDFZZ TERMINAL STUD E619 7/8 IN LG X 1/4 IN... .
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ~ E4| REF bt Il E R I B €619
BASED ON A TOTAL OF 72) |
9101458 (90348) ABB : !
XOFZZ TERMINAL STUD E620 7/8 IN LG X 1/4 IN...
| ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ~ EA} REF | *p ®] %] =/ &) » €620
BASED ON A TOTAL OF 72)
9101458 (90348) ABB 4
XDFZZ TERMINAL STUD E621 7/8 IN LG X 1/4 IN... :
ACROSS HEX FLATS (AUTHORIZED ALLOWANCEs  EA| REF bt B T R A I
‘ BASED ON A TOTAL OF 72) |
9101458 (90348) ABB ; I !
XDFZZ TERMINAL STUD E622 7/8 IN LG X 1/4 IN... gal ace o o
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 72)
9101458 (90348) ABB
XOFZZ TERMINAL STUD E624 7/8 IN LG X 1/4 IN... : :
ACROSS HEX FLATS (AUTHORIZED ALLOWANCES ~ ®4| REF el B '! ol L : €624
BASED ON A TOTAL OF 72) ]
9101458 (90348) ABB

eole

L]
L
]
[ ]

622

Text
!




SECTION 11

(24

PAF2Z

PAF22

PAF2Z

PAFZZ

PAF22

PAFZZ

PAFZZ

PAFLZZ

PAFZL

PAFZZ

(2)

FEDERAL
STOCK
NUMBER

5940-542-8158

5950-648-2538

5950-645-4752

5950-645-4752

5950-645-4752

5950-645-4752

5950-645-6371

5950-681-2366

5950-681-2366

5950-681-2366

TM11-5805-223-34P

o @1 ® ) o par'Ds wamr | 0.0av csuamr | ® iy
DESCRIPTION ary | ALLOWANCE. ALLOWANCE 1.YR |DEPOY | ILLUSTRATION
ESER UNIT| INC | ta) | ) | ) | (@ | (B) | (o) "',':w :;':{, (o} (b
OF | IN ! ' - |FIGURE| ITEM:
€Ag uNIT| 1.20. | 21.5053.100] 1.20 | 21.50.151-100) v ey EOUIE
REABRENCENUMASE:A 4OR: CODE: _USABLEON-CODE " , ' onToey| EQUIs| NO: | NO.
TERAINAL. STUD €625: T#B:IN:LG X 1/4 INeoo| EA| REF =f % s & s ® E625
ACRUSS. HEX. FLATS (AUTHORIZED ALLOWANCES
BASED: ON: A TOTAL: OF 72)
9101450 (9034684 £88. .
TERMINAL STUB E623 1-3/32 IN. LG X L/4e.| EA 1, | s| & s =s| = 1 €623
INe. AGROSS HEX: FLAT  (AUTHORIZED
ALLOMANGES BASED ON A: TOTAL. CFATY
2L3584- (92625 A8
TRANSFURMER+ AUDEO FREQUENCY T607 LINE..| EA il el sl s s} 8| = 3 To07
TYPEe. 33075 CHM PRLe L35 Cit#t SEC, 1-2TURNS.
RATIG, GKC-L20KCy L=8/3 X 27732 X 9/16 IN
a/a
SCU62807. (60083) ABB |
TRAMSFURMERs AUDIO FREQUENCY T608 LINE..| EA S T 2 Y 3| 102 1608
TYPE 135 JHM PRI, 60 OHM SEC 1.3-1 TURN
RATI0, 300~20KC RANGEy. 1-972 X 11/16 X9/16
INe. O/A
SCJu2523 (80063) ABB
TRANSFORKERs AUDIG FREQUENCY T609 LINE.o| EA| REF o = | =] = = 3| 100 Te09
TYPE 135 UHM PRIs 60 OHM SEC 1.3-1 TURN
RAT Oy 3uU~20KC RANGE, 1-9/2 X 11716 X9/16
IN. 0/A
5C062523 180063) ABB
TRANSFORMER, AUDIO FREQUENCY T6l0 LINE..| EA| REF of =] 8] o sl = 3| 100| Tero
TYPE 135 UHM PRI, 60 OHM SEC L.3-1 TURN
KATIO, 30G~20KC RANGEs i-9/2 X 11/16 X9/16/
INe O/A.
SCU62523 - (80063) ABB
TRANSFORMER, AUDIO FREQUENCY T6ll LINE..| EA| REF s ~| el | | = 3| 100] Tell
TYPE 135 UHM PRI, 60 OHM SEC 1.3-1 TURN
RATIOy 300-20KC RANGEs 1~972 X L1716 X9/%6. !
INe. DZA.
5CU62523 (80063) Ags
TRANSFORMER - AUDIOFREQUENCY T602  INPUT..| EA il =] e} x| = sl = 3{ 100| Teo2
TYPEs. PR1ICO DHMS, SEC 20,500 OHMS 1-8.2
TURNS, 4KC-64KC RANGE, 1-9/32 X 27/32 X
9/16c 1N 0/A
SC062606 (800a3) BB
TRAMSFORMERy AUDIO FREQUENCY T604 PLATE.| EA 3] = =] e =] | = 3| 100| Te04
COUPLING TYPE 120,000 OHMS PRI THO300
OHi SEC 30 TO L TURNS RATIO 1-3/16 INM.
LG X L INe ¥ X 1-1/2 IMe H
£C062811 (B0063) ass
TRANSFORMERs AUDIO FREQUENCY T605 PLATE.| EA| REF | x| sl s s = 3| 100| Teo0s
COURLING TYRE- 120,000 JHMS PRI THO300
iOH#-SEC 30 TO 1 TURNS RATID 1-3/16 IN.
Le-X. 1 INe W X 1=1/2 INe K
'scDe2811l (80063) AB8
TRA%SEURNER+ AUDEO FREQUENCY T606 PLATE.| EA| REF s ol 2| s} | = 3| 100] Teos
'COUPLING TYPE 120,000 OHMS PRI THO300
jOW# SEC  30. TO L TURNS RATIO 1-3/16 [Ne
L6 X 1 INe W X 1-172 INa H
ISC062811 (80063) 88 |

73




SECTION 11

m

SR
CODE

PAFZZ

PAFZ1

PAF22

PAFZIZ

PAF2Z

PAF22

PAF21

PAF12

PAFZZ

PAF2Z

PAF21

@)

FEDERAL
STOCK
NUMBER

5950-625-0511

5950-625-0511

5805-503-3357

5910-762-2945

5910-543-0656

5910-553-5226

5910-666-8222
5910-823-1256
5910-823-1256

5910-823-1256

(3)

DESCRIPTION

REFERENCE NUMBER & MFR. CODE _ USABLE ON CODE

TRANSFORMER: AUDIQ FREQUENCY T601 PLATZ
COUPLING TYPE 1200000 OHMS PRI 300AND
300 OHMS SEC 1-1/2 IN H X 1-3/16 IN. LG .
L INe W

SCC62812 (80063) . ) ABB
TRANSFORMERy AUDIC FREQUENCY T603 PLATE.
COUPLING TYPE 120,000 OHMS PRI 300AND
300 OHKS SEC 1~-1/2 IN H X 1-3/16 INe. LG X
1 INe ¥

SCC62812 (80063) ABB
TRANSHITTER-RECEIVING LINE AMPLIFIERescese
GROUPARBOL:ARBO NO-REF-DESIG RCVG AHPL
IDENT TO XMTG AMPLOUNITS INTCHG.QTYS IN
USE SAME FOR BOTH UNITS,THEREFORE udLY ONE
UNIT LISTED,BUT ALL QTYS DOUBLED TO COVER

-]

ZZzl12d2z222a8r (2272220 ABB
ARPLIFIERy AUDIU FREQUENCY AR8C1 ARB02..
INTERCHANGEABLE TRANSHIT AND RECEIVE LINE
AMPLIFIERS 6.3 VAC 60CPS 200V¥OC 5-1/8 X
4=-172 X 4-3/4 O/A.

SCD62632 (80063) ABB
CAPACITGRy FIXEDy MICA DIELECTRIC C554..
33UUF. PURMSPCT, 500VOCW

‘CML5C260QJN3 (81349) ABB
CAPACITCRy FIXEDs MICA DIELECTRIC Col.ee
4T0UUFs PORM2PCTy 500VDCY

CH20D471Jn3 (813490 ABB
CAPACITURy FIXED, MICA DIELECTRIC C52.04
2200 UUF, PORMSPCT, 500VDCW

CH30D2224N3 181349) AB8
CAPACITORy FIXEDy PAPER DIELECTRIC C65..
47,000 UUFy PORMLOPCT, 200VDCH

2TK25740 (32159) ABB
CAPACITUORe FIXEDy PAPER DIELECTRIC C57..
47,000 UJFe PURM20PCT, 300 VDCHW

26M3473e (32159} AB8
CAPACITOR,y FIXEDs PAPER DIELECTRIC C54..
1509000 UUFy PORM20PCT, 300VCCW
45M3154mAA (32159) AbB
CAPACITUR, FIXEDy PAPER DIELECTRIC C51..
470000 UUFs PURMLOPCT,s 1NOVOCH

26K 12T4AAAG (32159) ABB
CAPACITORy FIXEDO, PAPER DIELECTRIC C56..
4739900 UUFy PORM20PCT, 400VDCH

Z5M@4TAAA (32159) A8B
CAPACITORy FIXEDs PAPER DIELECTRIC C58..
47) yu00 JUFs PORMIPCT, 400VECCH

25M44TAAA (32159) ABB
CAPACITGRy FIXEDy PAPER DIELECTRIC C60..
%T0¢J00 UUFy PORM2JPCT, 400VCCW

25M44TAAA 132159) ABB

74

4)

UNIT

OF
caA

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

EA

TM11-5805-223-34P

(s) ® m (8) © (10)
30-DAY DS MAINT | 30-DAY GS MAINT
ary | ALLOWANCE ALLOWANCE 1-YR |DEPOT | ILLUSTRATION
ALV PER| MAINT

l:l: (a) (b) () ) | (b) | (e) Ewo ALW PER F'é‘:’)RE '.::)M

UNIT | 1-20 | 21-50[S1-100| 1-20 | 21.50 |51.100 CN“,‘.’;C”,, E,‘;:,o,, NO. NO.
r '! ® * % ® ® 3| 100 TsOL

1 !

REF sl » ” % » % 3 100 T603
2 « * ® % . ®
2 * « L L ® ® 5 102
2 ® ] * s = » 103| C55
2 » ® * * ® L] 3 L03 ceél
2 = L % » * » 103 Cc52
2 = * ® s * L 5 103 (-1
2 ® E] ] ® = ® 5 103 c57
2 ® = » * = ® 102] C5¢
2 * ® ® . ® L] 5 102 C51
6 * * * * * * 5 1G2| C56

REF 2 x| el e s e 5| 102| cs8

REF = » = L ] ] 5 céeo




SECTION |1

m

L]
ceaa

PAFZ1

PAQZZ

PAQLZ
PAFI1
PAF22

PAFZL

PAF21

XDFZZ

PAFLZ

@

FEDERAL

STOCK
NUMBER

5935-201-7625

5960-262-1357

5960-669-6881
5950-648-1689

5905-104-5755

5905-192-4490

5905-192-4490

5905-104-8350

TM11-5805-223-34P

75

™ Wl e e | @@ (0 f
- i AT G
- Qty | ALLOWANCE ALLOWANCE 1.YR [DEPOT | ILLUSTRATION
DEACTIR TN usiT) e | @ | B | @ | @ | B | (© “ﬁfﬂ::“' © | W
oOF | Qe -

REFERBNCT HUMDER-& MPR. CODS  USABLE 0N CODE umT | 120 | 21.5851.i00) 1.20 | 21.50 |s1-100|GTE| pqne o -
CAPACITOK, FIXED, PASERs DLELECTRIC €53.| gA o + =] s s sl @ 102| cs53
IuFe PUARLUPLT, 100VDCH
CPAAASEDLUSK 413492 age
CAPACLTGR, FIKEDs PAPERs DIELECTRIC C59.| EA| REF o o s e = = 102] cse
LUE s PCRRAOPGCT. LOJVOCH
CPLIASEBLOSK (81349) - ABB
CAPACLTGRs FIXKED, PAPER, DIELECTRIC C62.| 5A ol s| ®| e | sl = 102] cez
819 L055LT5 (56289) 488
CAPACLIGRy FINEDs PAPER, DIELECTRIC C63.| EA| REF el el sl o #l = 102]| cé3
51PLUSOLTS (56289) 488
CAPACITOR, FIXEDs PAPER, DIELECTRIC Cb6é.| EA| REF o #| e s| = = 102 cos!
6iP 1059115 (56289) ABB
CONNECTUR¢ RECEPTACLE, ELECTRICAL  PSleso| EA 2l | 2] s & e = 3| 103| es1:
el 2-3/32 IN. LG X 3/4 IM. W X 29/32 IN.
HO/4 (AUTHORIZED ALLOWANCES BASED ON A
TUTAL UF 4}
67818599 (7L785) avs|
ELECTRUN TUBE V51l (AUTHORIZEDeeoceeceane| EA 2 L *® ® » L % 100 102 ¥51
ALLUNMANCES BASED ON A TOTAL GFT)
5654-6AK5H (81349) ABB
ELECTRUN TUBE  V52eseseccccecscscsccscnes| EA s| & &l | w| = 100 V52
6Q05~6AC5KH (BL349) ABB
REACTOR  L5L AF CHOKEs 3¢5 HY cecocceces| EA 2 e e x| s & e 2. 02| uLsi
SCC 62500 (80063) A8
RESISTUR, FLIXEDs CGHMPOSITION R72 10eceee! EA 2l el el e | 8| = 3| 103| R72
OHMS, PURMSPCT, L/2w
RC20GFLO0S {81349) ABS
WESISTOR, FIXED, COMPOSITION R52 33ceee| EA of #] =l sl e s = 3| 103| RS2
OnMS PLRMSPCT L/2% (AUTHOREIZED
ALLGWANCES BASED ON A TOTAL GF 5)
KC20GF3304 {81349) a88 . A
RESISICR, FI!ED; COMPOSITION R63 33.ses; EA| REF % L3 & » ® - 3 R63
GHMS PURMSPCT L/2w {AUTHORIZED
ALLOWANCES BASED ON A TOTAL OF 5)
RC20GF3304 (61349) a88
RESISTURs FIXEDs FLLM R69 5622 OHMSeeea| EA Y IS S ) (S B I 103] Re9
PORMIPCT 1/2W (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF 3) |
RNTQB56R2F (81349) ABB . i .
RESISTORs FIXEDy FILM R67 135 OHMSseaeee| EA 2| sl wp s e s| e 103| Ré7
PURMLIPCTy L/2K
SCC02507-12 (60063) w8
RESISTURe FIXEDe. FILYW R66 215 DHMSeeens| EAR 2 * % * » L J ® 103 nR66
PORMLPCT 1/2 W (AUTHORIZED ALLOWANCES
BASED UN A TOTAL OF 3)
RNTOBZLSOF (81349) ABB
RESISTORe FIXEDs COMPOSITION RS53 200aee| EA 2l e sl & e s| = 3| 103] rsa
GHIS, PCRMSPCT, 1/2w
RC20GF221J 181349) A8B
RESISTORs FIXED, COMPOSITION R6& 270cc.| EA 2l o] e el e| e R6S
GHHS, PLRMSPCT, LW
RC32GF27L4 (81349) A88




SECTION I ) TM11-5805-223-34P

(2) i 1
S ILLUSTRATION!
n FEDERAL i RN e : T @ [ o ] o [AleR AT o T
: STOCK ' : L LOP | N gquiP | 100 |FIGURE| 1TEM
cone NUMBER REPZRENCE NUMBER & MPR. CODE  USABLE ON copg [EAY UNIT | 1-20 | 21-50/51-100) 1.20 | 21-50 |51-100|cyrgey| gquip| NO. | NO.
w2z RESISTORs FIXEDe FILM ~ RO8 301 OHMScecse| EA 2 ® ™ = ® ® & 103| Res8
PORMIPCT 172 W (AUTHORIZED ALLOWARCES
BASED ON A TOTAL OF %)
RANTOB30L10F (81349) ABB
o2z RESISTURe FIXEDe COMPOSITION R70 383...| EA 2 » . . . . . 103| R70
OHMS PCRMAPCT 1/2 ' (AUTHORIZED
ALLOWANLES BASED ON A TOTAL OF 3)
RNTOB3830F (81349) ABB .
PAF2Z | 5905-192-3973 RESISTURy FIXEDs COMPOSITION R61 470...| EA 2 - @ @ . » » 3| 103| Ré1
OHMS S5PCT 172w (AUTHORIZED ALLOMANCES
BASED UN A TOTAL OF S)
RC20GF4T1J (81349) ABB/
XOFZZ RESISTORe FIXEDe FILH R54 1100 OHMSyeceo| EA 2 * » ® s ™ e 103| RS9
POGRMIPCT, i/24
SCC62507-41 (80063) ABB
PAFZL | 5o05.104.834s KESISTORe FIXEDe COMPOSITION RS6 3,300.) EA 2 s s @ ® . . 3| 103| =ase
OHMS PORMSPCT 1/2d
RC2UGF332J (81349) ABB
PAFZZ | 5005.244-8258  RESKISTUR, FIXED, COMPOSITION R65 3300..| EA 2 ® s ® » ® . 3| 103| ReS
OHNS, PORMSPCT, LW
RC326F3324 (81349) Ao
XOF2Z RESISTORe FIXEDs FILM RSS 4480 OMMSsaaa| EA 2 » & s ® ® ® 103| RSs
PORKIPCT, L/2w
SCC625CT-48 (80063) ABB
PAF2Z 5905-141-1165 RESISTGL, FIXEDy CUMPUSITION R71 6800..) EA 2 [ s [ L] L] % 3 103 R71
UHMS, PCRMBPCT, L/24
RC20GFob2F (81349) 288
PAFZZ | 5905-185-8510 RESISTORy FIXEDs COMPOSITION RS57 1u,u00| EA 2 ® » ® ® ™ » 3! 103| Rs7
GHY Sy PORKMSPCT, 1/2W
RC206F1034 (81349) ABB
YDF22 RESISTGRy FIXEDy COMPQSITION RS8 22,000 EA 2 ® * s s ® * 103| RSB
OHMS, PURMSPCT, L/2w
RC32FF223J (81349) ABB
PAFZZ | 5905-556-3333 RESISTURy FIXED, FILM R59 22,100 OHMSo.| EA 2 * s » ® ® ] 3| 103| RS9
POIMLPLT, L/2W
ANTOBLc12F (81369) ABB
PAFZZ | 5905-195-6761 RESISTORy FIXEDy COMPOSITION R60 1U0see| EA 4 ® a * * ® * © 3] 103| R60
JGU UHMS PORMSPCT 1/2W (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF 11)
RC2UGFL04J (B1349) ABB
PAFZZ | 5905-195-6761 RESISTUR, FIXEDy CIMPOSITION R62 100y..| EA| REF " s ® ® P ® 3] 103| Re2
00U UHMS PURMSPCT 1/2W (AUTHORIZED
ALLOWANCES BASED ON A TOTAL CF 11) i
KC206FLG4J (81349) ABB : i
DFZZ RESISTOR, FIXEDs FuLM R5) 121,000 OHMS,| EA 2 ® & ® ® ® ® 103, RS51
PULRMAPCTy /2K
KNTUBL213F (51349) ABB
PAF2Z | 5305-356-4309 sCREws EXTERNALLY RELIEVED BODY NO-REF~-ee| EA 4 s * ® ® - ® 5
DESIG
$CB62604-1 (80063) ABB
PAFZ2 | 5305-297-9102 gckpw, SHOULDER NO~REF-DESIG #4-408 NC—.| EA 4 ® * ® » . ® 5 9
A Ue219 INe LG (AUTH ALLOWANCES BASED
CONTINUED

76



SECTION |1

W

S8
CoRE

PAOZZ

PAOZZ

PAF22

1PAFZZ

PAF22

XDF2Z

XDFZZ

XDF7"

XOF22

(2)

FEDERAL
STOCK

NUMBER

5950-376-9541

5960-676-8119

5935-260-0516

5930-173-8363

5940-280-1728

TM11-5805-223-34P

77

w W8 oy Ds mamr | s0oar bmamr | @ | (e
scow ory | ALLOMAMCE ALLOWANCE 1.YR |DEpoY | ILLUSTRATION
DRSCHITION VT NG | (@) | ) [ (e [ o) | () | e [ALOER :_"‘::m @ ] ®
ar | w Equie | 100 |FIGURE| 1TEM
BEFERAMCE MUMBER & MPG. COBE  USABAR O CODE UNET | 1-20 | 21-50|83-100) 1-20 | 21-50\51-100|cupecy| gquip| NO. | Ne.
CONTINUED
oM & TOTAL OF 10}
s(B62s6i-1 {80063) ABB . .
SHIELDs COEL E60 2-1/8 IN. LG X 1-T/l6e| EA 2l u| e« s o e = 2] 15| Eeo
INe 6. X L5446 IN. D
SCC62837 (81349) A8
SHIELDs ELECTRON TUBE NO-REF-DESIG 2-1/4| EA 2] & e | & s e 15
INe LG X 0258 IN. OIA O/A (AUTHORIZED !
ALLGWANGES BASED ON A TOTAL CF6) .
TSL02U0a (613490 A83 .
SHIELDs ELECTRON TUBE NO-REF-DESIG 1-3/8| £A 2l s | s e e = sl 1s
IN LG K Qo958 IN. DIA G/A (AUTHORIZED
ALLOWANCES BASED ON A TOTAL GFL0)
TSL0QUQL (61349) a88|. 4 v
SUCKET, ELECTRON TUBE XVSL Xv52 i-3/16 IN| EA o o] e w| | e = 3| 103
Me X U800 IN w X 1-178 IN LG O/A
{AUTHORIZED ALLOWANCES BASED CN A TOTAL OF
20)
TSLOCPOL (61 342) 488 |
S4LTCHe LEVER S51 1=7/8 X 1-1/16 X l-ee| EA 2[ 2| s e s = = 5| 103 ss1
3/32 IN, OZA
SCC62625 (80063) A88
TERMINAL, FEED-THRUs INSULATED €51 7/8+] EA 2| #! e & e e = 1! 1s52| esi
INe Lo X 14732 INe W X 5/16 IN. H, O/A
{AUTH ALLOWANCES BASED ON A TCTAL OF 5)
FT5 (61312 a8 ,
TERMINALs STUD ES52 178 IN LG X 1/4 INeo| EAl 14| 2| | | | e = £52
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EPS262 (90348) 8B .
TERMINAL, STUD ES52 1/8 IN LG X 1/4 INee| EA| REF o #| ol &l & = ES3
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
BASED ON A TOTAL OF72)
EP5262 (90348) 488 A
TERMINAL, STUD ES5& 1/8 IN LG X 1/4 IN.o| EA| REF o #| s «| s e ESe
ACRGSS HEX FLATS (AUTHORIZEC ALUOWANCES
BASED ON A TGTAL OFT2) 2l
ERS262 (903481 aBs| . . . .
TERMINAL, STUD ES55 1/8 IN LG X 1/4 INe.| EA| REF sl s sl s x| = ES5
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
'BASED UN A TOTAL OF72)
EP5262 (90348) ase! . . o
TERMINALe STUD E56 178 IN LG X 1/4 INee] EA| REF L Ld t L g ] * ESé
ALRGSS HEX FLATS (AUTHORIZED ALLOMANCES
BASED QN A TGTAL GF72)
EPS262 (90348) AB8 .
TERMINAL, STUD ES8 1/8 IN LG X 1/4 INe.| EA| REF o o] o e & = €58
ACROSS HEX FLATS (AUTHORIZEC ALLOWANCES
BASED UN A TOTAL OF72)
EPS262 (90368) ass| .
TERWINAL, STUD ES9 1/8 IN LG X 1/4 IN..| EA| REF o & & s & ES9
ACRGSS HEX FLATS (AUTHORIZED ALLOWANCES
CONTINUED



SECTION I

w

MR
cabk

PAFZZ

PAF2Z -

PAFZZ

PAF2Z

(2)

FEDERAL
STOCK
NUMBER

5940-542-8158

5950-648-2303

5950-648-2307

5950-645-6404

TM 11-5805-223-34P
) @] ® © o ® ] ® a0
30-DAY DS MAINT | 30-DAY GS MAINT
DESCRIPTION QTy | ALLOWANCE ALLOWANCE 1.YR |DEPOT | ILLUSTRATION
; t:;f e [ @[ o[ @] @ o] @ MR o | o
N
EQUIP 100 [FIGURE| ITEM
REPERENCE NUMBER & MPR. CODE  USABLE ON copg [MEA%| UNIT | 1-20 | 21-50/5)-100) 1.20 | 21-50|51-100/cyvecy| gquip| NO. | NO.
CONTINVED
BASED ON A TOVAL OF72)
EPS262 (90368) ABB
TERMINAL STUD ES7 1-3/32 IK L6 X 1/4 In| EA 2l e s | e 8| = 1 57
ACRGSS HEX FLAT
2L35A4 (92825) 4B
TRANSFORNER, AUDIO FREQUENCY T51 INPUT.| EA 2l e & o e e = 3| 02| 101
TYPE PRI, 600 OHMS IN PARALLEL OR 2440
OHMS IN SERIES SECD 120000 CHMS 1 T07.07
TURNS RATIO, 1-3/8 X 29/32 X 2 O/A.
SCD62616 (30063) ase .
TRANSFURMERs AUDIO FREQUENCY T52 PLATE.| EA 2l s o] o] o] | e 3 182
COUPLINGs PRI. 6000 OHNS, SEC TAPPEDFOR
150 AND 600 OHMS 2.76 TO 1 TURNS RATIO,
1-25/32 X 1-13/32 X 2-15/16 IN O/A.
SC062816 (800631 288
TRANSFORRER, AUDIO FREQUENCY 753 1-5/16| EA 2l o] e o] e | e 3 153
X 11716 X 9/16 IN O/A. (A/A BASED ON A
TOTAL OF 8)
SCD62524 L80063) ABB

78




SECTION IV TM11-5805-223-34P

INDEX-FEDERAL STOCK NUMBER AND REFERENCE NUMBER
CROSSREFERENCE TO HGURE AND ITEM NUMBER

STOCK NUMBER FIGURE ITEM FIGURE ITEM ITRM
NO. NO, STOCK NUMBER NO. NO.
5305-206-554 5905-192-0667 101 R623
5305-297-9102 5905-192-0667 101 R624
5305-297-9102 9 5905-192-0667 R644
5305-297-9102 9% 5905-192-3971 R729
5305-356-4309 5905-192-3937 73 10"
5305-637-5453 5905-192-3973 101 R620
5310-208-2988 5905-192-3973 101 R629
5340-205-5159 1 5905-192-3973 R761
5340-279-7585 10 5905-192-3973 R762
5340-355-9839 10 5303-192-4490 103 R52
5355-284-5176 5905-192-4490 R63
5355-667-9003 5905-192-4490 99 RTI0
5805-356-2892 5905-195-6453 93 R438
5805-392-5692 5905-195-6761 95 R3
5805-392-6423 5905-195-6761 103 R60
5805-503-1186 9%, 5905-195-6761 103 R62
5805-503-2712 108 5905-195-6761 101 R603
5805-553-1710 10 5905-195-6761 101 R604
5805-503-2721 108 5905-195-6761 RGOS
i i e
-059- 781 -195- 97 R742
5905-060-5098 104 R782 5905-195-6761 97 R7%4,
5905-060-7870 R794 5905-195-6791 87 R142
5905-080-6833 101 c8 5905-195-6800 101 R826
5905-080-6833 95 ca 5905-195-6806 101 R655
5905-104-5755 103 R72 5905-195-6806 101 R622
5905-104-8331 97 R751 5905-195-6806
5905-104-8345 103 R69 5905-195-9481 R620
5905-104-8348 103 R56 5905-226-9468 R705
5905-104-8350 103 R53 5905-226-9468 R821
5905-1x-4736 R827 5905-244-8258 103 R65
5905-111-4736 R828 5905-253-1231 111 R562
5905-111-4840 95 Rl 5905-254-9201 101 REOL
59305-114-5352 R825 5905-279-1747 111 R560
5905-116-8569 101 R610 5905-279-1757 R611
5905-1X-8569 101 R610 5905-279-1757 R616
5905-141-0310 97 R741 5905-279-1757 R617
5905-141-0727 101 R613 5905-279-1876 R749
5905-141-0727 101 R614 5905-279-1877 101 R602
5905-141-0727 101 R618 5905-279-1877 101 R606
5905-141-0727 101 R619 5905-279-1933 111 R551
5905-141-1130 101 R625 5905-279-1933 111 R552
5905-141-1130 101 R626 5905-279-1933 111 R554,
5905-141-1165 103 R71 5905-279-1933 111 R553
5905-141-1303 R703 5905-279-1933 111 R’555
5905-171-1975 111 R564 5905-279-1933 111 R556
5905-171-1998 101 R643 5905-279-1965 111 R563
5905-171-1998 97 R707 5905-279-2514 a5 R8
5905-171-1998 97 R745 5903-279-2515 97 R750
5905-171-2004 R621 5905-279-2515 97 R709
9905-185-8510 103 R57 5905-279-2515 7 /701
5905-190-8867 F10 5905-279-2515 95 R15
5905-190-8880 R713 5905-279-2517 R646
5905-192-0390 95 R2 5905-279-2520 95 Rl

5905-192-0667 95 R17

79



SECTION IV

STOCK NUMBER

5905-279-2593
5905-279-2593
5905-279-2616
5905-279-2633
5905-279-2675
5905-279-2675
5905-279-2675
5905-279-2675

5905-279-3496
5905-279-2496
5905-279-3496
5905-279-3496

5905-279-3499

5905-279-3500
5905-279-3501

5905-279-3521
5905-279-3521
5905-279-5354
5905-299-1965
5905-2999-1965
5905-299-1965
5905-299-2069
5905-356-2479
5905-355-2898
5905-539-3523
5905-539-3523
5905-539-3523
5905-539-3523
5905-539-3531
5905-542-8407
5905-542-8407
5905-542-9110
5905-542-9110
5905-542-9116
5905-556-3122
5905-556-3122
5905-556-3333
5905-556-3334
5905-556-3345
5905-581-7550
5905-636-5856
5905-642-4362
5905-646-5772
5905-935-8544
5905-993-5947
5910-061-9048
5910-263-0864
5910-351-5751
5910-356-0135

FIGURE
NO.

95
101
9
1m
101
100
101
101
97
97
101
97
97

101

INDEX-FEDERAL STOCK NUMBER AND REFERENCE NUMBER
CROSS-REFERENCE TO FIGURE AND ITEM NUMBER

ITEM
NO.

80

STOCK NUMBER

5910-356-0137
5910-379-9764
5910-543-0655

5910-543-0656
5910-553-5226
5910-666-7021
5910-666-7023
5910-666-7023
5910-666-8222
5910-666-8303
5910-666-8309
5910-666-8310
5910-667-5021

5910-667-5021
5910-667-5112
5910-667-5291

5910-712-6166
5910-712-6166
5910-712-6166
5910-712-6166
5910-723-5169
5910-723-5169
5910- 762- 2945
5910- 814- 2691
5910-823- 1256
5910-823-1256
5910-823-1256
5910-823-1256
5910-823-1256
5910-866-3813
5910-900-6059
5910-936-4804
5915-295-7006
5915-356-2157
5915-356-2158
5915-356-2159
5915-356-2160
5915-356-2161
5915-356-2171
5920-199-9498
5920-284-9220
5920-356-2103
5920-356-2103
5920-356-2103
5920-356-2103
5930-173-8363
5930-173-8364
5930-306-2206

FIGURE
NO.

110
174
17,
17,
174,
103

TM11-5805-223-34P

ITEM
NO.

C611

F552
F551
E737
X738
E763
E7¢
S51

s77
5772



SE'CTION 1V TM11-5805-223-34P

INDEX-FEDERAL STOCK NUMBER AND REFERENCE NUMBER
CROSS-REFERENCE TO FIGURE AND ITEM NUMBER

FIGURE ITEM FIGURE ITEM
STOCK NUMBER NO. NO. STOCK NUMBER NO. NO.
5940-542-8158 E762
5940-542-8158 8224
5930-548-3494 s702 5940-542-8158 823
5930-548-3494 sTo2 5940-542-8158 822B
5930-548-6906 s705 5940-542-8158 823B
5930-655-1514 11 S§5%1 5940-542-8158 m
5935-201-7625 94 P E7
5935-201-7625 103 P51 5940-542-8458 ¥8
5935-201-7625 101 P60 5940-542-8158 9
5935-201-9490 110 J551 5940-542-8158 €10
5935-201-9490 110 71552 5940-553-2581 E70L
5935-256-1194 100 §6§f1 g%gg%%%% g;g
-258- 110 553 =300~
g ggg 2255533 1 5} g é 3 J802 g%gg%%%% gg;
5935-258-9963 Jool -553-
5935-258-9963 J902 5940-553-2581 E03
5935-258-9963 Jaol 5940-553-2581 £S04
5935-260-0516 101 5945-259-1231 9, K
5935-260-0516 103 5945-259-1231 K741
5935-260-0516 m 5945-259-1231 94 K1
5935-353-2991 Pg99 5950-351-5560 101 1604
5935-542-9927 Pgog 5950-376-9541 15 E60
5935-681-5690 100 5%3 ggggg}gg%}l ET10
5935-685-9396 100 -376- 110 T551
5935-823-0213 5950-379-9713 a4 jal
5935-931-1685 8 5950-399-7576 96 741
5940-258-9686 5950-545-7792 98 1724
5940-244-4426 5950-545-7793 % 1761
5940-258-5327 E703 5950-545-7793 T821
5940-258-5327 E70/, 5950-569-0159 9 T3
5940-258-5327 E704 5950-569-0163 9% T2
5940-258-5327 E705 5950-625-0511 100 T601
5940-258-5327 E706 5950-625-0511 100 T603
5940-258-5327 E707 5950-645-4529 101 1603
5940-259-5745 ET10 5950-645-4752 100 608
5940-259-5745 E711 5950-645-4752 100 T609
5940-259-5745 E712 5950-645-4752 100 T610
5940-259-5745 E733 5950-645-4752 100 T611
5940-259-5745 E734 5950-645-4989 110 1551
5940-280-1728 152 E51 5950-645-6371 100 T602
5940-280-1728 151 E608 5950-645-6373 94 !
5940-280-1728 E725 5950-645-6404 53
5940-280-1728 E726 5950-645-6404 104 104
5940-542-8158 E11 5950-645-6404 96 722
5940-542-8158 E12 5950-645-6404 T723
5940-542-8158 E13 5950-645-6404 9% 1725
5940-542-8158 K4 5950-645-6404 108 T801
5940-542-8158 w57 5950-645-6404 108 7802
5940-542-8158 623 5950-645-8848 100 1602
5940-542-8158 E761 5950-645-8848 100 1605

5940-823-0213

81




SECTION 1V

STOCK NUMBER

5950-645-8849
5950-646-2767
5950-646-3143
5950-646-3143
5950-648-1689
5950-681-2366
5950-681-2366
5950-681-2366
5950-648-1689
5950-648-2276
5950-648-2300
5950-648-2307
5950-648-2538
5955-355-9536
5955-556-2175
5960-188-6584
5960-188-6584
5960-262-1357
5960-262-1357
5960-262-1357
5960-262-1357
5960-262-1357
5960-262-1357
5960-272-9182
5960-272-9182
5960-272-9182
5960-645-6404
5960-669-6861
5960-676-8119

REFERENCE
NO.

FIG.
NO.

ITEM
NO.

v552
V553

v52

ITEM
NO.

82

INDEX-FEDERAL STOCK NUMBER AND REFERENCE NUMBER
CROSS-REFERENCE TO FIGURE AND ITEM NUMBER

STOCK NUMBER

5960-676-8119
5960-686-8119

5961-581-8066
5965-537-7733
5975-186-3908
5975-224-5260
5995-062-5996
5935-295-8178
5995-206-1484
5995-504-7575

6130-250-2235
6130-970-1241
6130-356-1702
6130-669-5826
6145-283-9635
6210-284-0943
6210-284-0943
6210-299-3870

6210-299-3928
6210-643-2059
6240-155-8706
6240-155-8706
6240-155-8706
6240-155-8706
6250-586-7769
6350-269-7977
6625-376-9798
6625-538-9421

REFERENCE
NO.

CPLIA3EB1OSK
CP11A3EB105K
CS1326
CS1326

EPS262

EPS262
EPS262

FIGURE
NO.

116

MFR
CODE

81349
81349
81349
81349
81349
174

90348
90348
90348
90348
90348
90348
90348
90348
90348

90348
90348

FIG.

NO.

102
102

95

TM11-5805-223-34P

ITEM
NO.

weo1

1551
1741
1742
1801

n

ITEM

NO.

c53
€59
Pg9s
P999
c5



SECTION IV

REFERENCE

EPS262
EPS262
EPS262
€PS262
EPS262

FT5

F15

FIS

(241

F19

FT9

FT9
F326R5J08
FO26G IRUGB
Gl9iP2749152
HCHHW

IN60

IN60

INT04A
J4559-6HLHS
MD6331-2
HS155T1-2
MS19671-2
HS15571-2
MS15571-2
MS16108-1
HS16108-1
M516223-13
M$35058~2¢2
H$35059-23
1590120-2801
N19LPLISOLTE
082yA
RB5ZAEL3ILRUF
RBS2AEZ JOROF
RB52AE4OQROF
KB5S 2AE400RUF
RBSZAE50ROF
RB52AE569R0F
RB52AL00k0F
RC20602T3J
RC20GFS614
RC206FLOVJ
kC20GFL01J
RC20GFi0LJ
RC20GF1O LY
RC20GFL0LY
RC20GFLOLY
RC20GF102J
RC20GF102J
RC20GFLC2J
RC206F1034
RC20GFL04J
RC20GH104J
RC206F104J
RC20GF104J
RC20GFL04J
RC20GF104J
RC206FL04J
RC20GF 104&J
RC20GFLO4J
RC20GF105J
RC20GF1L1J
RC20GFL22J
RC20GF1504
RC20GF 1534
RC206FL524
RC2UGFL52J
RC20GF L1524
RC20GFL52J
RC20GF1534
RC20GF 1610
RC2UGFlold
RC20GF1635
RC20GF1814
RC20G+201J
RC20GF201J
RC20GF 2014
RC20GF 2014
RC20GF2214

NO.

MFR
CODE

90348
90348
90348
90348
90348
81312
81312
81312
81312
83125
83125
83125
81349
861349
56289
71400
81349
81349
81349
82104
19557
81349
81349
81349
81349
81349
613549
81349
81349
81349
81349
56289
81349
81343
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
61349
81349
81349
8L349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
681349
81349
81349
81349
81349
81349
81349
81349
81349
81349
811349
81349
81349
81349

FIG.
NO.

151
152

110
110
109
110
95
95
95

9 4

111
100
110

97
111
110

96
100
104
104

104
97

101

97
101
101
101
101

103

E8l2
E8L3
E8Lé
EB1S
E8l6
E725
ET26
EGCS

ES1
ET21
ET22
ET744
F552

F551.

[:733

CR3
CR4
S7T712
I
1741
1742
1801
1551
J802
J554
L761

$551
5552

cr22
V604
R782
R7591
R780
R790
R794
R78L
R792
R748
R826

RT2
R211
R212
R213
R210
R801

R622
R655

R57
R605
R608

R742
RT44%
R603
R604
R60
R62
R2
825
R713
R637
636
R611
3612
616
R617
RT70%
R827
k828
609
1708
R613
R614
618
61y
R53

83

RC20GF2234
RC2CGF 2244
RC20GF2244
RC20GF224J
RC20GF224J
RC20GF241J
RC206F241J
RC20GF2424
RC206F242J
RC206F272J
RC20GF272J
RC2Z0GF301J
RC20GF301J
RC20GF301y
RC20GF3044
RC20GF3304
RC20GF3304
RC20GF330J
RC20GF3314
RC20GF332J
RC20GF333J
RC20GF3334
RC20GF3334
RC20GF364J
RC206F3924
RC20G6F394J
RC20GF4TLJ
RC20GF4T1J
RC20GF 471y
RC20GF4T1Y
RC20GF471J
RC20GF 473y
RC20GF4T49
RC20GF4T4J
RC20GF3T4J
RC206F 4744
RC20GFS513J
RC20GF513%J
RC20GF513J
RC20GF 5144
RC20GF 5604
RC20GFS6lJ
RC20GF562J
RC20GF 564J
RC20GF6814
RC20GF682F
RC20GFT51

RC32FF2233
RC32GF271J
RC32GF3324
RC32GF822J
RC42GF 131

RC42GFL51J
RC42GF2214
RC42GF221J
RC42GF221
RC426GF221J
RC426F221J
RC42GF2214
RC42GF2704
RC©2GF333y
RC42GF3334
RC42GF3334
RC42GF333J
RC42GF391J
RC42GF512J
RC42GF8204
RG20GF2224
RN20GFB21J
RN20GF821J
RNT0B1213F
KNT0BL&T2F
RNT081581F
RNTOBL58LF
RN7081820F
RNT081820F
ANT0B18TIF
RNT0B2150F
RNT082150F
RNT70B2151F

REFERENCE

NO.

MFR
CODE

81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
31349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349

TM11-5805-223-34P

FIG.

NO.

95
101
101

95
101

101
101
101
101

97

99
103

103

101
97
97
95
97

101
101
103
101
95
97
97
97
97
97
101
95
103
101
93
95
8 7
103

103
103

111
111
111
111
111
111
111
111
111
1001
101
101
101
111

101
103

107

ITEM

NO.

R621
R644
R17
R623
R624
RS
R654
R602
R606
R625
R626
R711
R712
R152
R751
R63
R710
R52
R729
R56
R643
R707
RT45
R1&
R741
R646
R761
RT62
R620
R62¢
R61
R601
R15
R701
R709
R750
R746
Ri&7
R607
Rl
R69
R826
R438
R8
R142
RT1
k620
R58
R66
R65
R703
R563
RS64
R551
/552
R553
R554
R555
R556
R560
R642
R651
R652
R653
R562
R10
R561
R749
R610
R615
R51
R8l4
RTT5
RT77
R725
R726
R627
R66
R818
R723



SECTION 1V

REFERENCE

RNTOB2.51F
RNT0B2212F
RNT0B2492F
RN70826R TF
RAN708261 1F
RNTOB26TGF
RNT70B2670¢
RNTOB28ROF
RNTOB3010F
RN7083010F
RN7083010F
ANTOB3160F
RNTIB3160F
RNTOH3160F
RNTOB3160F
RNT0B3650
RN7083830F
RN70B3830F
RN70B4020F
RNTO0B4220F
RNT084220F
RNTOBSL12F
RNTOBS6R2F
RNTOB56R2F
RNT0B5760F
RNTOB5T60F
RN70B6040F
RNT0B6340F
RN70B6340F
RNT0868R1F
RNT086d12F
RNTOBTSR OF
RN70B75R0F
RN7089090F
RP371762
RP3T1762
RH306101
RW306101
SCB62467
50862552
S5CB62505
SCB62577
$C862661-1
$CB62661-1
§CB62661-1
SCBb2661-8
SCB62664-1
SCB&2706
$C662715
S$CB862904
SCB862930
SCB62931
$CB63039
5CB63039
$C863039
$CB63039
SCC189067
§CC62500
$CC62501
$CC62504
5CC62505
5CC62507-1
$CC62507-1
SCL62507~-12
$CL62507~182
$CC62507-182
§CC62507-183
§CC62507-184
$CC62507-184
$CC62507-41
SCC62507-48
$CC62507-48
5CC62507-9
$CC62507-9
5(C62508
$CC62508
8$CC625u9
$CC62510
SCCo2514
SCCo2528

NO.

MFR
CODE

81349
81349
81345
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81349
81369
81349
81349
81349
81349
81349
81349
81349
81349
70482
71482
81349
81349
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80263
80063
80063
80263
80063
80063
80963
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063

FIG.
NO.

103

109
101

105

103

94
111
111

10
10

94

ITEM
NO.

R7246

/S8
R650
R843
R(L49

avra
nIiTw

RT79
R786
R721
R722

R68
R802
R803
R812
R313
R645
R817

RT0
R?31
R801
R802
R816

R69
R785
R841
R842

R12
R743
R815

R13

R11
R727
R728
R732
K741

R558
R559

ET37
€763
ET64
X138

L51
L741

T2
R702
R702

R174
RT75
R773
R771
RT72

RS54
R648

R55
R783
R784
C551
€552
€555

Ll
7724

5CC626406
$CC62647
$CC62712
SCC62797
sCce2798

erraannn
Lttt d

$CC62800
$CC62601
SCC62802
$CC62803
$€C62805
$CC62898
5CC6260%9
5CC62809
SCC62810
$€C62812
$CC62812
5CC62813
$CC62820
$CC62822
$CC62824
$CC62825
$CL62826
scce2827
SCC62828
SCC62829
$CC62830
$CC62832
SCC62834
5CC62835
$€C62836
$CC62837
$CC62837
$CC62839
SCC62844
$CC62846
$CC62849
SCC63036
$CC63038
SCC73042
SCDLT23%98
SCDLT2398
SCDLT72398
SCOL72398
5C0L72398
SCDL72398
5C0L72398
SCD14158D
5CD62523
$CD62523
$CD62523
$CD62523
5CD62524
5CD62524
$C062524
5C08252¢
50062524
$C062524
5C062524
$CD62536
$CD62632
SCD62633
5CD62634
5CD62806
$C062807
5CD62811
5CD62611
$CD62811
$CD62815
5CD62815
$CD62816
5CD562816
5CD62817-1
$C062817-2
sC062818-1
$C062818~1
$C062831
$C062833
5C063040
$C063041~1

84

REFERENCE
NO.

TM11-5805-223-34P

MFR
CODE

80063
80063
80063
40063
80063
803063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
81349
80063
80063
80063
80063
80063
80063
80u63
80063
80063
80063
80063
80062
80063
80063
80063
80063
80063
80063
85063
80063
80063
80063
8G003
80063
8u063
80063
80063
80063
80063
80063
80063
800c3
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80063
80963
80063
80063

FIG.
NO.

11
13

15
10

10
94

1
8
111

ITEM
NO.

ueol
%901

m
1712

Y601
L601
L602
L605
L603
7601
7603
L6046
R557
L551
$801
S$703
§702
$701
ST71

$51
5708

ET10
€60

Tl
73

ET01
E735
ET36
E8O1
E802
E803
E804

T608
7609
T610
To1l

153
T722
1723
1725

T80L
7802
1721

T602
1607
1604
1605
T606
T761
1821

152

751
R§23
RB822
R705
R821
H771
¥551
T701



SECTION IV

REFERENCE
NO.

SCIOTLTS
56862664-1
§$4B28%93)-3
$18209931-3
$HB209931-3
$H0209931-3
T5102P01
15402r0L
75102P01
15102P31
TS1Q2u0l
Tsio2uol
T5192ud3
15102uG2
TS1g3P01L
T5103P)1
15103P01
15103P01
T5103uul
Ts1o3uol

ui226
QarazzzLLLzzz
ING94

1040356

124
16633597P 24
167C
18101040375
181P 1240375
191P1049385
18102230175
18iP&7621LTS
181P6840375
18)1P6a403T5
L9PL030154
191P JuS92Te
191P2230152
191P4 749270
191P 824915516
191P824915514
2L35A%

2L 3544

2L 2544
203584

2L 3544
2L35A%
2L3544

2L 3544
2L3%A%
2L3544
2L3544
213544
2L3544
2L3584%
2L354%

2L 3544
225-4

248C

25M3 154444
25M2684A44
25144 TAAL
25H44 7444
25M447A04
26K118406
26K1274R0A6
26M34T73E
27425740
331M1106AA4
4393
470818599
©70918599

MFR
CODE

80063
80063
80063
80063
80063
80063
81349
81349
81349
81359
81349
81349
81349
81149
81349
81349
81349
81349
81349
81349
81349
122244
81349
56289
76545
71785
13664
56289
56289
56289
56289
56289
56289
56289
56289
56269
56289
56289
56289
56289
92825
92825
92825
92825
92825
92825
92825
92825
92825
92825
92825
92825
92925
92825
92825
92825
30684
90348
32159
26733
32199
32199
32159
32159
32159
32159
32159
32159
71420
711785
71785

FIG.
NO.

111

97
96

ITEM
NO.

J60L
4551
J552
4553

XvV2
XvVi
601

J701

C741

C742
C743
Ca03
Cl44
CT45
C705
C706
C746
C7125
cr01
Cr26
crai
C124

EB
€9
ELD
Ell
El2
EL3
Elée
ES57
E623
E761
ET62
822A
8228
8234
8218
J603
c123
€54
c2
ceo
Cc56
(3.7
c622
Cc51
€57
Ce5
(.11}

Pl
P6OL

85

47818599
56A16987
54416987
54416967
54AL6967
5654~6 AK5Y
5654-6AKSW
5654~6AKSH
6XoH

bXeH

bXeY
6005-6AQ5¢
64959
6554-6AKSH
6554~6AKSH
6554~6 AK5q
6670

6670

6670

7057

7187

7238

753

753

753

753

753
81P10591T5
81P 1059175
81P1059175
81P22492512
81P27491T75
91P10491713
91P10491T13
91P15493513
91P4740356
9101458
9101458
9101458
9101458
9101458
91014538
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
9101458
92-111
92-112
92-117
9¢2210~1
922210~-1
923-113

TM11-5805-223-34P

REFERENCE MFR Fl1G ITEM
NO. CODE NO. NO.
nres 103  psy

71785 Jsol

71785 J802

71785 J901

71785 J902

51349 96 wvrol
81349 9% w741
81349 102 wvs1
81349 110 wvssy
81349 110 wss2
64349 110 wvss3
81349 V52
01401

81349 100 ve02
81249 100 wve03
81349 100 vsos
81349 v2
81349 94 v
81349 100 veo1l

83315
83315

83315 8

81312 €703
81312 €704
81312 ET05
81312 E706
81312 1 Ezog
56289 6
56289 18% ce63

56289 102  ce4s
56289 101 ce09
56289 % a
56289 ce621
ss2e9 101 ce20
56289 101 ce17
s6269 100 ce11

21450 ET10
21450 E711
21450 ET12
21450 €733
21450 ET734
90348 E60L
90348 €602
90348 E603
90348 E604
90348 E605
90348 E606
90348 E607
90368 E609
90348 E6190
90348 E6LL
90348 E612
90348 €613
90348 E6l4
90343 €615
90348 E616
90348 ESL7
90348 €618
90348 €619
90348 E620
90348 €621
90348 E622
90348 E624
90348 es25
720619

72619 111

72619

72619

12009 111

12619



ﬁy Order of the Secretaty of the Army:

Officil:
VERNE L. BOWERS

Major Giéneral, United Stdates Army,

Thé Adjutant General.

Disttibution:
Active Army:

USASA (2)

Dir of Trans (1)
COE (1)

TSG (1)
USAARENBD (1)
AMC (1)
TRADOC (2)
ARADCOM (2
ARADCOM Rgn (2)
08 Maj Comd (4)
LOGCOMDS (3)
MICOM (2
TECOM (2}
USARCC 4)

MDW (1)

Aritifes (2)

Cdjis (2)

HiSA (Ft Monmouth) (43)
Sve Colleges (1)
USASESS (5)
USAASS (2)
USAFAS (2)
USAARMS @
USAIS (2)
USAES (2}
USAINTCS (3)
WRAMC (1)

ATS (1)

Fott Qordoh (10)
Fott, Hiléchuca (10)
wWEMR (1)

Fort Carson (6)

Ft Richardson (ECOM Ofe) (2)

Army Dep (1) except
LBAD (14)

SAAD (30)
TOAD (14)
ATAD (10)

USA Dep (2)

Sig Sec USA Dep (2)

Sig Dep (2)

Sig FLDMS (1)

USAERDAA (1)

USAERDAW (1)

MAAG (1)

USARMIS (1)

Units org under fol TOE:
(1 copy each umt}
11-16
11-38
11-39
11-75
11-85
11-98
11-97
11-98
11117
11-137
11-500 (AA-AC)
29-56
25-134
29-136

NG: State AG (3); Units- Same as Active Army

UBAR: None

For efijiitlation of abbreviations used, see AR 310-50.

fr u. S. COVERNMENT PRINTING OFFICE: 1979 — 297-131/346

TM11-5805-223-34P

FRED C. WEYAND
General, United States Army,
Chief of Staff.










DEPARTMENT OF THE ARMY

MICROFORM
TEST TARGET

1.0 mem (o= .8} mm)

w—ce 20"
.5 mm (0= 1.0% m ) 4. 28 25
1.5 (e= 1 m) l.o g b I
bcdeionmecpantoremy e KA o = u II;; 22
I&
2.0 mm (e= 1.37 mm) ) LZO

| eo——
 ——
 e———
 So———

ABCDEFGHUKLMNOPQRSTUVWXYZ 18
abcdefghijkimnopqrstuvwxyz m-
12345678908¢£/%# V2 U Yo —=+ %8 @*

2 s pis

2.5 mm (e= 1.77 mm)

ABCDEFGHIJKLMNOPQRSTUVWXYZ
abcdefghijklmnopqrstuvwxyz
12345678908¢ £/ %# 2 a3 —=+x8@*

e

1.0 mm (e 8} mm)

—ne 8@
1.5 mm (o= 1.09 mm)

TUVWXYZ1234567890
Y2SeE/ AWK —=+x8@*

LLLLLLL

2.0 mm (e= 1.37 mm)

#8CDEFGHUKLMNOPQRSTUVWXYZ
abcedefghijkimnopqrstuvwxyz
12345678908¢£/%# V2 %Yo —=+ X8 @*

2.5 mm (e= 1.77 mm)

ABCDEFGHIJKLMNOPQRSTUVWXYZ
abcdefghijkinnopgrstuvwxyz
12345678908¢£/ %#t V2 Y3 —=+x8@*

SN

2>
Y

@A
o» »

Y%

250\ MM




	TABLE OF CONTENTS
	SECTIONS
	SECTION I
	SECTION II
	SECTION IV

	PARAGRAPHS
	PARAG 1-1
	PARAG 1-2
	PARAG 1-3
	PARAG 1-4
	PARAG 1-6
	PARAG 1-7

	PAGES
	PAGE 1
	PAGE 3
	PAGE 4
	PAGE 6
	PAGE 79


	1: 5905-279-3496
	2: 5905-195-6761
	3: 5905-195-6761
	4: 5905-195-6761
	5: 5905-195-6761
	6: 5905-192-0667
	7: 5905-192-0667
	8: 5905-192-0667
	15: 5905-279-2517
	16: 5955-355-9536
	17: 5305-356-4309
	18: 5305-297-9102
	19: 5960-676-8119


